Milling rBor nd a€e iMing uGtre

Roughing Focketmiling Siootplunge miling  Shoulder milling Copy miling

| AHU HITACHI

R17- R18
PO1

L2
©
\ | id

N . 1

»D

L1

Suitable orf edwy utting, otary nd edd olume si Bneg he¢ ommal utter.
Blade harp, treng.

Size Insert Screw Wrench
No.of a Stock
Cat. No D d L L1 | Flutes @ @ & /A
AHU10R10- 10- 100- 1T 10 10 100 30 1 L4 322900 100
AHU10R12- 12- 120- 1T 12 12 120 30 1 L4 322902 100
AHU10R12- 13- 130- 1T 13 12 130 30 1 L4 322904| 100
AHU10R16- 16- 120- 2T 16 16 120 30 2 o 322906 100
AHU10R16- 16- 160- 2T 16 16 160 40 2 o 322908 100
AHU10R16- 16- 200- 2T 16 16 200 50 2 o 322910 130
AHU10R16- 16- 250- 2T 16 16 250 60 2 o 322912 160
AHU10R16- 17- 120- 2T 17 16 120 30 2 L4 322914| 100
AHU10R16- 17- 160- 2T 17 16 160 40 2 L4 322916 130
AHU10R16- 17- 200- 2T 17 16 200 50 2 o 322918 160
AHU10R16- 17- 250- 2T 17 16 250 60 2 o 322920 200
AHU10R20- 20- 120- 2T 20 20 120 30 2 o 322922 120
AHU10R20- 20- 160- 2T 20 20 160 40 2 o 322924| 120
AHU10R20- 20- 200- 2T 20 20 200 50 2 o 322926 135
AHU10R20- 20- 250- 2T 20 20 250 60 2 o 322928| 220
AHU10R20- 21- 120- 2T 21 20 120 30 2 ° 322930 120
AHU10R20- 21- 160- 2T 21 20 160 40 2 9 JDMT 10030 O R M2.5x 6 T8 o 322932 120
AHU10R20- 21- 200- 2T 21 20 200 50 2 o 322934| 135
AHU10R20- 21- 250- 2T 21 20 250 60 2 o 322936| 220
AHU10R25- 25- 120- 4T 25 25 120 35 4 o 322938 160
AHU10R25- 25- 160- 4T 25 25 160 50 4 o 322940 160
AHU10R25- 25- 200- 4T 25 25 200 75 4 o 322942 180
AHU10R25- 25- 250- 4T 25 25 250 90 4 o 322944 240
AHU10R25- 26- 120- 4T 26 25 120 35 4 o 322946 160
AHU10R25- 26- 160- 4T 26 25 160 50 4 o 322948 160
AHU10R25- 26- 200- 4T 26 25 200 75 4 ° 322950 180
AHU10R25- 26- 250- 4T 26 25 250 90 4 o 322952 240
AHU10R25- 30- 160- 4T 30 25 160 45 4 o 322954| 180
AHU10R25- 30- 200- 4T 30 25 200 50 4 ° 322956 200
AHU10R25- 30- 250- 4T 30 25 250 75 4 ° 322958| 260
AHU10R32- 30- 180- 4T 30 32 180 75 4 ° 322960, 220
AHU10R32- 32- 130- 5T 32 32 130 45 5) ° 322962| 260
AHU10R32- 32- 200- 4T 32 32 200 90 4 o 322964| 350
AHU10R32- 35- 200- 4T 35 32 200 45 4 ] 322966/ 400
AHU15R25- 25- 130- 2T 25 25 130 40 2 ° 322968 150
AHU15R25- 25- 150- 2T 25 25 150 40 2 o 322970 150
AHU15R25- 25- 170- 2T 25 25 170 75 2 ° 322972 160
AHU15R25- 25- 180- 2T 25 25 180 75 2 ° 322974 160
AHU15R25- 25- 200- 2T 25 25 200 75 2 ° 322976 160
AHU15R25- 25- 250- 2T 25 25 250 90 2 ° 322978| 220
AHU15R25- 26- 150- 2T 26 25 150 40 2 ° 322980 150
AHU15R25- 26- 180- 2T 26 25 180 75 2 ° 322982 160
AHU15R25- 26- 200- 2T 26 25 200 75 2 14 JDM T 150500 0 R M4x 9 T15 ° 322984 160
AHU15R25- 26- 250- 2T 26 25 250 90 2 ° 322986| 220
AHU15R25- 26- 300- 2T 26 25 300 90 2 ° 322988 280
AHU15R25- 30- 130- 2T 30 25 130 45 2 ° 322990 180
AHU15R32- 32- 140- 3T 32 32 140 45 3 ° 322992| 220
AHU15R32- 32- 200- 3T 32 32 200 90 8 ° 322994| 220
AHU15R32- 32- 250- 3T 32 32 250 90 3 ° 322996| 260
AHU15R32- 32- 300- 3T 32 32 300 90 3 ° 322998| 320
AHU15R32- 35- 200- 3T 35 32 200 90 3 ° 323000, 220
AHU15R32- 35- 250- 3T 35 32 250 90 3 ° 323002| 260
AHU15R32- 35- 300- 3T 35 32 300 90 3 ° 323004| 320
AHU15R32- 35- 350- 3T 35 32 350 90 8 ° 323006 380
AHU15R32- 35- 400- 3T 35 32 400 90 3 ° 323008 450
AHU15R32- 40- 140- 4T 40 32 140 45 4 ° 323010, 260
AHU15R32- 40- 220- 4T 40 32 220 45 4 0] 323012 350
AHU15R32- 50- 140- 5T 50 32 140 45 5) (o) 323014| 380
AHU15R42- 50- 220- 4T 50 42 220 45 4 ] 323016 450

I Do1



AHU

" ARUE HITACHI

a1 ] 6

Roughing Plane finishing  Pocketmilling  Sloot,plungemiling  Shoulder milling ‘Copy milling

Blade cenomy, het palicability foigh
Capacity hip argel pace, ogd hip igposal
Cone edign, tesl igh

Size Insert Screw h Stock Order | Price
Cat. No D d H W T a @ @ @ Number| (RMB)

R17- R18
PO1

AHUB- 50- 22- 4T 50 22 50 10.4 6.3 16 [ 200 200
AHUB- 63- 22- 4T 63 22 50 10.4 6.3 16 [ 225 225
X
AHUB- 80- 27- 6T 80 | 27 | 50 |12.4| 7 | 16 | JDMTIS0S0D RI - Max 10 T15 e | 350 | 350
AHUB- 100- 32- 6T 100 32 50 14.4 8 16 [ 540 540
>>AHU10 JDMT1003..
H AHUM
Shoulder/Cutting nd iMs(AHUM)
© J—
- ©
== Y aeth
R17- R18
- @
PO1
| C |
g Insert Screw Wrench
Size
e @ 5| &
Cat. No D L d M
AHUM1016R- 2 16 25 8.5 M8 2 ° 323100 | 150
AHUM1017R- 2 17 25 8.5 M8 2 ° 323102 | 200
AHUM1018R- 2 18 25 8.5 M8 2 o 323104 | 200
AHUM1020R- 3 20 30 10.5 | M10 3 ) 323106 | 150
AHUM1021R- 3 21 30 10.5 | M10 3 ) 323108 | 200
AHUM1022R- 3 22 30 10.5 | M10 3 e 323110 | 200
AHUM1025R- 4 25 35 125 | M12 4 |JDMT100308 M2.5X6 T8 ° 323112 | 160
AHUM1026R- 4 26 35 125 | M12 4 ° 323114 | 200
AHUM1028R- 4 28 35 125 | M12 4 0 323116 | 300
AHUM1030R- 5 30 40 17 M16 5 o 323118 | 300
AHUM1032R- 5 32 40 17 M16 5 o 323120 | 400
AHUM1035R- 5 35 40 17 M16 5 o 323122 | 400
AHUM1040R- 6 40 40 17 M16 6 o 323124 | 500
AHUM1525R- 2 25 35 125 | M12 2 ° 323126 | 160
AHUM1526R- 2 26 35 125 | M12 2 o 323128 | 200
AHUM1528R- 3 28 35 125 | M12 3 |JDMT150508 M4X9 T15 o 323130 | 300
AHUM1530R- 3 30 40 17 M16 3 ° 323132 | 160
AHUM1532R- 3 32 40 17 M16 3 ° 323134 | 200
AHUM1535R- 3 35 40 17 M16 3 o 323136 | 400
HITACHI
Insert
g 9% o
H g H | H E E S - -
cat. oN L8 FE AR S Insert hape Al BT R rder uhber
JDMT100302R F ) ° 11 | 6.1 | 35 | 0.8 323200
JDMT100304R oo | o ° ° 11 | 6.1 | 35 | 04 323202
JDMT100308R Y Y ) Y ) Y 11 6.1 3.5 0.8 323204
JDMT100320R o | o ° 11 | 6.1 | 35 | 2.0 323206
JDMT150504R ° oo | @ 15 16 | 9.12| 5 0.4 323208
JDMT150508R °| o o o | @ 16 | 9.12 | 5 0.8 323210
JDMT150520R PRI 16 | 9.12| 5 2.0 323212
JDMT150530R ° ° PSS 16 | 9.12 | 5 3.0 323214
| H Tilt arc eb recessed.

Machinable egerally ifficult o tut teel ndx teel ropucts,
most uitable orf achining urbine lddes.




rAor

Milling

nA

ake

iMing

uctre

~ DO3

B ASM —
HITACHI - ! <
M ‘M W AN BT
QL °]
R17- R18 p , °
PO1 &> G2 e L od
3 Suitable orff edwy utting, otary nd edd olume si Bned he ommal utter.
Blade harp, treng.
Size Insert Screw Wirench
Stock
Cat. No s Tal L ul EFB A
ASMO7R10- 08- 75- 1T 8 10 75 16 . 323300 220
ASMO07R10- 10- 100- 2T 10 10 100 20 o 323302 215
ASMO7R10- 11- 100- 2T 11 10 100 20 [} 323304| 215
ASMO7R12- 12-120- 2T 12 12 120 25 o 323306| 215
ASMO7R12- 13- 120- 2T 13 12 120 25 e 323308 215
ASMO7R12- 14- 120- 3T 14 12 120 25 e 323310/ 230
ASMO7R16- 16- 120- 3T 16 16 120 50 e 1323312 230
ASMO7R16- 16- 160- 3T 16 16 160 50 o 323314| 240
ASMO7R16- 16- 160- 4T 16 | 16 | 160 | 50 JDMT070208 M1.8X4 T6 e [323316 280
ASMO7R16- 17- 160- 3T 17 16 160 50 e 323318 240
ASMO7R16- 17- 160- 4T 17 16 160 50 e 1323320/ 280
ASMO7R16- 17- 200- 3T 17 16 200 50 ® 323322 250
ASMO07R20- 20- 160- 4T 20 20 160 60 ® 1323324 260
ASMO07R20- 20- 200- 4T 20 20 200 60 ° 323326/ 280
ASMO07R20- 21- 160- 4T 21 20 160 60 ° 323328| 260
ASMO07R20- 21- 200- 4T 21 20 200 60 ° 323330 280
BEASMM
ASMMO7 Bper xé&ellent iM SAM-Modular ypge _
§| [
R17- R18 -
P01
. Insert Screw Wrench
Size
Stock
Cat. No D L d | m |reeth @ ]
ASMMO708R- 1 8 20 6.5 M6 1 o 323400 | 400
ASMMO710R- 2 10 20 6.5 M6 2 . 323402 | 400
ASMMO711R- 2 11 20 6.5 M6 2 ° 323404 | 400
ASMMO0712R- 2 12 20 6.5 M6 2 . 323406 | 400
ASMMO712R- 3 12 20 6.5 M6 3 . 323408 | 400
ASMMO0713R- 3 13 20 6.5 M6 3 o 323410 | 400
ASMMO716R- 3 16 25 8.5 M8 3 o 323412 | 400
ASMMO716R- 4 16 25 8.5 M8 4 ° 323414 | 400
ASMMO717R- 3 17 25 8.5 M8 3 o 323416 | 400
ASMMO717R- 4 17 25 8.5 M8 4 JDMT0702..R M2.5X6 T8 (] 323418 400
ASMMO720R- 4 20 30 | 105 | M10 4 |EDMTO702.R . 323420 | 400
ASMMO720R- 5 20 30 10.5 | M10 5 o 323422 | 500
ASMMO721R- 4 21 30 10.5 | M10 4 ° 323424 | 400
ASMMO725R- 5 25 30 125 | M12 5 o 323426 | 500
ASMMO725R- 6 25 30 125 | M12 6 o 323428 | 600
ASMMO726R- 5 26 30 17 M12 5 o 323430 | 500
ASMMO726R- 6 26 30 17 M12 6 o 323432 | 600
ASMMO0732R- 5 32 30 17 M16 5 o 323434 | 600
ASMMO732R- 8 32 30 17 M16 8 o 323436 | 800
HITACHI
Insert
Size mm
JX1020 PTH20E
Cat. oN Insert hape A B T R Order uhiber
JDMT070202 ° ° a 6.4 | 43 |245| 02 323500
JDMTO070204 ° ° EANHA 6.4 | 43 |245| 0.4 323502
JDMT070208 ° ° I{,’_;_.é‘// ’ & 6.4 | 43 |245| 0.8 323504
EDMT070220 ° 6.4 | 43 | 25 2 323506
EDMT070220- T ° 6.4 | 43 | 25 2 323508

M Tilt arc eb rpcessed.

Machinable egerally ifficult o tut tesl nda teel ropucts,

ost uigable orf achining urbine lddes.



ASM

" APLOO3 HITACHI

R17- R18

PO1

»D

M WA EBi T

F T
SToot plungs miling 7 Copy miling

1

L1 ‘
|

Focket miling

Hn L

Roughing

©
| o

e 3 Suitable orf edwy utting, otary nd edd olume si Bneg he¢ ommal utter.
L J Blade harp, treng.
Size Insert Screw Wrench
No.of a Stock
Cat. No D d L L1 | Flutes
AP1003R16- 16- 100- 2T 16 16 100 30 2 o
AP1003R16- 16- 150- 2T 16 16 150 30 2 o
AP1003R20- 18- 150- 2T 18 20 150 30 2 o
AP1003R20-18-200-2T | 18 | 20 | 200 | 30 2 9 | APKTI003. M2.5% 6 T8 o
AP1003R20- 20- 100- 2T 20 20 100 30 2 o
AP1003R20- 20- 150- 2T 20 20 150 30 2 o
|
AP10 o -
AP10 ritegrated igh tsength gsiare hsulder ifting utter i L) L) )
R17- R18
P01
BT Price
Order
Blade Tip of the BT taper ) Stock | \umber (RMB)
Cat. No number Long shank length Diameter Insert
BT30- AP10- 16- 2T 2 155 90 16 ° 323700 950
BT30- AP10- 20- 2T 2 155 90 20 o 323702 950
BT30- AP10- 25- 3T 3 155 90 25 ° 323704 1000
BT30- AP10- 32- 4T 4 155 90 32 o 323706 1150
APKT1003 323708
BT40- AP10- 16- 2T 2 155 90 16 L] 323710 1000
BT40- AP10- 20- 2T 2 155 90 20 ° 323712 1000
BT40- AP10- 25- 3T 3 155 90 25 L] 323714 1150
BT40- AP10- 32- 4T 4 155 90 32 ° 323716 1250
H AP m Z
. pANANN
A P @ ht n gl e h 9 u | d er ade "Ml HUNT 12 WL WAL £ I ERgUEA)
od
W, 11 °
)+ ,
T s
e % 11 °osipive ngle ldde
R17- R18 “ * Adaptive uiti- material latle, pmicable otlwaminum teel illimg
PO1 * Screw otking, llav argd pace ebris, aodghip igposal
oD * Cutting ight, het esistance fomall
Size Insert Screw Wrench Stock —— Price
No.of /% 0% Number | (RMB)
Cat. No flutes| D | d | H | W
AP1003R40- 16- 5T 5 40 16 | 40 10.4 o 323800(420
AP1003R50- 22- 6T 6 | 50 | 22 | 45 | 104 :g:g&ggg M2.5x 6 T8 e [323802/380
AP1003R63-22- 7T 7 63 22 | 45 10.4 ® (323804/420

D04



Milling rBor nd a€e iMing uGtre

B BAP MITSUBISH]

AMITSUBISHI  AWERIALS

iaand [/
AU L H. AT GBI &P

Roughing Focketmiling Slootplunge miling  Shoulder miling Copy milling

| L2 |

[ | ®d
R17- R18 T "\
P01 g —_— 1
aj L1
L
|
3 3
-
Suitable orf edwy utting, otary nd edd olume si Bnes¢ heé ommal utter.
Adapter lade cenomy, odg- effective.
Size Insert Screw Wrench
Cat. No D|ld|L|L1|L2] a s @ @ ﬁ A Simelt
BAP300R10- 10- 100- 1T 10| 10{100{30| - | 9 | 1 e [323900| 67 -
BAP300R10- 10- 120- 1T 10| 10|120(30| - | 9 | 1 e 323902 67 90
BAP300R10- 11- 120- 1T 11|10{120{30| - | 9 | 1 e 323904 67 90
BAP300R12- 12- 130- 1T 12| 1212030 - | 9 | 1 e 323906 67 95
BAP300R12- 13- 130- 1T 13| 1213030 - | 9 | 1 e 323908 67 95
BAP300R14- 14- 130- 2T 14| 14130 30 | - 9| 2 e 323910, 77 =
BAP300R14- 14- 150- 2T 14| 14(150{30| - | 9 | 2 e 323912 77 -
BAP300R15- 16- 150- 2T 16| 15|150(40| - | 9 | 2 e 323914 77 100
BAP300R15- 16- 200- 2T 16| 15(200(40| - | 9 | 2 e 323916 100 -
BAP300R15.6- 16- 150- 2T 16 [15.6150(40 | - | 9 | 2 e 323918 77 -
BAP300R15.6- 16- 200- 2T 16 (15.6200(40 | - | 9 | 2 e 323920, 100 -
BAP300R16- 16- 120- 2T 16| 16(120(40| - | 9 | 2 e 323922 77 100
BAP300R16- 16- 150- 2T 16| 16(150(50| - | 9 | 2 e 323924 77 100
BAP300R16- 16- 200- 2T 16 | 16 |200| 60 (100 9 | 2 e 323926/ 100 130
BAP300R25- 16- 250- 2T 16| 25(250(60| - | 9 | 2 e 323928 133 -
BAP300R16- 17- 120- 2T 17| 16|120(40| - | 9 | 2 e 323930 77 100
BAP300R16- 17- 150- 2T 17|16(150(40| - | 9 | 2 ® 323932 77 130
BAP300R16- 17- 200- 2T 17|16|200(40| - | 9 | 2 ® 323934 100 -
BAP300R16- 18- 150- 2T 18| 16(150(40| - | 9 | 2 ® 323936 93 -
BAP300R16- 18- 200- 2T 18| 16 |200| 40 | - 9| 2 ® 323938 107 -
BAP300R19- 20- 150- 2T 20| 19(150(40| - | 9 | 2 ® 323940, 93 120
BAP300R19- 20- 200- 2T 20| 19|200(40| - | 9 | 2 ® |323942 107 135
BAP300R20- 20- 120- 2T 20| 20(120{35| - | 9 | 2 APMT 1135 PDER M2.5% 6 T8 e (323944 93 | 115
BAP300R20- 20- 150- 2T 20| 20|150(50| - | 9 | 2 e 323946 93 120
BAP300R20- 20- 200- 2T 20| 20|200| 60 (100 9 | 2 ® 1323948 107 135
BAP300R20- 20- 250- 2T 20|20|250(60| - | 9 | 2 e 323950, 133 -
BAP300R25- 20- 250- 2T 20| 25(250(60| - | 9 | 2 e 323952 167 -
BAP300R20- 21- 120- 2T 21| 20|120| 50| - 9| 2 ® 323954 93 -
BAP300R20- 21- 150- 2T 21|20(150(50| - | 9 | 2 e 323956 93 120
BAP300R20- 21- 200- 2T 21|20|200(50| - | 9 | 2 e 323958 107 135
BAP300R24- 25- 150- 3T 25| 24|150| 50 | - 9|3 ® 1323960 140 -
BAP300R24- 25- 200- 3T 25|24|200(50 | - | 9 | 3 e 323962 167 -
BAP300R24- 25- 250- 3T 25|24(250(60| - | 9 | 3 e 323964 200 -
BAP300R25- 25- 120- 3T 25|25(120(50| - | 9 | 3 e 323966 - 140
BAP300R25- 25- 150- 3T 25|25(150/50 | - | 9 | 3 e 323968 140 150
BAP300R25- 25- 200- 3T 25| 25|200| 60 | - 9|8 e 323970| 167 160
BAP300R25- 25- 250- 3T 25| 25(250| 60 [115| 9 | 3 e 323972 200 -
BAP300R25- 30- 150- 4T 30| 25150/ 50| - | 9 | 4 e 323974 - 150
BAP300R25- 30- 200- 4T 30| 25|200| 60 | - 9| 4 e 1323976 - 180
BAP300R25- 30- 250- 4T 30| 25250/ 60| - | 9 | 4 e 323978 - 250
BAP300R32- 28.5- 190- 3T 28.5 32190/ 50 65| 9 | 3 e 323980 - 260
BAP400R24- 25- 150- 2T 25| 24|150/ 50| - (14| 2 e 323982 107 140
BAP400R24- 25- 200- 2T 25|24(200(60| - |14 2 e 323984 133 150
BAP400R24- 25- 250- 2T 25|24|250(50 | - | 14| 2 e 323986 167 -
BAP400R25- 25- 150- 2T 25|25(150(60 | - | 14| 2 e 323988 107 140
BAP400R25- 25- 200- 2T 25|25(200(70 | - | 14| 2 e 323990, 133 150
BAP400R25- 25- 250- 2T 25|25(250( 70| - | 14| 2 e 323992 167 165
BAP400R32- 25- 300- 2T 25|32(300[40| - |14 2 e 323994 267 -
BAP400R25- 26- 150- 2T 26| 25(150(50 | - | 14| 2 e 323996 107 140
BAP400R25- 26- 200- 2T 26| 25|200| 60| - (14| 2 e 323998 133 150
BAPA400R25- 26- 250- 2T 26| 25(250(60| - | 14| 2 e 324000, 167 165
BAP400R25- 26- 300- 2T 26|25(300[45| - | 14| 2 e 324002 - 185
BAP400R25- 30- 150- 2T 30| 25(150(45| - | 14| 2 e 324004 120 -
BAP400R25- 30- 200- 2T 30| 25(200(45| - | 14| 2 e 324006 140 -
BAP400R25- 30- 250- 2T 30| 25(250(50 | - |14 2 e 324008 183 -
BAPA400R32- 32- 150- 3T 32|32|150/50 | - | 14| 3 e 324010, 167 160
BAP400R32- 32- 200- 3T 32| 32|200/60| - (14| 3 e 324012 200 170
BAP400R32- 32- 250- 3T 32| 32(250| 60 |115| 14 | 3 APMT 1604 PDER M4x 9 T15 e 324014 233 190
BAP400R32- 32- 300- 3T 32| 32|300| 60 (11514 | 3 e 324016/ 300 220
BAP400R32- 32- 350- 3T 32|32|350/60| - | 14| 3 e 324018 333 -
BAPA400R32- 32- 400- 3T 32|32(400(50| - | 14| 3 e 324020 550 -
BAP400R32- 35- 150- 3T 35| 32150/ 50| - 14| 3 e 324022 167 185
BAPA400R32- 35- 200- 3T 35| 32(200/50| - |14 3 e 324024 200 | 200
BAP400R32- 35- 250- 3T 35| 32|250|{ 50| - 14| 3 e [324026| 250 240
BAP400R32- 35- 300- 3T 35(32(300(50| - |14 3 e 324028/ 300 | 280
BAP400R32- 35- 350- 3T 35|32|350/50( - | 14| 3 e [324030| 367 320
BAP400R32- 35- 400- 3T 35|32(400(50 | - | 14| 3 e 324032 550 | 360
BAPA400R32- 40- 150- 3T 40| 32150/ 50| - | 14| 3 e 324034 183 -
BAP400R32- 40- 200- 3T 40| 32200/ 60| - (14| 3 e 324036 217 220
BAPA400R32- 40- 250- 3T 40| 32250/ 60| - 14| 3 e 324038 267 | 260
BAPA400R32- 40- 300- 3T 40| 32300/ 60| - (14| 3 e 324040 317 300
BAPA400R32- 40- 350- 3T 40| 32350/ 60| - [14| 3 e 324042 400 | 340
BAPA400R32- 40- 400- 3T 40| 32400/ 60| - (14| 3 e 324044 500 | 400
BAPA400R32- 50- 150- 4T 50| 32|150/50 | - |14 | 4 e 324046 267 -
BAP400R32- 50- 200- 4T 50| 32[200/50| - | 14| 4 e 324048 333 -

~ DO5



BAP

B BAPM
BAPM Boulder/Cutting nE WMs(BAPM)
R17- R18
PO1
Size Screw Wrench
Teeth & Stock
Cat. No Dl L|d]|m]| e Insert Clamp
BAP3R162M08 16 25| 8.5 M8 2 ° 324100 150
BAP3R172M08 17 25| 8.5 M8 2 L4 324102 180
BAP3R202M10 20 30 | 10.5 | M10 2 ° 324104 150
APMT1135PDER o M2.5X6.5 T8
BAP3R212M10 21 30 | 10.5 | M10 2 o 324106 180
BAP3R253M12 25 35| 12.5 | M12 3 ° 324108 150
BAP3R263M12 26 35| 12.5 | M12 8 o 324110 200
BAP4R252M12 25 35| 12.5 | M12 2 [ 324112 160
BAP4R262M12 26 35| 12.5 | M12 2 [ 324114 200
BAP4R302M16 30 40 17 M16 2 APMT1604PDER o M4X9 T15 o 324116 200
BAP4R323M16 32 40 17 M16 3 ° 324118 260
BAP4R353M16 35 40 17 M16 3 ° 324120 280
MITSUBISHI
v ' v ®d o
W BAP MITSUBISH] u s
AMITSUBISHI AWERIALS \ Zs
= -
! -
] z
1 o % 11 °ositive ngle ldde
| * Adaptive uiti- material lade, pmicable otluminum teel ilting
R17- R18 mI * Screw otking, llaw argd pace ebris, aodghip igposal
* Cutting ight, het esistance fomall
P01 ‘
»D
Size Insert Screw Wrench Stock Order Price Price
Cat. No D d H W T a E Number| (RMB) [ (RMB)
BAP300R40- 16- 5T 40 16 40 8.4 5.6 9 e |324200( 167 250
BAP300R50- 22- 6T 50 22 50 10.4 6.3 9 APMT1135 PDER M2.5x 6 T8 e |324202( 217 225
BAP300R63- 22- 7T 63 22 50 10.4 6.3 9 e (324204 283 312
BAP400R50- 22- 4T 50 22 50 10.4 6.3 14 e (324206| 167 200
BAP400R63- 22- 4T 63 22 50 10.4 6.3 14 e (324208| 200 225
BAP400R80- 27- 6T 80 27 50 12.4 7 14 o 324210| 307 350
BAP400R100- 32- 6T 100 32 50 14.4 8 14 ® (324212| 483 540
BAP400R125- 40- 7T 125 40 63 16.4 9 14 ® (324214 767 665
BAP400R160- 40- 8T 160 40 63 16.4 9 14 o 324216| 867 1100
BAP400R200- 60- 9T 200 60 63 25.7 14 14 APMT1604 PDER Max 10 T15 ® 324218 1833 | 1600
BAP400R250- 60- 10T 250 60 63 25.7 14 14 ® (324220| 2500 | 2100
BAP400R300- 60- 14T 300 60 65 25.7 14 14 ® |324222| 3000 -
BAP400R63- 25.4- 4T 63 25.4 50 10 6 14 ® (324224 167 225
BAP400R80- 25.4- 6T 80 25.4 50 10 6 14 ® (324226| 200 350
BAP400R100- 31.75- 6T 100 | 31.75| 50 13 8 14 ® (324228| 333 540
BAP400R125- 38.1- 8T 125 | 38.1 63 16.2 10 14 ® 1324230 500 665
BAP400R160- 50.8- 9T 160 | 50.8 63 19.3 11 14 ® (324232 - 1100
Insert
PEEEEEEEREEE
Cat. oN § dldIXIKIAl & ﬁ 3131313 g i Insert hape 1] L2 | s1|F1|Re| Order uhiber
APMT1135PDER-H1 |e|e|e |[e[e|e|e|e 11 [ 6.35] 3.5 [1.5[0.4 324300
1135PDER-H2 |@|e@|e (e |0 |0 |0 |0 11 | 6.35| 3.5 |1.2(0.8 324302
1135PDER-H3 |e@|e@| |e ° 11 | 6.35| 3.5 [0.8 (1.2 324304
1135PDER-H4 |e@|e®| |e ° 11 | 6.35| 3.5 |0.4|1.6 324306
T APMT1135DDR ° 11 | 6.35| 3.5 0.4 (0.8 324308
iy APMT1135PDER-MO | @ 11 [ 6.35] 3.5 [1.8]0.2 324310
1135PDER-M1  |@ 11 | 6.35| 3.5 |1.5|0.4 324312
1135PDER-M2 |@|@|e ° 11 [ 6.35| 3.5 [1.2]0.8 324314
APMT1604DDR ° 11 [ 6.35] 3.5 [1.2]0.8 324316
APMT1604PDER- H1 [ ] [ ) [} © 116.5]9.525| 4.76 (1.7 | 0.4 324318
1604PDER-H2 |®|e|e (o0 (e (0@ 16.5|9.525| 4.76 1.7 (0.8 324320
1604PDER-H4  |® ° 16.59.525| 4.76 1.7 [ 1.6 324322
1604PDER-H6 | ® ° 16.5|9.525| 4.76 1.7 [2.4 324324
1604PDER-H8 | ® ° 16.5|9.525| 4.76[1.7 [3.2 324326
0 - APMT1604PDER-M2 |®|®|® ° 16.59.525| 4.76[1.7 [0.8 324328
w APGT1604PFDR- G2 ° ° 16.59.525| 4.76|1.7 [0.8 324330
APKT160402PDSR oloje|ee| |o 16.4]9.525] 4.76|— |0.2 324332




Milling rBor nd a€e iMing uGtre

Ap ectangular luaninum ldoy usface imhing utter

R17- R18 LA~ ' m < i
PO1 T LU0 wowne ) (Camini | senen

Roughing Fiane fmishing Focket miling STootprunge miing Copy miling

PCD

High trength luminum llay nife ody, ore uitable orf mall
power achine,

Fine xia djastment unttion, anc bain &h hréace uality!
Have he reng odth iaheter utter older, hetough na infsh
machining f o amplete

The ptional CP irffishing odl raign reng odth ikling,
arface ffects o take oy are atisfied!

= d H Stock
Cat. No Diameter D | Inner hole d | Blade number | High H | Fit holder | Knife grain
MA- AP74- A22Z04 74 22 4 51 . 324400 1450
MA- AP91- A22705 91 22 5 51 . 324402 1900
MA- AP111- A27Z06 111 27 6 51 o 324404 2400
MA- AP111- B25.4Z06 111 25.4 6 51 AP16- G ° 324406 2400
MA- AP136- A27Z08 136 22 8 51 . 324408 3100
MA- AP171- A40Z08 171 27 8 55 . 324410 3400
MA- AP211- A40Z10 211 27 8 55 APKT1604 . 324412 4200
MAQ- AP311- A40Z12 311 27 8 55 . 324414 5000
MAQ- AP171- A22702 171 22 2 58 o 324416 1900
MAQ- AP221- A22Z02 221 22 2 58 AP16-F . 324418 2285
MAQ- AP261- A22Z02 261 22 2 58 . 324420 2370
MAQ- AP326- A27Z02 326 27 2 65 . 324422 3150
m R390 SANDVIK )
o
R17- R18 .
P01
Adapter rimding lade arfilvik
High rezison, uitsble orfinithing
Cone edign, ted igh
Size Insert Wrench
Cat. No D d H W T E @ /X Stock
R390- 11R50- 22- 4T 50 22 50 10.4 6.3 ° 324500 | 240/400
R390- 11R63- 22- 4T 63 22 50 10.4 6.3 R390- 117308 M2.5x 6 h [ 324502 | 280/500
R390- 17R63- 22- 4T 63 22 50 10.4 6.3 L] 324504 250
R390- 17R80- 27- 6T 80 27 50 12.4 7 L] 324506 400
R390- 17R100- 32- 6T 100 32 50 14.4 8 R390- 170408 M3.5x 10 T15 [ 324508 600
R390- 17R125- 40- 6T 125 40 63 16.4 9 L] 324510 750
R390- 17R160- 80- 6T 160 40 63 16.4 9 [ 324512 1150

I Do7



R390

Roughing Focket miling SToot plungs miling

| {
HUNT R i1 . WA B 1 SF BN T

Copy miling

R17- R18
PO1

°
e

Adapter rigding ldde afdvik
High recision, uitable orf inishing

Size Insert Screw
Cat. No D d L L1 a I & /VS‘ RIZES
R390- 11R15- 16- 150- 2T 16 15 150 40 11 ° 324600 133 350
R390- 11R15- 16- 200- 2T 16 15 200 40 11 . 324602 167 _
R390- 11R16- 16- 150- 2T 16 16 150 50 11 . 324604 133 150
R390- 11R16- 16- 200- 2T 16 16 200 60 11 . 324606 167 160
R390- 11R16- 17- 150- 2T 17 16 150 40 11 . 324608 133 170
R390- 11R16- 17- 200- 2T 17 16 200 40 11 . 324610 167 180
R390- 11R19- 20- 150- 2T 20 19 150 40 11 . 324612 150 _
R390- 11R19- 20- 200- 2T 20 19 200 40 11 . 324614 183  200/380
R390- 11R20- 20- 150- 2T 20 20 150 50 11 . 324616 150 180
R390- 11R20- 20- 200- 2T 20 20 200 60 11 . 324618 183 200
R390- 11R20- 21- 150- 2T 21 20 150 50 11 . 324620 150 180
R390- 11R20- 21- 200- 2T 21 20 200 50 11 ° 324622 183 200
R390- 11R20- 22- 200- 2T 22 20 200 50 11 R390-11T308 | M2.5x 6 T8 ° 324624 - 360
R390- 11R24- 25- 150- 2T 25 24 150 50 11 . 324626 167 _
R390- 11R24- 25- 200- 2T 25 24 200 50 11 . 324628 200 -
R390- 11R24- 25- 220- 2T 25 24 220 50 11 . 324630 - 450
R390- 11R25- 25- 150- 2T 25 25 150 50 11 ° 324632 167 225
R390- 11R25- 25- 200- 2T 25 25 200 60 11 ° 324634 200 250
R390- 11R25- 26- 150- 2T 26 25 150 50 11 . 324636 167 225
R390- 11R25- 26- 200- 2T 26 25 200 60 11 . 324638 200 250
R390- 11R25- 26- 250- 2T 26 25 250 60 11 . 324640 233 _
R390- 11R29- 30- 250- 2T 30 29 250 50 11 . 324642 - 640
R390- 11R32- 33- 150- 2T 33 32 150 50 11 ° 324644 200 -
R390- 11R32- 33- 200- 2T 33 32 200 50 11 ° 324646 233 -
R390- 11R32- 33- 250- 2T 33 32 250 50 11 ° 324648 267 -
R390- 11R32- 33- 300- 2T 33 32 300 50 11 . 324650 300 -
R390- 11R32- 33- 350- 2T 33 32 350 50 11 . 324652 333 -
R390- 11R32- 35- 330- 2T S5 32 330 55 11 ° 324654 _ 750
R390- 17R25- 25- 160- 2T 25 25 160 40 17 . 324656 - 225
R390- 17R25- 25- 200- 2T 25 25 200 50 17 R390-170408 | M3.5x 8| TI15 . 324658 - 250
R390- 17R25- 32- 200- 2T 32 25 200 50 17 e | 324660 - 300
B R390
R390 ntegrated igph teength qgsiare hsulder ihing utter
R17- R18
PO1

; ‘ . . ; e L1—=
Lightweight ne- piece igid trsicture, igh epformance, ore.
Through he ekection foifférent aterial nife rain, arc ebsed nihe teel L

and opper luaminum IbyThe oarse nd inE r@cessing, ide palication range, igh ffeciency, igh igidity!

L1 i
Blade Ll Effective v Stock Nou::l? ;r :r,\l/(l: g
Cat. No number |Long| length | Diameter Insert ( )
BT30- R390- 16- 2T 2 155 35 16 O 324700 1150
BT30- R390- 20- 2T 2 155 35 20 ° 324702 1150
BT30- R390- 25- 3T 3 155 35 25 . 324704 1100
BT30- R390- 32- 4T 4 155 35 32 R390- 117308 ° 324706 1200
BT40- R390- 16- 2T 2 155 45 16 ° 324708 1100
BT40- R390- 20- 2T 2 155 45 20 ° 324710 1100
BT40- R390- 25- 3T 3 155 45 25 . 324712 1250
Insert BT40- R390- 32- 4T 4 155 45 32 L 324714 1350

? 8 E Size mm
Cat. oN g Insert hape L1 L2 s1 Re Order uhiber

R390- 11T308M- PM [ ] [ ] [ ] [ ]

11 6.8 3.5 0.8 324800
R390- 11T308M- KM ([ ] [ ] [ ] ( ] 324802
R390- 170408M- PM [} [ J [ J [ J 17 9.6 4.76 0.8 324804
R390- 170408M- KM [ ] [ ] ([ ] ([ ] 324806




Milling rBor nd a€e iMing uGtre

m RT 2

Roughing Fiane fmishing Focket miling Toot m

R17- R18

€
PO1 s
[a] _
8l Jef
a t
SAFETY Adapter rigding ldde AFETY J L1
High recision, uitable off inishing L
Size Insert Screw Wirench
Cat. No D d L L1 | Teeth ﬁﬁ@ & /’% Stock
324900 | RTO7R10- 06- 100- 1T 6 10 100 30 1 ° 324900
324902 | RTO7R10- 08-100- 1T 8 10 100 30 1 ° 324902
324904 | RTO7R10-10- 150- 2T 10 10 150 25 2 ° 324904
324906 | RTO7R10- 11- 150- 2T 11 10 150 20 2 . 324906
324908 | RTO7R12- 12- 150- 2T 12 12 150 30 2 ° 324908
324910 | RTO7R12- 13- 150- 2T 13 12 150 20 2 ° 324910
324912 | RTO7R16- 16- 150- 3T 16 16 150 30 3 RT070204R81 | M2.0x 4) T6 o | 324912
324914 | RTO7R16- 16- 200- 3T 16 16 200 30 3 ° 324914
324916 | RTO7R16- 17- 150- 3T 17 16 150 25 3 . 324916
324918 | RTO7R16- 17- 200- 3T 17 16 200 25 3 ° 324918
324920 | RTO7R20- 20- 150- 4T 20 20 150 30 4 ° 324920
324922 | RT07R20- 20- 200- 4T 20 20 200 30 4 . 324922
324924 | RT10R16- 16- 150- 2T 16 16 150 30 2 ° 324924
324926 | RT10R16- 16- 200- 2T 16 16 200 30 2 . 324926
324928 | RT10R16- 17- 150- 2T 17 16 150 25 2 ° 324928
324930 | RT10R16- 17-200- 2T 17 16 200 25 2 ° 324930
324932 | RT10R20- 20- 150- 2T 20 20 150 30 2 . 324932
324934 | RT10R20- 20- 150- 3T 20 20 150 30 3 ° 324934
324936 | RT10R20- 20- 200- 2T 20 20 200 30 2 ° 324936
324938 | RT10R20- 20- 200- 3T 20 20 200 30 3 ° 324938
324940 | RT10R20- 21- 150- 2T 21 20 150 25 2 o 324940
324942 | RT10R20- 21- 150- 3T 21 20 150 25 3 ° 324942
324944 | RT10R20-21-200- 2T 21 20 200 25 2 L4 324944
324946 | RT10R20- 21-200- 3T 21 20 200 25 3 ° 324946
324948 | RT10R25- 25- 150- 2T 25 25 150 40 2 [ 324948
324950 | RT10R25- 25- 150- 3T 25 25 150 40 3 ] 324950
324952 | RT10R25- 25-200- 2T 25 25 200 40 2 RT1003 M25x 6| T8 ° 324952
324954 | RT10R25- 25- 200- 3T 25 25 200 40 3 ® 324954
324956 | RT10R25- 26- 150- 2T 26 25 150 25 2 ° 324956
324958 | RT10R25- 26- 150- 3T 26 25 150 25 3 J 324958
324960 | RT10R25- 26- 200- 2T 26 25 200 25 2 . 324960
324962 | RT10R25- 26- 200- 3T 26 25 200 25 3 [ 324962
324964 | RT10R32- 32- 150- 4T 32 32 150 40 4 . 324964
324966 | RT10R32- 32- 150- 5T 32 32 150 40 5 [ 324966
324968 | RT10R32- 32- 200- 4T 32 32 200 40 4 L 324968
324970 | RT10R32- 32- 200- 5T 32 32 200 40 5 ] 324970
324972 | RT10R32- 33- 150- 4T 33 32 150 35 4 o 324972
324974 | RT10R32- 33-150-5T 33 32 150 35 5 J 324974
324976 | RT10R32- 33- 200- 4T 33 32 200 35 4 o 324976
324978 | RT10R32- 33-200-5T 33 32 200 35 5 U 324978
324980 | RT10R32- 35- 150- 4T 35 32 150 35 4 o 324980
324982 | RT10R32- 35-150- 5T 35 32 150 35 5 ° 324982
324984 | RT10R32- 35- 200- 4T 35 32 200 35 4 o 324984
324986 | RT10R32- 35- 200-5T 35 32 200 35 5 ° 324986
Insert
% Size mm
Cat. oN g Insert hape TR | e [ W = et uhiber

RT070204R-81 [ ] [ ] Re 4.3 2.38 0.4 1.3 1.5 325100

RT100304R-81 [} [ ) s W\ F1 % 6.35 3.4 0.4 1.8 2.1 325102

RT100304R-31 A A 6.35 | 3.4 0.4 | 18 2.1 325104

RT100308R-81 [J 'l L 6.35 3.4 0.4 1.8 2.1 325106

JDoo



B RT
Shoulder/Cutting nE Ms(RT)

HNT B AT B I AP GTEL
a

Rougning Focketmiling SToot plungs miling

Copy milling

R17- R18
PO1
Size _ Insert Screw Wrench
Teeth E & Stock
Cat. No D L| d M Clamp
RTO7R102M05 10 | 18| 55 | M5 2 . 325200 | 150
RTO7R112M05 11 | 18| 55 | M5 2 .- . 325202 | 150
55 RT070204R81 M2.0x 4 Te
RTO7R122M06 12 | 20| 6.5 | M6 2 . 325204 | 160
RT07R132M06 13 | 20| 6.5 | M6 2 O 325206 160
RT10R162M08 16 | 30| 8.5 | M8 2 o b 325208 160
RT10R172M08 17 | 30| 85 | M8 2 ® 325210 | 200
RT10R203M10 20 | 30| 10.5 | M10 3 325212
RT10R212M10 21 | 30| 105 | M10 2 325214
RT10R213M10 21 | 30| 105 | M10 3 325216
RT10R253M12 25 | 35| 125 | M12 3 325218
RT1003 M2.5x 6 T8
RT10R263M12 26 | 35| 125 | M12 3 325220
RT10R324M16 32 | 43| 17 | M16 4 325222
RT10R325M16 32 | 43| 17 | M16 5 325224
RT10R334M16 33 | 43| 17 | M16 4 325226
RT10R354M16 35 | 43| 17 | M16 4 325228
RT10R355M16 35 | 43| 17 | Mm16 5 325230
H T217.69 <7 m ~ 4
T wooons | | amant | |srsnmn
od
R17- R18
PO1

gL\lTll\ _
iy \

Size Insert Screw ‘Wrench
Stock

Cat. No D d L L1
T 47. ®R8-8-100- 1T 8 8 100 25 e 325300
T 27. $R10- 10- 130- 2T 10 10 130 30 e (325302| 150
T 47. ®R10- 11- 130- 2T 11 10 130 - L] 325304, 150
T 47. $R12- 12- 130- 2T 12 12 130 30 XOMX060208 M1.8x 4 T6 e (325306| 160
T 47. $R12- 13- 130- 2T 13 12 130 - e (325308| 160
T 47. ®R16- 16- 160- 2T 16 16 160 40 L] 325310, 175
T 47. $R16- 17- 160- 2T 17 16 160 - ® |325312| 175
T 27. $R20- 20- 160- 2T 20 20 160 40 e (325314 185
T 47. $R20- 21- 160- 2T 21 20 160 - XOMX090308 M2.5x 5.5 8 o 325316| 185
T 27. $R25- 25- 160- 2T 25 25 160 50 e (325318| 190
T 47. $R25- 25- 200- 2T 25 25 200 60 e 325320/ 200
T 27. $R25- 26- 160- 2T 26 25 160 - XOMX120408 M3.5¢ 8 15 ® [325322| 190
T 47. ®R25- 26- 200- 2T 26 25 200 - o 325324 200

Insert
0O a)
% Vé g g Size mm
cat. oN gl ¥ % N Insert hape Al sl 1!l R Order  uhiber

XOMX060208FR- E03 o | o | o 6.94 | 4.09 | 2.45 325400

XOMX060208R- M05 L) 6.94 | 4.09 |2.45 325402

XOMX090308FR- E05 o o | O | o 5 10.8 | 6.35 | 3.65 325404

XOMX120408TR- M06 ° oo | o 11.41| 8.18 | 4.15 325406




Milling rBor nd a€e iMing uGtre

LUK WL B AT | i i N-mﬁmug
kel
T 8
o |_ | T}
e Y
R17- R18
P01 o
ol
Equipped itk raditional lade, uttng ow- cost L
Size Insert Clamp Screw Wrench
Stock
Cat. No D d L L1 a Q D & & ﬁ
TP11R16- 16- 100 16 16 100 45 10 e 325500/ 150
TP11R20- 20- 100 20 20 100 45 10 e 325502 150
TP11R20- 25- 130 25 20 130 45 10 TPO N1103 TP-11 | 3/16 L3 ® 325504 150
TP16R20- 30- 100 30 20 100 45 14 e 325506/ 150
TP16R20- 35- 100 35 20 100 45 14 e 325508 150
TP16R32- 35- 110 35 32 110 45 14 e 325510/ 150
TP16R20- 40- 110 40 20 110 45 14 TPO N1603 TP-16 1/4 L4 ® 325512 150
TP16R25- 40- 110 40 25 110 45 14 ® 325514 150
TP16R32- 40- 115 40 32 115 45 14 ® 325516/ 150
TP16R20- 50- 110 50 20 110 45 14 ® 325518 200
TP22R20- 50- 110 50 20 110 42 20 ® 325520/ 200
TP22R32- 50- 115 50 32 115 42 20 . 325522 200
TPO N2204 TP-22 |5-16 L5
TP22R25- 63- 110 63 25 110 42 20 o 325524, 250
TP22R32- 80- 130 80 32 130 42 20 4 325526 335
d
mTP W
(s '
LA "L
| 1
R17- R18 | Roughing Pocketmiling  Slooplungemiling  Shoulder milling Copy milling
P01 ! -
% | 5 -
I @
®D ! Equipped ith eaditional lable, utting ow- cost
Size Insert Clamp Screw Wrench
/\ Stock
Cat. No D d H w T a \ /
TP11R40- 16- 4T 40 16 45 8.4 5.6 9 . 325600 - 160
TP11R50- 22- 4T 50 22 50 10.4 6.3 9 TPON1103| TP-11 | 316 L3 . 325602 - 160
TP16R50- 22- 4T 50 22 50 10.4 6.3 14 TPO N1603| TP- 16 1/4 L4 L 325604 - 160
TP22R50- 22- 3T 50 22 50 10.4 6.3 18 o 325606| 250 -
TP22R63- 22- 3T 63 22 50 10.4 6.3 18 ° 325608| 283 160
TP22R80- 27- 4T 80 27 50 12.4 7 18 o 325610| 417 270
TP22R100- 32- 5T 100 32 50 14.4 8 18 . 325612| 600 425
TP22R125- 40- 6T 125 40 60 16.4 9 18 . 325614| 1000 540
TP22R160- 40- 7T 160 40 63 16.4 9 18 . 325616 - 850
TP22R200- 60- 8T 200 60 63 25.7 14 18 TPO N2204) TP-22 | 5/16 L5 . 325618 o 1350
TP22R63- 25.4- 3T 63 25.4 50 10 6 18 . 325620 - 160
TP22R80- 25.4- AT 80 25.4 50 10 6 18 L4 325622 - 270
TP22R100- 31.75- 6T 100 | 31.75| 50 13 8 18 . 325624 - 425
TP22R125- 38.1- 6T 125 38.1 60 16.2 10 18 . 325626 - 540
TP22R160- 38.1- 7T 160 38.1 63 16.2 10 18 . 325628 - 850
TP22R200- 47.625- 8T 200 |47.625| 63 25.4 | 14.3 18 . 325630 - 1350
Insert
2 g 3 %ﬂ Size mm
Order uhber
Cat. oN A X 2 Insert hape d ST | coip rimer
Z
TPKN1603PDR [ ] [ J [ J 9.525 3.18 (without) 325700
60"
TPMN1603PDR [ ] L] L] s1 9.525 3.18 (without) 325702
TPKN2204PDR [ ] ([ ] ([ ] d 12.7 4.76 (without) 325704
TPMN220408 [ J |Q 12.7 4.76 (without) 325706
TPUN110308 o L4 X ul 6.35 | 3.18 | (without) 325708
TPMN110308 [ o 6.35 | 3.18 | (without) 325710

D11



= TE9O e
BT wowonr | | amanl | | swumgn

Piane fmishing Facketmiling Sioot plunge miing Copy milling

R17- R18 od
POl of IO |
e
o |
L1
L
Size Insert Screw Wrench
Stock
Cat. No D d L L1
T E®AXO6R08- 08- 120- 1T 8 8 120 20 ° 325800/ 160
T E®AXO06R10- 10- 75- 2T 10 10 75 20 o 325802| 180
T E@AXO06R10- 10- 120- 2T 10 10 120 20 o 325804 180
T E@AXO06R10- 11- 120- 2T 11 10 120 20 AXMTO0602.. M1.8x 4 T6 o 325806/ 180
T E@AXO06R12- 12- 150- 2T 12 12 150 20 o 325808/ 180
T E@AXO06R12- 13- 150- 3T 13 12 150 20 o 325810 180
T E®AXO06R16- 16- 150- 3T 16 16 150 20 L] 325812 200
T E®AXO06R16- 16- 150- 4T 16 16 150 20 o 325814| 220
T E@AXO06R16- 17- 150- 3T 17 16 150 20 ° 325816| 200
T E@AX06R16- 17- 150- 4T 17 16 150 20 L 325818 220
T E®AXO09R12- 12- 150- 1T 12 12 150 20 ° 325820 180
T E@AXO09R12- 14- 150- 1T 14 12 150 20 o 325822 190
T E®AXO9R16- 16- 150- 2T 16 16 150 25 ° 325824| 180
T E®AXO09R16- 17- 150- 2T 17 16 150 25 o 325826| 180
T E®AXO09R20- 18- 150- 2T 18 20 150 30 ° 325828| 220
T E®AX09R20- 20- 150- 3T 20 20 150 30 AXMT0903.. M2.5% 6 T8 ® |325830| 200
T E®AXO09R20- 21- 150- 3T 21 20 150 30 o 325832 200
T E®AXO09R25- 25- 150- 3T 25 25 150 30 o 325834| 230
T E®AXO09R25- 25- 150- 4T 25 25 150 30 L4 325836| 260
T E®AXO09R25- 26- 150- 3T 26 25 150 30 ° 325838 230
T E®AXO09R32- 32- 150- 4T 32 32 150 35 ° 325840 280
T E@AX09R32- 35- 150- 4T 35 32 150 35 hd 325842 320
B TE9O 7
. . AAAN|
Shoulder/Cutting nE s e i | | et m
R17- R18
P01
Size Screw Wrench
Stock
Cat. No D L] d]|m]|Teeth Insert Clamp & /%
TE90AXO6R091IMO4 | 9 | 14| 45 | M4 1 J 325900 | 300
TE90AX06R112M05 J 325902 | 300
1161 55 ) M52 AXMTO0602.. - M1.8x 4 6
TE90AX06R133M06 | 13 | 18 | 6.5 | M6 3 . 325904 | 320
TE90AXO06R174M08 | 17 | 23| 85 | M8 4 [ 325906 350
TE90AX09R172M08 | 17 | 23| 8.5 | M8 2 L] 325908 320
TE90AX09R213M10 | 21 | 30 | 10.5 | M10 3 AXMTO903.. ; M2.5x 6 8 ° 325910 | 320
TE90AX09R263M12 | 26 | 35| 12.5 | M12 3 ° 325912 | 350
TE90AX09R353M16 | 35 | 43 | 17 | M16 3 ° 325914 | 380
Insert
Size mm
Cat. oN Insert hape A B T R Order uhber
AXMTO0602.. 326100
AXMTO0903.. 226102
326104
326106
326108




Milling rBor nd a€e iMing uGtre

m EPX3000 BEEGS i g @ {<
AMITSUBISHI AWERIALS R Pizkﬂq:‘.m‘?‘ S‘M; ‘VJ}\MI} Wi I srmmﬁm
od
R17- R18 of JOINC |
PO1 ° @
2 ‘
L 1
Size Insert Screw Wrench

Cat. No D d L o @_@ & /% Stock
E P 3000R16- 12- 85- 1T 12 16 85 25 ° 326200, 130
E P 3000R16- 14- 85- 1T 14 16 85 25 [} 326202 130
E P 3000R16- 16- 85- 2T 16 16 85 25 ° 326204, 130
E P 3000R16- 16- 160- 2T 16 16 160 30 [} 326206/ 150
E P 3000R16- 16- 180- 2T 16 16 180 40 [} 326208 180
E P 3000R16- 17- 90- 2T 17 16 90 25 ° 326210 130
E P 3000R16- 17- 120- 2T 17 16 120 30 [} 326212 150
E P 3000R16- 17- 160- 2T 17 16 160 30 ° 326214, 160
E P 3000R16- 17- 200- 2T 17 16 200 40 [} 326216 180
E P 3000R16- 18- 120- 2T 18 16 120 25 . 326218 160
E P 3000R20- 20- 100- 3T 20 20 100 30 ° 326220, 175
E P 3000R20- 20- 150- 2T 20 20 150 35 o 326222 190
E P 3000R20- 20- 200- 2T 20 20 200 45 ° 326224, 220
E P 3000R25- 25- 120- 3T 25 25 120 35 ° 326226 185
E P 3000R25- 25- 120- 4T 25 25 120 35 ° 326228 200
E P 3000R25- 25- 160- 3T 25 25 160 35 o 326230, 190
E P 3000R25- 25- 160- 4T 25 25 160 35 AOMT12306 M2.5% 6 T8 ° 326232 220
E P 3000R25- 26- 120- 3T 26 25 120 35 o 326234 185
E P 3000R25- 26- 120- 4T 26 25 120 35 ° 326236 200
E P 3000R25- 26- 160- 3T 26 25 160 35 o 326238 190
E P 3000R25- 26- 160- 4T 26 25 160 35 ° 326240 220
E P 3000R25- 26- 200- 3T 26 25 200 45 ° 326242 210
E P 3000R25- 26- 200- 4T 26 25 200 45 ° 326244, 240
E P 3000R25- 28- 170- 3T 28 25 170 45 o 326246/ 200
E P 3000R25- 30- 120- 4T 30 25 120 45 ° 326248 200
E P 3000R32- 30- 125- 4T 30 32 125 45 ° 326250 200
E P 3000R32- 32- 125- 3T 32 32 125 45 ° 326252 210
E P 3000R32- 32- 125- 4T 32 32 125 45 ° 326254 235
E P 3000R32- 32- 125- 5T 32 32 125 45 [} 326256 250
E P 3000R32- 40- 125- 3T 40 32 125 45 [} 326258 230
E P 3000R32- 40- 125- 4T 40 32 125 45 [} 326260 250
E P 3000R32- 40- 125- 5T 40 32 125 45 e 326262 280

. Insert
P
M
I “1*® c ° c: %
3
<
S % V'g Size mm

Cat. oN Use S 3 i § Insert haspe L1 L2 S1 F1 Re Order uhber
AOGT123602PEFR- GM ° 12 6.6 3.6 1.8 0.2 326300
AOGT123604PEFR- GM ° 12 6.6 3.6 1.6 0.4 326302
AOGT123608PEFR- GM ° 12 6.6 3.6 1.2 0.8 326304
AOMT123604PEER- H N 12 6.6 3.6 1.6 0.4 326306
AOMT123608PEER- H oo | o 12 6.6 3.6 1.2 0.8 326308
AOMT123616PEER- H oo |0 12 6.6 3.6 1.2 1.6 326310
AOMT123602PEER- M o o 12 6.6 3.6 1.8 0.2 326312
AOMT123604PEER- M oo 12 6.6 3.6 1.6 0.4 326314
AOMT123608PEER- M oo 12 6.6 3.6 1.2 0.8 326316
AOMT123610PEER- M L) 12 6.6 3.6 1.0 1.0 326318
AOMT123612PEER- M oo 12 6.6 3.6 0.8 1.2 326320
AOMT123616PEER- M oo 12 6.6 3.6 0.4 1.6 326322
AOMT123620PEER- M oo 12 6.6 3.6 0.4 2.0 326324
AOMT123624PEER- M o | o 12 6.6 3.6 0.4 2.4 326326
AOMT123630PEER- M o | o 12 6.6 3.6 0.4 3.0 326328
AOMT123632PEER- M o | o 12 6.6 3.6 0.4 3.2 326330

D13



® FM90 °

[—
— _/ .
Hm T KT WA LR

Roughing Flane fmishing Focket miling Slootplunge miling  Shoulder miling Copy milling

R17- R18 -
PO1 <
Can ebsad otnsert ilting, latf evél urfece, rogve
Low utting orte, arde ake ngle, utting ight
High raquuctivity, igh- precison
Size Insert Screw Wrench
Stock
Cat. No D d H w T Eg @ @ %
FMO9R50- 22- 4T 50 22 50 10.4 6.3 .
FMO9R63- 22- 5T 63 22 50 10.4 6.3 (]
FMO9R80- 27- 6T 80 27 50 12.4 6.3 SEL T090308 M3x 7 L (]
FMO9R100- 32- 8T 100 32 50 14.4 6.3 .
Insert
% E E % E % % l? Size mm
919/2(d %)Y
gt oN M A [ A [ A (A (A g Insert hape D1 | S1 REsn uhiher
SEETO09T308PDER (N 2N J [ ] [ J 9.5214.01 326500
SEHTO9T308PDER e oo ® e o 0 o0 ,,}, 7;5[27 9.52(4.01 326502
SEMTO9T308PDER [ ] 20 9.524.01 326504
s1
D1 -

B RS90 —
RS90 igRt ngle hsulder ade ihh M <<

HT R Pl T AT AP BT

Roughing Flane fimishing Focketmiling Siootplungemiling  Shoulder milling Copy milling

od

R17- R18
PO1
Size Stock
Cat. No D d H W T Insert Clamp ceew | wrench
50A05RS90SP10DG 50 | 47 | 40 | 22 5 . 375 326600
63A06RS90SP10DG 63 | 50 | 40 | 22 6 | SPETI0T304PPERLD2 . 460 326602
80A08BRS90SP10DG 80 | 60 | 50 | 27 g | /SPETIOTSPPERGE? M2.5X6 T8 . 640 326604
100B10RSO0SP10DG | 100 | 80 | 50 | 32 | 10 | o0 10T3PPSRGEZ . 1010 326606
50A03RS90SD12DG 50 | 45 | 40 | 22 3 . 500 326608
50A04RS90SD12DG 50 | 46 | 40 | 22 4 . 515 326610
63A04RS90SD12DG 63 | 50 | 40 | 22 4 . 500 326612
63A05RS90SD12DG 63 | 50 | 40 | 22 5 . 550 326614
80AO5RS90SD12DG 80 | 60 | 50 | 27 5 . 660 326616
80A06RS9I0SD12DG 80 | 60 | 50 | 27 6 . 715 326618
100BOGRS90SD12DG | 100 | 80 | 50 | 32 6 . 1000 326620
100B0OBRS90SD12DG | 100 | 80 | 50 | 32 g | SPPT1204PESR M3.5X10 s . 1150 326622
125B07RS90SD12DG | 125 | 90 | 63 | 40 7 . 1200 326624
125B10RS90SD12DG | 125 | 90 | 63 | 40 | 10 . 1350 326626
160C08RS90SD12DG | 160 | 100 | 63 | 40 8 . 1400 326628
160C12RS90SD12DG | 160 | 100 | 63 | 40 | 12 . 1800 326630
200C11RS90SD12DG | 200 | 130 | 63 | 60 | 11 . 2200 326632
200C14RS90SD12DG | 200 | 130 | 63 | 60 | 14 . 2600 326634




Milling rBor nd a€e iMing uGtre

" UEX HITACHI A
e ) o) L) e
R16
PO1 s
e
o)
L1
L 1
Size Insert Screw Wrench
= Stock
Cet N D | d | L | L1]|L2] a - @
UEX12R12- 12- 150- 1T 12 12 150 40 - 12 [ 326700 100
UEX12R16- 16- 160- 1T 16 16 160 50 - 12 . 326702| 100
UEX12R16- 17- 160- 1T 17 16 160 40 - 12 (] 326704/ 100
UEX12R16- 20- 120- 2T 20 16 160 50 - 12 AP T1202 M3.5x 8 T15 [ 326706| 120
UEX12R20- 20- 160- 2T 20 20 120 40 - 12 e (326708 135
UEX12R20- 20- 200- 2T 20 20 200 50 100 12 e [326710] 135
UEX12R20- 21- 160- 2T 21 20 160 40 - 12 ® 326712 120
UEX16R20- 25- 130- 2T 25 20 130 40 - 15 o 326714| 150
UEX16R25- 25- 160- 2T 25 25 160 50 - 15 ° 326716] 140
UEX16R25- 25- 200- 2T 25 25 200 50 - 15 ® 326718 150
UEX16R25- 25- 250- 2T 25 25 250 75 - 15 ADC T1603 M4x 7.5 T15 L4 326720/ 165
UEX16R25- 26- 200- 2T 26 25 200 50 - 15 ® 326722 150
UEX16R25- 30- 160- 3T 30 25 160 50 - 15 ® 326724 180
UEX16R25- 30- 200- 3T 30 25 200 50 - 15 o 326726| 190
UEX16R25- 30- 250- 3T 30 25 250 75 - 15 o 326728 210

Insert

. Order uhber

APET120202SR ° ° 12.77.9382.5| 11 | 0.2 326800
APET120204SR ° ° ° 12.77.9382.5| 11 | 0.4 326802
APET120208SR ° ° ° Re 12.77.9382.5 11| 0. 326804
APNT120208SR ° ° ﬁ R Eiéﬁ 12.77.9382.5 11| 0. 326806
ADET160302SR ° ° A9 ® [15.8/7%. 5253. 18 15| 0. 1 326808
ADET160304SR ° ° 15.8/7%. 5253. 18 15 | 0. 4 326810
ADET160308SR ° 15.8(7%. 5253. 18 15 | 0. 326812
ADNT160308SR ° ° 15. 8(7%. 5253. 18 15 | 0. 326814

B EDCI10

EDC10 ntegrated i@ph tmsength qgsiare hsulder iting utter
AN LAY
T HimT S P T

Roughing Flane fmishing

Copy miling

Lightweight ne piece igid trsicture, igh epformance, one.

Through he ekection foifférent aterial nife rain, arc eb sad nihe teel
and opper luminum IbbyThe oarse nd inkB r@cessing, ide palication
range, igh ffeciency, igh igidity!

D order | Price
Blade t . Stock Number | (RMB)
Cat. No number | Long | Diameter Insert
BT30- EDC10- 16- 2T 2 60 16 . 326900 950
BT30- EDC10- 20- 2T 2 65 20 . 326902 950
BT30- EDC10- 25- 3T 3 75 25 . 326904 1000
BT30- EDC10- 32- 4T 4 90 32 . 326906 1150
EDCT10T308
BT40- EDC10- 16- 2T 2 60 16 . 326908 1000
BT40- EDC10- 20- 2T 2 65 20 . 326910 1000
BT40- EDC10- 25- 3T 3 75 25 . 326912 1150
BT40- EDC10- 32- 4T 4 90 32 . 326914 1250

D15



SSDY0 ki s =

. . 7] H HT R WA
SSD90 ight ngle tep afe iMing utter

Roughing Frane frvshing Focketmiing “Shoutder miling Copy miling

T
R17- R18
PO1 o
»D |
D d H S K
Blade ) Inside End face Countersunk toc
Cat. No number | Drameter diameter diameter Long | e adl diameter Insert
SSD90R50- 22- AT 4 50 22 41 40 17 (] 327100
SSD90R63- 22- 5T 5 63 22 50 40 17 SDMT1204PDER (] 327102 300
SSD90R80- 27- 6T 6 80 27 60 50 37 SDHW1204PDTR . 327104
SSD90R100- 32- 8T 8 100 32 70 50 43 (] 327106 680
SSD90R125- 40- 10T 10 125 40 80 63 57 o 327108
. e e e
ASX400right ngle tep afe iming utter
D2 D1
'
R17- R18
PO1
f— 1 =
L
D L D2
Blade i Inside End face Stock
Cat. No number Diameter Long diameter diameter Insert
ASX400R50- 22- 4T 4 50 40 22 41 . 327200 300
ASX400R63- 22- 5T 5 63 40 22 50 (] 327202 350
- 27- 6 80 50 27 60 (] 327204 450
ASX400R80- 27- 6T SPMT127308
ASX400R100- 32- 7T 7 100 50 32 70 (] 327206 700
ASX400R125- 40- 8T 8 125 63 40 80 (] 327208 850
ASX400R160- 40- 10T 10 160 63 40 100 . 327210 1300
od
WFX12 —
WFX12 gk ngle hsulder ade imh =  GESERSEIMia: | [ . __|
H 7 1 Can ebsad otndert illing, latf
R17- R18 7 level urface, rogpve
PO1 (@) 73 Low utting orce, arge ake nagle,
i cutting ight
®D | High reductivity, igh- precision
Size
No.of Stock
Cat. No flutes D d H W T Insert
WFX12R50- 22- 4T 4 50 22 40 10.4 6.3 ° 327300 300
WFX12R63- 22- 5T 5] 63 22 40 10.4 6.3 L] 327302 350
WFX12R80- 27- 6T 6 80 27 50 12.4 7 SOMT120408PDER L] 327304 580
WFX12R100- 32- 6T 6 100 32 50 14.4 8 (] 327306 900
WFX12R125-40- 7T 7 125 40 63 16.4 9 . 327308 1000
od
W
WFX17 z
i
. . Can ebsad otndert illimg, latf
WFX17 iglR nagle hsulder ade im T level urface, rogve
R17-R18 Low utting orce, arge ake nagle,
PO1 :5 cutting ight
IS 1> B High reductivity, igh- precision
Size
No.of Clamp Stock
Cat. No flutes | D| d | H | W | T Insert screw | Wrench
WEX17R50- 22- 4T 4 50 22 | 40 |10.4| 6.3 L] 327400 280
WEX17R63- 22- 4T 4 63 22 | 40 |10.4| 6.3 L] 327402 315
WEX17R80- 27- 6T 6 80 27 | 50 |12.4 7 L] 327404 550
WEX17R100- 32- 8T 8 100 | 32 | 50 |14.4 8 AXMT170508PEER-G| M3 x7) T8 (] 327406 800
WEX17R125- 40- 10T 10 125 | 40 | 63 |16.4 9 . 327408 1050
WEX17R160- 40- 12T 12 160 | 40 | 63 |16.4 9 . 327410 1450




Milling rBor nd a€e iMing uGtre

=
R m . AT FBi I (w:imimﬂm L
R23-R24 2d
o o
P01 gl %:[*f ]
. _ _ 2
L2
L
L ]
Fit ariety focanomic-type ldde, ogt- effective
Size Insert Screw Clamp Wrench
Cat. No DlalL ufiz]alhe ©OH ¢ & A S

EMR4R10- 10- 120- 1T 10 | 10 | 120 30 - 4 1 [ B27500 67 -

EMR4R12- 12- 130- 1T 12 | 12 | 130 40 | - 4 1 e B27502 67 100
EMR4R12- 13- 130- 1T 13 | 12 | 130 40 | - 4 1 e 327504 67 100
EMR4R15- 16- 150- 2T 16 | 15 | 150 40 | - 4 2 e (327506 - 110
EMR4R15- 16- 200- 2T 16 | 15 | 200 | 50 - 4 2 [} B27508 - 140
EMR4R16- 16- 130- 2T 16 | 16 | 130 | 40 - 4 2 e (327510 - 110
EMR4R16- 16- 150- 2T 16 | 16 | 150 | 50 - 4 2 e 327512 83 110
EMR4R16- 16- 200- 2T 16 | 16 |200| 60 |100| 4 2 e (327514 100 | 140
EMR4R16- 17- 150- 2T 17 | 16 | 150 | 50 - 4 2 RPMT0802.. | M3x 7 | Y-4R T10 e 332751 83 110
EMR4R16- 17- 200- 2T 17 | 16 | 200 | 60 - 4 2 e (327518 100 | 140
EMR4R19- 20- 150- 2T 20 | 19 | 150 40 - 4 2 e (327520 100 | 130
EMR4R19- 20- 200- 2T 20 | 19 | 200| 40 - 4 2 e (327522 117 | 145
EMR4R20- 20- 150- 2T 20 | 20 | 150| 50 - 4 2 e (327524 100 | 130
EMR4R20- 20- 200- 2T 20 | 20 |200| 60 |100| 4 2 e (327526 117 | 145
EMR4R25- 20- 250- 2T 20 | 25 | 250 60 - 4 2 e (327528 167 -

EMR4R20- 21- 150- 2T 21 | 20 | 150| 50 - 4 2 e (327530 100 -

EMR4R20- 21- 200- 2T 21 | 20 [ 200]| 60 - 4 2 ® B27532 117 -

EMR5R19- 20- 150- 2T 20 | 20 | 150| 50 - 5) 2 ® B27534 100 -

EMR5R19- 20- 200- 2T 20 | 19 | 200 | 60 - 5 2 L4 327536 117 ~

EMR5R20- 20- 150- 2T 20 | 19 | 150 40 - 5 2 ® [B27538 100 | 130
EMR5R20- 20- 200- 2T 20 | 20 |200| 50 |100| 5 2 ® 327540 117 | 145
EMR5R20- 21- 150- 2T 21 | 20 | 150| 50 - 5) 2 ® B27542 100 | 130
EMR5R20- 21- 200- 2T 21 | 20 | 200| 60 - 5 2 L4 B27544 117 145
EMR5R20- 25- 150- 2T 25 | 20 |150| 50 - 5) 2 ® B2754 117 | 100
EMR5R20- 25- 200- 2T 25 | 20 | 200| 50 - 5 2 ® 327548 127 | 135
EMR5R24- 25- 150- 2T 25 | 24 | 150 40 - 5 2 ® 327550 117 | 100
EMR5R24- 25- 200- 2T 25 | 24 |200| 50 ~- 5 2 L4 B27552 127 135
EMR5R24- 25- 250- 2T 25 | 24 | 250| 50 - 5) 2 ® B27554 117 | 100
EMR5R25- 25- 150- 2T 25 | 25 |150| 50 - 5 2 ® 327556 - 160
EMR5R25- 25- 200- 2T 25 | 25 | 200 | 60 - 5 2 ® 327558 127 | 135
EMR5R25- 25- 250- 2T 25 | 25 |250| 70 | 115 5 2 L4 B27560 167 160
EMR5R32- 25- 300- 2T 25 | 32 |300| 70 - 5) 2 ® B27562 267 -

EMR5R25- 26- 150- 2T 26 | 25 |150| 50 - 5 2 ® 327564 117 | 100
EMR5R25- 26- 200- 2T 26 | 25 | 200| 60 - 5) 2 ® 327566 127 | 135
EMR5R25- 26- 250- 2T 26 | 25 | 250| 70 - 5 2 ® 327568 167 | 160
EMR5R25- 30- 150- 2T 30 | 25 |150| 48 - 5) 2 ® B2757Q0 117 | 110
EMR5R25- 30- 200- 2T 30 | 25 |200| 50 - 5 2 RPMW1003.. | M35x 10| Y-5R T15 [ B27572 133 145
EMR5R25- 30- 250- 2T 30 | 25 |250| 60 - 5) 2 ® 327574 167 | 170
EMR5R25- 30- 300- 2T 30 | 25 | 300| 60 - 5 2 ® B27576 - 200
EMR5R32- 30- 300- 2T 30 | 32 |300| 60 - 5) 2 ® 327578 - 200
EMR5R32- 35- 160- 2T 35 | 32 |150| 50 - 5 2 ® 327580 - 170
EMR5R32- 35- 150- 3T 35 | 32 | 150 | 50 - 5 S ® 327582 177 | 180
EMR5R32- 35- 200- 2T 35 | 32 |200| 60 - 5 2 ® 327584 - 180
EMR5R32- 35- 200- 3T 35 | 32 | 200| 60 - 5) 3 ® 327586 200 | 190
EMR5R32- 35- 250- 2T 35| 32 |250| 70 - 5 2 o B27588 - 190
EMR5R32- 35- 250- 3T 35 | 32 |250| 70 - 5) S ® 327590 233 | 225
EMR5R32- 35- 300- 3T 35| 32 |300| 70 - 5 3 ® 327592 300 | 245
EMR5R32- 35- 350- 3T 35| 32 |350| 70 - 5 8 ® 327594 367 | 275
EMR5R32- 35- 400- 3T 35 | 32 |400| 70 - 5 3 e RB27594 500 | 320
EMR5R32- 40- 150- 3T 40 | 32 | 150 | 70 - 5 3 ® (327598 183 | 250
EMR5R32- 40- 200- 3T 40 | 32 |200| 70 - 5 3 ® 327600 217 | 260
EMR5R32- 40- 250- 3T 40 | 32 |250| 70 - 5 3 ® 327602 250 | 300
EMR5R32- 40- 300- 3T 40 | 32 |300| 70 - 5 3 ® 327604 300 | 340
EMR5R32- 40- 350- 3T 40 | 32 | 350 70 - 5 3 ® 327606 383 | 380
EMR5R32- 40- 400- 3T 40 | 32 |400| 70 - 5 3 ® 327608 500 -

EMR5R32- 50- 150- 4T 50 | 32 |150| 50 = 5 4 o 327610 267 =

EMR5R32- 50- 200- 4T 50 | 32 | 200| 50 - 5 4 ® 327612 333 -

EMR5R20- 30- 110A- 2T 30 | 20 | 110| 30 - 5 2 e B27614 60 -

EMR5R20- 30- 110B- 2T 30 | 20 | 110 30 - 5 2 ® 32761 93 70
EMR5R3/4- 30- 110- 2T 30 | 3/4]110]| 30 - 5 2 e 1327618 93 70

D17



H EMR

!
Roughing Plane finishing Pocketmilling  Slootplungemiling  Shoulder milling ‘Copy milling

R23-R24 *© e Using he 11 °osifive ngle lae
PO1 b Blade camomy, het pricability f digh
d Capecity hip age Ipase, oagl hip ilosal
L4 Cone edign, ted igh
Size Insert Clamp Screw <
Stock
Cat. No D d H w T a @ @ & & %
EMR5R50- 22- 4T 50 22 50 10.4 | 6.3 5 e [327600| 167 200
EMR5R63- 22- 4T 63 22 50 10.4 6.3 5 o 327602 200 225
EMR5R80- 27- 6T 80 27 50 12.4 7 5 e 327604 307 350
EMR5R100- 32- 6T 100 32 50 14.4 7 5 o 327606| 483 540
EMR5R125- 40- 7T 125 40 63 16.4 9 5 RPMW 1003 MO Y-5R M4x 10 Ti5 o 327608| 767 750
EMR5R160- 40- 8T 160 40 63 16.4 9 5 RPMT 10T3 MOE B M3.5x 10 o 327610| 867 1150
EMR5R50- 25.4- 4T 50 25.4 50 10 6 5 o 327612| 167 -
EMR5R63- 25.4- 4T 63 25.4 50 10 6 5 o 327614| 200 225
EMR5R80- 25.4- 6T 80 25.4 50 10 6 5 ® |327616| 333 350
EMR5R100- 31.75- 6T 100 [31.75] 50 13 8 5) ® [327618] 500 540
H EMRM
Corner oBnding nE iMs(EMRM) <<
Hn T . WAL EWrii SFm g 1
R23-R24
PO1
Size Screw Wrench
Stock
Cat. No DL d | m|Teeth Insert Clamp & /R
EMRM4R162M8 16 | 35| 85 | M8 2 V. 4R MaxX7 ° 327700 150
EMRM4R202M10 20 | 35| 10.5| M10 2 RPMW0802MO ) i ° 327702 150
EMRM5R252M12 25 | 40 | 12.5 | M12 2 MAX10 ° 327704 160
EMRM5R302M16 30 | 40| 17 | M16 2 RPMW1003MO Y- 5R M3.5X10 T15 ° 327706 160
EMRM5R352M16 35 | 40| 17 | M16 2 ' ° 327708 200
EMRM6R302M16 30 | 40| 17 | M16 2 M4X10 T15 ° 327710 160
EMRM6R353M16 35 | 40 | 17 | M16 3 RPMT1204MO Y- 6R ° 327712 200
MITSUBISHI DIJET
Insert
g g é § % g g é s % Size mm
B °N AR R EE g Insert hape L1 L2 s tber
RPMT08T2MO ® o0 [ J 8 |2.78 327800
RPMW1003MO ® o0 — 10 |3.18 327802
RPMT10T3MOE 0 ® 10 |3.97 327804
RPMW1003MO L ‘ [ |10]318 327806
RPMW0802MO ® o060 00 L1 L2 8 [2.38 327808
RPMW1003MO ® o0 0 00 10 |3.18 327810
[ ] [l Circular late utting dge trength s iigh.

Series f gopducts ichr anety.
The og uitsble ohd aterials ropessing.




Milling rBor nd a€e iMing uGtre

B 2 G S
m AN al;-mmz?
©
)
DL °o | 1.
e
J a
T
L2
L
R23-R24 Blade cenomy, het igh palicability.
PO1 Capacity hip argel pace, oad hip emoval.
S ize Clamp Screw Wrench
Cat. No D] d| L |L1]L2] a [fum| |Inoen &3 & Stock

EMRWA4R12- 12- 130- 1T 12| 12 [130] 40 | - 4 |1 e 327900 67 -
EMRWA4R12- 13- 130- 1T 13| 12 (13040 | - | 4 | 1 e 327902 67 -
EMRWA4R15- 16- 150- 2T 16 | 15 [150[ 40 | - | 4 | 2 e 327904/ 83 -
EMRWA4R15- 16- 200- 2T 16 | 15 [200| 40 | - | 4 | 2 e 327906/ 100 -
EMRWA4R16- 16- 150- 2T 16 | 16 [150 (50 | - | 4 | 2 e 327908 83 -
EMRWA4R16- 16- 200- 2T 16 | 16 [200( 60 | - | 4 | 2 e 327910 100 -
EMRWA4R16- 17- 150- 2T 17 | 16 [150[ 50 | - | 4 | 2 e 327912 83 -
EMRWA4R16- 17- 200- 2T 17 | 16 |200| 60 | - | 4 | 2 | 0o o0 Y-4R | M3x 7 TIO e [327914 100 -
EMRWA4R19- 20- 150- 2T 20| 19 |150| 40 | - | 4 | 2 e 327916/ 110 -
EMRWA4R19- 20- 200- 2T 20| 19 |200| 40 | - | 4 | 2 e 327918 133 -
EMRWA4R20- 20- 150- 2T 20 | 20 |150| 50 | - 4 | 2 e 1327920 110 -
EMRWA4R20- 20- 200- 2T 20| 20|200| 60| - | 4 | 2 e 327922 133 =
EMRWA4R20- 21- 150- 2T 21| 201|150 50 | - | 4 | 2 e 1327924/ 110 -
EMRWA4R20- 21- 200- 2T 21| 20|200| 60| - | 4| 2 e |327926| 133 -
EMRWS5R25- 25- 150- 2T 25| 25[150[ 50 | - | 5 | 2 e 327928 117 -
EMRWS5R25- 25- 200- 2T 25 | 25 |200| 50 | - 5 | 2 e 327930 127 -
EMRWS5R25- 25- 250- 2T 25| 251|250/ 50| - | 5| 2 e 327932 193 -
EMRW5R25- 30- 150- 2T 30| 25 |150| 60 | - | 5 | 2 e 327934/ 133 -
EMRWS5R25- 30- 200- 2T 30| 25200/ 60| - | 5 | 2 ® 1327936 167 -
EMRWS5R25- 30- 250- 2T 30 | 25 |250| 60 | - 5 | 2 Y-5R | M4x 9 | Ti5 e 327938 227 -
EMRWS5R32- 35- 150- 3T 35| 32 |150| 60 | - | 5 | 3 |RPMTIOT3MOE e [327940 217 -
EMRWS5R32- 35- 200- 3T 35| 32|200| 60| - | 5| 3 ® 327942 250 -
EMRWS5R32- 35- 250- 3T 35| 321|250 60| - | 5| 3 ® 1327944/ 283 -
EMRW5R32- 35- 300- 3T 35| 32|300| 60| - | 5| 3 ® 327946/ 333 -
EMRW6R25- 32- 150- 2T 32| 25 |150| 50 | - 6 | 2 e 1327948 133 | 165
EMRW6R25- 32- 200- 2T 32| 25(200|55| - | 6 | 2 e 327950 167 | 175
EMRW6R25- 32- 250- 2T 32| 251|250/ 60| - | 6 | 2 e 1327952 200 | 190
EMRW6R32- 32- 150- 2T 32 |32|150| 50| - | 6 | 2 e 327954 167 | 165
EMRW6R32- 32- 200- 2T 32 |32(200|50| - | 6 | 2 e 1327956 200 | 175
EMRW6R32- 32- 250- 2T 32| 32|250| 60 | - 6 | 2 e 327958 233 | 190
EMRW6R32- 32- 300- 2T 32| 32(300|60| - | 6 | 2 ® 327960 300 -
EMRW6R32- 35- 150- 2T 35| 32|150| 50| - | 6 | 2 e [327962 183 =
EMRW6R32- 35- 160- 3T 35| 321|160 50 | - | 6 | 3 * 327964 - 210
EMRW6R32- 35- 200- 2T 35| 32|200|50| - | 6 | 2 ® 327966 217 -
EMRW6R32- 35- 200- 3T 35| 32 (200 50 | - 6 | 3 ® 327968 - 215
EMRW6R32- 35- 250- 2T 35| 321250 60 | - | 6 | 2 |RPMWI24MO} ol s ® [327970 267 -
EMRW6R32- 35- 250- 3T 35|32 (250 60| - | 6 | 3 e 327972 - 230
EMRW6R32- 35- 300- 2T 35| 32(300|60| - | 6 | 2 @ ® [327974| 333 =
EMRW6R32- 35- 300- 3T 35| 32 (300| 60 | - 6 | 3 ® 1327976 - 260
EMRW6R32- 35- 350- 3T 35| 32 |350| 60 - 6 3 | RPMT 1204 MO ® 327978 - 300
EMRW6R32- 35- 400- 3T 35| 321|400 60| - | 6 | 3 e 1327980 - 350
EMRW6R32- 40- 150- 3T 40 | 32 |150| 50| - | 6 | 3 ® 1327982 200 | 250
EMRW6R32- 40- 200- 3T 40 | 32 (200|550 | - | 6 | 3 ® 1327984 233 | 260
EMRW6R32- 40- 250- 3T 40 | 32 |250| 60 | - 6 | 3 ® 327986 283 | 300
EMRW6R32- 40- 300- 3T 40 | 32 |300| 60| - | 6 | 3 ® 1327988 333 | 340
EMRW6R32- 40- 350- 3T 40 | 32 |350| 60| - | 6 | 3 ® 327990 400 | 380
EMRW6R32- 40- 400- 3T 40 | 32 (400| 60| - | 6 | 3 ® 1327992 533 -
EMRW6R32- 50- 150- 4T 50 | 32 |150| 50 | - | 6 | 4 ® 1327994 267 | 340
EMRW6R32- 50- 200- 4T 50 | 32 [200] 50 | - 6 | 4 ® 1327996 333 | 380

D19



B EMRW i *

I '_‘

| t /

| I

R23-R24 | . e 1 Using het 11 °osiive ngle lade
[ L - Blade canomy, het pmicability f cigh
PO1 ©D ¥ - Capacity hip auge Ipase, oogl hip isjosa
hd Cone edign, tedd igh
Size Claph Screw ch
Insert Stock
Cat. No D d H W T a & & ﬁ
EMRW6R50- 22- 4T 50 22 50 10.4 | 6.3 6 e 1328100 167 200
EMRWG6R63- 22- 4T 63 22 50 10.4 | 6.3 6 e 328102 200 225
EMRW6R80- 27- 6T 80 27 50 12.4 7 6 ° 328104, 307 350
EMRWG6R100- 32- 6T 100 32 50 14.4 7 6 e 328106/ 483 540
EMRW6R125- 40- 7T 125 40 63 16.4 9 6 o 328108 767 750
EMRW6RL60- 40- 8T 160 | 40 | 63 | 164 | 9 6 | ReMTI204MO e |328110 867 | 1150
. .
EMRW6R200- 60- 9T 200 60 63 25.7 14 6 Y-6R| Mdax 10 T15 328112 1833 | 1600
EMRW6R250- 40- 12T 250 40 63 25.7 14 6 ® 328114 2500 -
EMRW6R300-60-14T | 300 | 60 | 63 | 25.7 | 14 | 6 @ e |[328116 3000 | -
EMRW6R50- 25.4- 4T 50 25.4 50 10 6 6 o 328118 167 -
EMRWG6R63- 25.4- 4T 63 25.4 50 10 6 6 RPMW1204 MO L4 328120 200 225
EMRWG6RS0- 25.4- 6T 80 25.4 | 50 10 6 6 ® 1328122 333 350
EMRW6R100- 31.75- 6T 100 | 31.75 50 13 8 6 L 328124 500 540
Insert
EHHEEEEEEE
Ord Nb
cat. on AR 050808 nsen nane T iy G

328200

RPMT1204MOE- JS o0 o0 ‘ 12 |4.76
Rai? %
RPMT1204MO e o0 o0 ﬁli“ 12 |4.76 328202

RPMT1204MO [ ) 12 |4.76 328204

RPMW1204MOE ®e 00 /«L\ 12 |4.76 328206
1204MOT ® e 12 |4.76 328208

asg]




Milling rBor nd a€e iMing uGtre

wowamr | | [ asin wmmrﬁmj
Rougring Pocketmiling . Stootplunge g 0 Copy millng
of Po | | |
&
- X
@d e
R23-R24 % - e L %
- L2 { »‘ {
PO1 Blade cenomy, het igh palicability. 4 R 4
Capacity hip argel pace, ogd hip emoval. L °

Size Insert Screw Clamp Wrench
Cat. No Dl d L ltiliz] a e @ﬁ & &B ) Stock
TRS2.5R08- 08- 80- 1T 8 8 8030 - |25 1 N 328300 - 150
TRS2.5R08- 09- 100- 2 9 | 8 |100[30| - [25] 2 . 328302 - 150
TRS2.5R10- 10- 120- 2T 10 | 10 |120| 40 | - |25 2 o 328304 ; 150
TRS25R10- 11- 120- 2 11| 10 |120] 40 | - 25| 2 . 328306 ; 150
TRS2.5R12- 12- 120- 2T 12| 12 |120] 40 | - |[25] 2 o 328308 - 150
TRS2.5R12- 12- 120- 3 12 | 12 |120] 40 | - 25| 3 o 328310 - 150
TRS2,5R12- 13- 120- 2 13| 12 |120] 40 | - | 25| 2 o 328312 - 150
TRS25R12- 13- 120- 3 13| 12 |120] 40 | - |25 3 . 328314 ; 150
TRS2.5R16- 16- 150- 4 16 | 16 |150| 40 | - |2.5| 4 |ROMWOSOLMO)MLEx4 | — T | 328316 - 160
TRS2.5R16- 16- 200- 4 16 | 16 |200| 40 | - | 25| 4 o 328318 - 200
TRS2.5R16- 17- 150- 4 17 | 16 |150| 40 | - | 25| 4 o 328320 - 160
TRS2.5R16- 17- 200- 4 17| 16 |200| 40 | - |25 4 . 328322 ; 200
TRS2.5R20- 20- 150- 4 20| 20 |150| 40 | - |25 4 . 328324 - 170
TRS2.5R20- 20- 200- 4 20 | 20 |200| 40 | - |25| 4 . 328326 - 220
TRS2.5R20- 21- 150- 4 21| 20 |150| 40 | - | 25| 4 . 328328 ; 170
TRS2.5R20- 21- 200- 4 21| 20 |200| 40 | - |25]| 4 . 328330 ; 220
TRS3.5R10- 10- 120- 1T 10| 10 |120] 40 | - |35 1 . 328332 - 150
TRS3.5R12- 12- 120- 1T 12 | 12 |120] 40 | - [35]| 1 . 328334 - 150
TRS3.5R16- 16- 120- 2T 16 | 16 |120] 40 | - |3.5| 2 |ROMWOT0ZMO)M25x6 | — T8 o 328336 ; 120
TRS3.5R16- 16- 160- 2T 16 | 16 |160| 40 | - [35| 2 o 328338 - 120
TRS4RI12- 12- 130- 1T 12 | 12 |130] 40 | - | 4 | 1 . 328340 67 100
TRS4R12- 13- 130- 1T 13| 12 13040 | - | 4 | 1 . 328342 67 100
TRS4R15- 16- 150- 2T 16| 15 |150| 40 | - | 4 | 2 o 328344 83 110
TRSA4R15- 16- 200- 2T 16 | 15 |200] 40 | - | 4 | 2 . 328346 110 140
TRS4R16- 16- 150- 2T 16 | 16 |150| 50 | - | 4 | 2 . 328348 83 110
TRS4R16- 16- 200- 2T 16 | 16 |200| 60 |100| 4 | 2 o 328350 110 140
TRS4R16- 17- 150- 2T 17| 16 |150| 50 | - | 4 | 2 . 328352 83 110
TRS4R16- 17- 200- 2T 17 | 16 |200| 60 | - | 4 2 |RDMT0802MO | M3x7 |Y-4R | T8 . 328354 110 140
TRS4R19- 20- 150- 2T 20 | 19 |150| 40 | - | 4 | 2 . 328356 100 130
TRS4R19- 20- 200- 2T 20| 19 |200] 40| - | 4 | 2 o 328358 117 145
TRS4R20- 20- 150- 2T 20| 20 |150| 50 | - | 4 | 2 o 328360 100 130
TRS4R20- 20- 200- 2T 20 | 20 |200| 60 |100| 4 | 2 o 328362 117 145
TRS4R25- 20- 250- 2T 20| 25 |250| 60 | - | 4 | 2 . 328364 167 -
TRS4R20- 21- 150- 2T 21| 2015050 | - | 4 | 2 o 328366 100 130
TRS4R20- 21- 200- 2T 21| 20 |200| 60| - | 4 | 2 o 328368 117 145
TRSBRL9- 20- 150- 2T 20 | 19150 40 | = | 5 | 2 . 328370 100 =
TRSBR19- 20- 200- 2T 20| 19 |200] 40| - | 5 | 2 N 328372 117 -
TRSBR20- 20- 150- 2T 20| 20 |150|50 | - | 5 | 2 . 328374 100 130
TRS5R20- 20- 200- 2T 20 | 20 |200| 60 |100| 5 | 2 . 328376 117 145
TRS5R20- 21- 150- 2T 21| 2015050 | - | 5| 2 o 328378 100 -
TRSBR20- 21- 200- 2T 21| 20 |200/ 60| - | 5 | 2 . 328380 117 -
TRSBR20- 25- 150- 2T 25| 2015050 | - | 5| 2 o 328382 117 100
TRS5R20- 25- 200- 2T 25| 2020050 | - | 5| 2 o 328384 127 -
TRS5R24- 25- 150- 2T 25 | 24 |150| 40 | - | 5 | 2 . 328386 117 100
TRS5R24- 25- 200- 2T 25| 24 |200] 40| - | 5 | 2 . 328388 127 -
TRSBR25- 25- 150- 2T 25| 25 |150| 50 | - | 5 | 2 . 328390 117 100
TRS5R25- 25- 200- 2T 25| 25 |200| 60 |115| 5 | 2 Ve 10 . 328392 127 135
TRSBR25- 25- 250- 2T 25| 25250 70 | - | 5 | 2 | ourioremol R ) 328394 167 160
TRS5R32- 25- 300- 2T 25| 3230070 | - | 5| 2 Max 9 . 328396 250 -
TRSBR25- 26- 150- 2T 26 | 25 |150| 50 | - | 5 | 2 . 328398 117 100
TRS5R25- 26- 200- 2T 26 | 25 (200 60 | - | 5 | 2 . 328400 127 135
TRS5R25- 26- 250- 2T 26| 25 |250| 70 | - | 5 | 2 . 328402 167 -
TRS5R25- 30- 150- 2T 30 | 25 |150| 48 | - | 5 | 2 . 328404 127 110
TRS5R25- 30- 200- 2T 30| 25 (20050 | - | 5| 2 . 328406 150 145
TRS5R25- 30- 250- 2T 30| 25 (250 60 | - | 5 | 2 . 328408 183 170
TRS5R32- 35- 150- 3T 35| 32 |150| 50| - | 5| 3 . 328410 183 180
TRS5R32- 35- 200- 3T 35| 3220060 - | 5| 3 . 328412 217 190
TRS5R32- 35- 250- 3T 35| 32 |250| 70| - | 5| 3 . 328414 283 225
TRS5R32- 35- 300- 3T 35| 32/300[70| - | 5| 3 . 328416 333 -
TRS5R32- 35- 350- 3T 35| 3235070 - | 5| 3 . 328418 400 -
TRS5R32- 35- 400- 3T 35| 32]400] 70| - | 5 | 3 o 328420 500 -
TRS6R25- 32- 150- 2T 32 | 25150 50 | - | 6 | 2 o 328422 - 165
TRSBR25- 32- 200- 2T 32| 25|200/ 50| - | 6 | 2 . 328424 - 175
TRS6R25- 32- 250- 2T 32| 2525060 | - | 6 | 2 . 328426 - 190
TRS6R32- 32- 150- 2T 32| 32|10/ 50| - | 6 | 2 . 328428 167 -
TRSBR32 32- 200- 2T 32| 32 (20050 | - | 6| 2 . 328430 217 -
TRS6R32- 32- 250- 2T 32| 32 |250| 60 | - 6 2 | RDMT1204MO | M4x 10 | Y-6R | T15 ° 328432 267 -
TRS6R32- 32- 300- 2T 32| 32|300/ 60| - | 6| 2 . 328434 333 -
TRSBR32- 40- 150- 3T 40| 32 (15050 | - | 6 | 3 . 328436 233 250
TRS6R32- 40- 200- 3T 40| 32 200|550 | - | 6 | 3 o 328438 283 260
TRSBR32- 40- 250- 3T 40| 32 (250 60| - | 6 | 3 . 328440 317 300
TRS6R32- 40- 300- 3T 40 | 32 300 60 | - 6 3 . 328442 417 340

D21



B TRS

i SIS

Roughing Plane finishing Pocketmiling  Slootplungemiing  Shoulder milling ‘Copy milling

Py 15° Using he 51 °ostive ngle lade
R23-R24 - ity o e e e i ios
PO1 - Cone edign, teed igh
Size Insert Canp Screw Weench
Cat. No D d H W T a @ &3 & ) Stock

TRS5R50- 22- 4T 50 | 22 | 50 | 104 | 63 | 5 e (328500

TRS5R63- 22- 4T 63 | 22 | 50 | 104 | 63| 5 e [328502] 200 | 225
TRS5RE0- 27- 6T 80 | 27 | 50 | 12.4 | 7 5 Max 9 e 328504/ 307 | 350
TRS5R100- 32- 6T 100 | 32 | 50 | 144 | 8 5 |RDOTIONMO| Y-5R | \iae 10| T15| o  |328506 483 | 540
TRS5R50- 25.4- 4T 50 | 25.4 | 50 | 104 | 63 | 5 e |328508 167 | -
TRS5R63- 25.4- 4T 63 | 25.4| 50 | 104 | 63| 5 e |328510] 200 | -
TRS6R50- 22- 4T 50 | 22 | 50 | 104 63| 6 e 328512 307 | 200
TRS6R63- 22- 4T 63 | 22 | 50 | 104 | 63| 6 o |328514| 483 | 225
TRS6RE0- 27- 6T 80 | 27 | 50 | 12.4| 7 6 e 328516 1067 | 350
TRS6R100- 32- 6T 100 | 32 | 50 | 144 | 8 6 e |328518| 1333 | 540
TRS6R125- 40- 7T 125 | 40 | 50 | 144 | 14 | & |ROOTI04MOIY-6R| Max10 | TIS | o l3rg550 167 | -
TRS6R160- 40- 8T 160 | 40 | 50 | 144 | 14 | 6 e |328522] 200 | -
TRS6R50- 25.4- 4T 50 | 25.4| 50 | 10.4 | 63 | 6 o 328524 167 | -
TRS6R63- 25.4- 4T 63 | 25.4 | 50 | 10.4 | 63 | & e |328526] 200 | -
TRSBR63- 22- 4T 63 | 22 | 50 | 104 ] 63 | 8 e [328528] 233 | 250
TRS8REO- 27- 5T 80 | 27 | 50 | 124 7 8 |RDOT1606MO| Y-8R | M5x 115| T20 | o |328530 333 | 400
TRSBR100- 32- 6T 100 | 22 | 50 | 144 | 8 8 e |328532| 500 | 600

B TRSM
Corner oRnding nH Ms(TRSM)

Size Screw Wrench
Teeth & Stock
Cat. No D|L|d M Insert Clamp

RDO501R092M04 9 | 15| 45 | ma 2 o 328600 | 320

RD0501R102M05 10 16 | 5.5 M5 2 MS2004 (o} 328602 300

RDO0501R112M05 11| 18| 55 | M5 2 o 328604 | 300

RD0501R122M06 12 18 | 6.5 M6 2 o 328606 300

RD0501R123M06 12 18 | 6.5 M6 3 RD..0501.. - T6 o] 328608 300

RD0501R132M06 13| 18| 6.5 | M6 2 MS2005 o 328610 | 300

RD0501R133M06 13 18 | 6.5 M6 3 o] 328612 300

RD0501R164M08 16 23 | 8.5 M8 4 (o] 328614 350

RD0501R174M08 17 23| 85 M8 4 [} 328616 350

RDO7T1R122M08 12| 23| 85 | M8 2 RD..07TL.. - MS2205 T7 o 328618 | 380

RD0702R162M08 16 23| 85 M8 2 (] 328620 350

RDO702R172M08 17 | 23| 85 | M8 2 ) 328622 | 350

RD0702R173M08 17 23| 85 M8 3 (] 328624 350

RDO702R203M10 20 | 30 | 10.5 | M10 3 ) 328626 | 350

RD0702R213M10 21 30 | 10.5 | M10 3 - ] 328628 350

RD0702R254M12 25| 35 |125| M12| 4 RD..0702.. MS2506 8 o | 328630 | 400

RD0702R255M12 25 35| 12.5 | M12 5 ] 328632 400

RDO702R264M12 26 | 35 | 12.5 | M12 4 o 328634 | 400

RD0702R265M12 26 35 | 12.5 | M12 5 o 328636 400

RDO702R355M16 35| 43| 17 | M16 5 o 328638 | 450

RD0702R356M16 35 43 17 M16 6 [} 328640 450

RDO802R162M08 16 | 23| 85 | M8 2 D 328642 | 150

RD0802R172M08 17 23 | 8.5 M8 2 o 328644 300

RD0802R202M10 20 | 30| 10.5 | M10 2 RDMT0802MO Y-4R MS3007 T8 . 328646 | 150

RD0802R212M10 21 30 | 10.5 | M10 2 [} 328648 300

RD1003R202M10 20 | 30 | 10.5 | M10 2 B 328650 | 300

RD1003R212M10 21 30 | 10.5 | M10 2 (] 328652 300

RD1003R253M12 25 35| 12.5 | M12 3 (o} 328654 300

RD1003R263M12 26 | 35| 12,5 | M12 3 RD..1003.. Y-5R MS3507 T15 o 328656 | 300

RD1003R353M16 35 | 43 17 M16 3 (o} 328658 320

RD1003R354M16 35 43 17 M16 4 [¢] 328660 320

RD10T3R252M12 25 35| 12.5 | M12 2 L] 328662 160

RD10T3R262M12 26 35| 12.5 | M12 2 M3.5X10 o 328664 300

RD10T3R302M16 30 | 40 17 M16 2 RDMT10T3MO Y-5R ' T15 L] 328666 160

I t RD10T3R323M16 32 | 43| 17 | M16 3 M4x9 o 328668 | 320

n Se r RD10T3R353M16 35 | 43 17 M16 3 [ 328670 200

E i 2 /% % Vé Size mm
Cat. oN Order uNber
5|5|5(5|5|5 3 Insert hape D1| S1

RDMWO0501M OEN [ ) [ X ) 5 |1.59 328700
RDMWO0702M OEN ( J e ﬁ\ 7 |2.38 328702
RDHWO0802MOTN ® o0 [ K ) U I 8 [2.38 328704
10T3MOTN LK ) ® w :?BH 10 |3.97 328706
1204MOTN o oo ([ o1 o 12 |4.76 328708
1604MOTN (LI [ ~ 16 [4.76 328710
RDMT0802MOTN ® o0 00000 8 |2.38 328712
0802M OEN () (] m 8 |2.38 328714
10T3MOTN 00060000 . 10 3.97 328716
10T3MOEN ° ° w - 10 |3.97 328718
1204MOTN [ 2K 2K J [ J o1 o1 12 |4.76 328720
1204M OEN () 12 (4.76 328722




Milling rBor nd a€e iMing uGtre

m R200 SANDVIK
caremam)

LA~ A S %
AT KL AT B B

Roughing Flane fmishing Focketmiling Soot plunge miing Copy miling

od
R23-R24 I
PO1
t
Adapter rigding ldde a®dvik, igher cauracy, ropessing atteb ffect. :
Size Insert Screw Wrench
Cat. No D d L 11| a ;‘I‘St-e‘;f Stock
R200- 5R20- 25- 160- 2T 25 | 20 | 160 | - 5 [ 2 e (328800 - 110
R200- 5R24- 25- 150- 2T 25 | 24 | 150 | 40 5 | 2 e (328802 167 | 110
R200- 5R24- 25- 200- 2T 25 | 24 | 200 | 50 5 | 2 | RCOT10T3MO | M3.5x 85 T15 e (328804 183 | 145
R200- 5R25- 25- 150- 2T 25 | 25 | 150 | 50 5 | 2 e [328806| 167 | 110
R200- 5R25- 25- 200- 2T 25 | 25 | 200 | 60 5 | 2 e (328808 183 | 145
R200- 5R25- 25- 250- 2T 25 | 25 | 250 | 70 5 | 2 e (328810 217 =
R200- 5R25- 26- 150- 2T 26 | 25 | 150 | 50 5 | 2 e (328812 167 -
R200- 5R25- 26- 200- 2T 26 | 25 | 200 | 60 5 | 2 e |328814 183 =
R200- 5R25- 26- 250- 2T 26 | 25 | 250 | 70 5 | 2 e [328816| 217 -
R200- 5R25- 30- 150- 2T 30 | 25 | 150 | 48 5 | 2 e (328818 150 =
R200- 5R25- 30- 200- 2T 30 | 25 | 200 | 50 5 | 2 e [328820| 183 -
R200- 5R25- 30- 250- 2T 30 | 25 | 250 | 60 5 | 2 e 328822 217 =
R200- 5R32- 35- 150- 3T 35 | 32 | 150 | 50 5 | 3 e (328824 200 -
R200- 5R32- 35- 200- 3T 35 | 32 | 200 | 60 5 | 3 e [328826| 233 =
R200- 5R32- 35- 250- 3T 35 | 32 | 250 | 70 5 | 3 e [328828| 283 -
R200- 5R32- 35- 300- 3T 35 | 32 | 300 | 70 5 | 3 e [328830 333 =
R200- 5R32- 35- 350- 3T 35 | 32 | 350 | 70 5 | 3 e [328832] 383 -
R200- 6R25- 32- 150- 2T 32 | 25 | 150 | 50 6 | 2 e [328834] 183 | 165
R200- 6R25- 32- 200- 2T 32 | 25 | 200 | 60 6 | 2 e [328836| 200 | 175
R200- 6R25- 32- 250- 2T 32 | 25 | 250 | 70 6 | 2 e (328838 250 | 190
R200- 6R32- 32- 150- 2T 32 | 32 | 150 | 50 6 | 2 e (328840 200 -
R200- 6R32- 32- 200- 2T 32 | 32 | 200 | 60 6 | 2 e [328842 233 =
R200- 6R32- 32- 250- 2T 32 | 32 | 250 | 70 6 | 2 o [328844| 267 -
R200- 6R32- 33- 160- 2T 33 | 32 | 160 | - 6 | 2 o (328846 - 165
R200- 6R32- 33- 200- 2T 33 | 32 | 200 | - 6 | 2 e (328848 - 175
R200- 6R32- 33- 250- 2T 33 | 32 | 250 | - 6 | 2 e (328850 - 190
R200- 6R32- 35- 150- 3T 35 | 32 | 150 | 50 6 | 3 e (328852 200 -
R200- 6R32- 35- 250- 3T 35 | 32 | 250 | 70 6 | 3 e |328856| 283 -
R200- 6R32- 40- 200- 3T 40 | 32 | 200 | 60 6 | 3 e (328858 267 =
R200- 6R32- 40- 250- 3T 40 | 32 | 250 | 70 6 | 3 e (328860 307 -
R200- 6R32- 40- 300- 3T 40 | 32 | 300 | 70 6 | 3 e [328862 350 =
E R200 .
R23-R24 Adapter rigding ldde a®dvik
PO1 High recision, uitable off inihing
Cone edign, tesl igh
Size Insert Clamp Screw Wiench
Stock
Cat. No D d H w T a
R200- 5R50- 22- 4T 50 22 50 | 10.4 | 6.3 5 e (328900, 200 | 200
R200- 5R63- 22- 4T 63 22 50 | 10.4 | 6.3 5 e 328902 240 | 225
R200- 5R80- 27- 6T 80 27 50 | 12.4 7 5 M3.5% 8.5 e 328904 367 | 350
R200- 5R100- 32- 6T 100 | 32 | 50 | 144 | 8 5 |RCOTIOTBMO| Y-5R| uaey 19| T15| e |328906 567 | 540
R200- 5R50- 25.4- 4T 50 | 25.4| 50 | 10.4 | 6.3 5 e 328908 200 -
R200- 5R63- 25.4- 4T 63 | 25.4 | 50 | 10.4| 6.3 5 e 328910 240 =
R200- 6R50- 22- 4T 50 22 50 | 10.4 | 6.3 6 e (328912 200 | 200
R200- 6R63- 22- 4T 63 22 50 | 10.4 | 6.3 6 e 328914 240 | 225
R200- 6R80- 27- 6T 80 27 50 | 12.4 7 6 e 328916 367 | 350
R200- 6R100- 32- 6T 100 | 32 | 50 | 144 | 8 g |RCOTI204MO| Y-6R| M4x10 | T15 | o |328918 567 | 540
R200- 6R50- 25.4- 4T 50 | 25.4 | 50 | 10.4 | 6.3 6 e 328920 200 -
R200- 6R63- 25.4- 4T 63 | 25.4| 50 | 10.4 | 6.3 6 e 328922 240 =
R200- 8R63- 22- 4T 63 22 50 | 10.4 | 6.3 8 e [328924] - 250
R200- 8R80- 27- 6T 80 27 50 | 12.4 7 8 e 328926 - 400
R200- 8R100- 32- 6T 100 | 32 50 | 14.4 8 8 e 328928 - 600
R200- 8R125- 40- 6T 125 | 40 63 | 16.4 9 g |RCOTI1606MO| Y-8R| M5x 12 | T20 | e (328930 - 750
R200- 8R160- 40- 6T 160 | 40 63 | 16.4 9 8 e (328932 - 1150
R200- 8R200- 60- 6T 200 | 60 63 | 25.7 | 14 8 e (328934 - 1600
R200- 10R100- 32- 5T 100 | 32 63 | 14.4 8 10 M5x 12 | T20| e |328936] - 600
R200- 10R125-40-6T | 125 | 40 | 63 | 16.4 | 9o | 10 |RCDT2006MO Y-10R w5 18 | T30 | e [328938 - | 750

D23



R200/KDR

Insert
EEEEEEREE
Order uhber

Cat. oN g H|H @ Insert hape D1 di s1
RCKT10T3MO- PM LA 2K 10 4.0 3.97 329100
10T3MO- KM [ 2K J 10 4.0 3.97 329102

—
10T3MO- WM [ ] [ ] [ ] 10 4.0 3.97 329104
10T3MO [ ] D g 10 4.0 3.97 329106
RCKT1204MO- PM oo 0 Ly 12 4.0 4.76 329110
1204MO- KM L AN J o1 51 f 12 4.0 4.76 329112
1204MO- WM ° ) [ 12 4.0 4.76 329114
1204MO ([ ] 12 4.0 4.76 329116
B KDR

KDR 8und ose utter ab A ' < i
HLNT i AL b I S T

Roughing Focketmiling Sioot plungs miling g Copy miling

o —s

R23-R24 12 !
PO1

The nKe rain an ebsad noobth ides, 2Iof ome cenomic!

L1 d Insert Screw Wrench
L D | Effective | Shank | Blade {} Stock
Cat. No Long |Diameter| length | diameter | number
KDR32Z02A32RN12L200 200 32 40 32 3 U 329200 | 450
[ ]
KDR32Z03A32RN12L250 250 32 40 32 2 RNPJ1204 Max 9 T15 329202 | 500
KDR40Z04A32RN12L200 200 40 -- 32 4 [ 329204 | 500
KDR40Z04A32RN12L250 250 40 -- 32 4 . 329206 | 600
B KDR '/‘
KDR ylindrical illing utter M T o AmT SR T
R23-R24
PO1
Order | Price
Stock
. . Number| (RMB)
Cat. No Long Diameter | Inner hole Face diameter | Blade number Insert
KDR40Z04S16RN12 40 40 16 38 4 ® 329300| 600
KDR50Z04S22RN12 40 50 22 42 4 ® 1329302| 650
KDR50Z05S22RN12 40 50 22 42 5 ® 1329304 | 700
KDR63Z05S22RN12 50 63 22 49 5 e |320306| 750
RNPJ1204

KDR63Z07S22RN12 50 63 22 49 7 ® 1 329308| 800
KDR80Z06S27RN12 50 80 27 60 6 ® 1329310 900
KDR80Z08S27RN12 50 80 27 60 8 ® 329312 1100
KDR100Z07S32RN12 50 100 32 78 7 ® 1329314 | 1200
KDR100Z09S32RN12 50 100 32 78 9 ®  |329316| 1400




Milling rBor nd a€e iMing uGtre

W] i@k

L1 L1

R25- R26

L L
BCF BCFL
CZ
= =
Use f ovadable igh- precison aghining rgeison lade urace. :'U:LTY Topy g
M BCF M BCF off het dged- type Blade urface f mnwex esign, ndaeduces otn nlg he hasp utting dge
BCFL BCFL orf oufr- edge- type Vibration oise.
SiZe IReret Screw Wrench
Cat. No pld|L | ulal=DY DY ©§ & % §
) (€] @)
C20- 10R- 150 20 | 20 (150 | 70 | 30 |2/4 ® (3294001 330 510 580
C20- 10R- 200 20 | 20 |200| 50 | 30 | 2 M35x 9.5 T10 ® 329402 430 - -
ZCEW\T ZCEW\T .5% 9.
C20- 10R- 250 20 | 20 |250 | 50 | 30 | 2 100CE 100SE CPMT080204 | e - ®329404| 530 - -
C25- 10R- 150 20 | 25 |150 | 70 | 30 |2/4 ® 329406 - 510 650
C25- 10R- 200 20 | 25 | 200 | 80 | 30 |2/4 ® 329408 - 560 650
C25- 10R- 250 20 | 25 | 250 |100 | 30 [2/4 ® (329410 - 790 880
C32- 10R- 300 20 | 32 | 300|150 | 30 |2/4 0329412 - 900 980
C20- 1.25R- 150 25 | 25 |150 | 70 | 39 |2/4 ® 329414 = 620 700
C25- 1.25R- 150 25 | 25 | 150 | 100 | 39 |2/4 ® 329416/ 400 790 880
C25-125R-200 | 25 | 32 | 200|100 | 39 [2/4| “SootT | ZTEMT | ceuTososos| Maxo | Tis | (329418 500 | 790 | 880
C25- 1.25R- 250 25 | 32 | 250|150 | 39 |2/4 ® 329420 600 900 980
C32- 1.25R- 300 25 | 32 | 300|150 | 39 |2/4 ® (329422 - 1020 | 1100
C32- 15R- 160 30 | 32 |160 | 70 | 43 |2/4 ® 329424 460 730 800
C32- 15R- 200 30 | 32 | 200|100 | 43 |2/4 M5x 12 20 ® 329426/ 560 850 950
ZCEW\T ZCEW\T
C32- 15R- 250 30 | 32 250 |150 | 43 [2/4] ‘GO0 | “ieg | cemmososos| NS 0 1320428 700 | 960 | 1050
C32- 15R- 300 30 | 32 | 300|150 | 43 [2/4 ® (329430, 830 1100 | 1150
C32- 15R- 350 30 | 32 | 350|200 | 43 |2/4 ® (329432 - 1300 | 1400
C32- 16R- 160 32 | 32 |160 | 70 | 43 |2/4 ® 329434 - 740 800
C32- 16R- 200 32 | 32 | 200 (100 | 43 |2/4 M5x 12 30 ®(329436| - 850 950
ZCEW ZCEW
C32- 16R- 250 32 | 32 | 250|150 | 43 |2/4 160CE 160SE CPMT090308 Max 9 T15 ® 329438 - 960 1050
C32- 16R- 300 32 | 32 | 300|150 | 43 |2/4 ® (329440 - 1100 | 1150
C32- 16R- 350 32 | 32 |350 |200 | 43 [2/4 ® 329442 - 1300 | 1400
C42- 20R- 200 40 | 42 | 200|100 | 50 |2/4 ® (329444 - 1130 | 1250
C42- 20R- 250 40 | 42 | 250 | 150 | 50 (2/4 ® 329446 - 1240 | 1350
C42- 20R- 300 40 | 42 | 300|150 | 50 |2/4| zcew ZCEW M6x 18 T30 |®(329448 - 1350 | 1450
CPMT090308
C42- 20R- 350 40 | 42 | 350|200 | 50 [2/4| ?200CE 200SE M4x 9 Ti5 | (329450, - 1470 | 1560
MT5- 20R- 200 40 |MT5|200 | 100 | 50 |2/4 ® (329452 - 1240 | 1350
MT5- 20R- 250 40 |[MT5|250 | 150 | 50 [2/4 ® (329454 - 1350 | 1450
C50.8- 25R- 200 50 |50.8/200 |100 | 50 |2/4 ® 329456 - 1300 | 1400
C50.8- 25R- 250 50 |50.8|250 | 150 | 50 |2/4 ® 329458 - 1410 | 1500
C50.8- 25R- 300 50 |50.8|300 | 150 | 50 |2/4 _— SeEw M6x 18 T30 ® (329460 - 1520 | 1600
C50.8- 25R- 350 50 |50.8|350 | 200 | 50 |2/4| ,5oce 250SE CPMT090308 Max 9 Ti5 ® 329462 = 1700 | 1800
C50.8- 25R- 400 50 |50.8|400 | 200 | 50 |2/4 ® (329464 - 2030 | 2150
MT5- 25R- 200 50 [MT5|200 (100 | 50 |2/4 ® 329466 - 1520 | 1600
MT5- 25R- 250 50 |[MT5|250 |150 | 50 |2/4 ® (329468 - 1700 | 1800
Insert
% E g 9 !B 9 Size m m
Cat. oN 2 P Ib'\ I\|;\| Insert hape R A B T Order uhiber
ZCET O0DOCE [ A T 10 18.3 10 4.74 329500
125CE [ ] y 12.5 23.1 12.3 6.1 329502
50CE 1 [ ] \ 7 F\’LN 15 28.3 14.9 7.59 329504
160CE [ ] \) o 16 28.8 15.4 7.45 329506
ZCEW100CE [ [ [ J [ ] R 10 18.3 10 4.74 329508
125CE [ ] [} [ [ J 12.5 23.1 12.3 6.1 329510
150CE [ ] [ ] [ J [ ] 15 28.3 14.9 7.59 329512
200CE ([ ] [ [} (] A o 20 35.4 20.1 8.0 329514
ZCET 100SE ° [ 10 16.7 8.1 4.24 329516
125SE [} \ *;h‘ 12.5 20.8 9.3 5.4 329518
150SE ° iea o P 15 257 | 11.8 | 7.09 329520
160SE ) N 2 16 26.3 12.4 6.96 329522
ZCEW100SE [ [ o o 10 16.7 8.1 4.24 329524
125SE [ ) [ ) [ ) [ ) u° T 12.5 20.8 9.3 5.4 329526
150SE [ [ [ [ 15 25.7 11.8 7.09 329528
200SE [ ) [ ] [ [ J 20 31.9 15.7 7.0 329530
CPMTO080204 [} [} [ ] [ 0.4 7.94 7.94 2.38 329532
090308 [} [ J oo o 11° 0.8 9.525 | 9.525 3.18 329534

D25



L FiEN
R25- R26
al .
o

PO1
a

E=
Sy

od

L1

Use fovailable igh-precision auhining recision ldde usface.
Blade usface foorvex edign, nd educes ot nlg he harp utting dge
Vibration orse.

L D d L1
Cat. No Long | Diameter R dil::gtl;, Eg?,(;tlxe Thbelarg:in Side blade Pel;ilgz?al Piﬂﬁgﬁzal shg?eir‘:v C)sLétrsei‘(:lve
SWBML2535S25 220 25 | 125 25 70 329600 800
SWBM2535S32 200 25 |125| 32 100 | SWB225HM | SWB225HS | ZCMT100308R 35 DSW- 4085 | ESW- 206 | 329602 900
SWBL2535S32 250 25 | 12.5 32 110 329604 1000
SWBS3040S32 200 30 15 32 120 329606 1100
SWBM3040S32 250 30 15 32 150 329608 1250
SWBL3040S32 300 30 15 32 200 329610 1450
SWB230HM | SWB230HS IM- SP32GS 41 DSW-509 | CSW- 407
SWBE3040S32 350 30 15 32 200 329612 1650
SWB30080MT4 30 15 Mt4 80 329614 1300
SWB30120MT4 30 15 Mt4 120 329616 1500
SWBS4050S42 200 40 20 42 120 329618 1350
SWBM4050S42 250 40 20 42 150 329620 1500
SWBL4050S42 300 40 | 20 42 200 | SWB240HMN| SWB240HSN SPGA090304 50 | TSW-614H | ESW- 406 | 329622 1700
SWBE4050S42 350 40 20 42 200 SPMAQ90304 329624 1900
SWB40090MT5 40 20 Mt4 90 329626 1600
SWBS5080C508 200 50 25 50.8 120 329628 1750
SWBM5080C508 250 50 25 50.8 170 329630 2100
SWBL5080C508 300 50 25 50.8 220 329632 2500
SWB50100MT5 50 25 Mt5 100 |SWB250HMNL SWB250HSNL| IM- SP43GS 80 HSW- 614H| CSW-510 | 329634 2300
SWB50120MT5 50 25 Mt5 120 329636 2500
SWB50150MT5 50 25 Mt5 150 329638 2700
SWB50170MT5 50 25 MT5 170 329640 3000




Milling rBor nd a€e iMing uGtre

0.015mm

S KT AN

o I I Fone g Topymiling
[ J

L1
L
wy
The ldde ounting usface V" ype edign, ake nstall ore okd. R
R piral labe edign, ast, meoth utting, achining usface oughness ab aarantee.
Blade hmough pecial ropessing, ave xeellent esistance otrash achage.
Size Insert Screw Wrench
k
Cat. No D|d|L|LL|a Stoe
ABPF4R10- 110 8 10 | 110 | 36 5 | ZPFG80(- G)/ZDFG80- W 4R T8 ° 329700 400
ABPF5R10- 160 10 10 | 160 | 40 7 ZPFG100(- G) . 329702 480
5R T10
ABPF5R12- 160 10 12 | 160 | 50 7 ZDFG100- W L4 329704 560
ABPF6R12- 160 12 12 | 160 | 45 8 |ZPFG120(- G)/ZDFG120- W 6R T20 ] 329706 500
ABPF8R16- 200 16 16 | 200 | 80 10 |ZPFG160(- G)/ZDFG160- W 8R T20 . 329708 560
ABPF10R20- 200 20 20 | 200 | 65 | 12.5|ZPFG200(- G)/ZDFG200- W 10R T25 L] 329710 680
ABPF12.5R25- 200 25 25 | 200 | 80 15 |ZPFG250(- G)/ZDFG250- W 12.5R T30 L] 329712 800
B BNM 0.015mm
-l R B F i T
S Frana ST Capy miling
o [
|
a
R25- R26 L1 L
PO1
cat. N L - R Shank | Effective | Equipped Clamp Stock
Bl O eing lameter diameter | length blade screw
BNML- 100075T- S12 132 10 ) 12 75 BNM- 100 | FSW-3007H . 329800 = 240
BNML- 120085T- S16 145 12 6 16 85 (] 329802 - 260
BNML C12- 6R-130- 1T 130 12 6 12 40 BNM- 120 FSW- 3509 L 329804 135 -
BNML C12- 6R-150- 1T 150 12 6 12 50 L] 329806 135 -
BNML- 160100T- S20 166 16 8 20 100 [ 329808 - 300
BNML C16- 8R- 150- 1T 150 16 8 16 50 BNM- 160 FSW- 4013 (] 329810 170 -
BNML C16- 8R-200- 1T 200 16 8 16 60 [ 329812 200 -
BNML- 200115T- S25 191 20 10 25 115 ] 329814 - 485
BNML C20- 10R- 150- 1T 150 20 10 20 50 ) 329816 170 -
BNM- 200 FSW- 5016
BNML C20- 10R- 200- 1T 200 20 10 20 60 (] 329818 200 -
BNML C25- 10R- 250- 1T 250 20 10 25 60 . 329820 235 -
BNML C25-12.5R-150- 1T 150 25 12.5 12.5 45 ] 329822 200 -
BNML C25- 12.5R- 200- 1T 200 25 12.5 12.5 55 BNM- 250 FSW- 6020 . 329824 235 -
BNML C25- 12.5R- 250- 1T 250 25 12.5 12.5 60 . 329826 270 -
BNMM- 300106T- S32 186 30 15 32 106 . 329828 - 1000
BNM- -
BNML- 300160T- S32 240 30 15 32 160 M- 300 FSW- 8025 . 329830 - 1100

D27



B 72139

0.015mm

®d

WALTER

BT
g] j ,,f<| . H i)

L

R25- R26

High- performance llay trsctural tesl.
Blade utting dge harp, arc rgcess ifterent aterials.
Precision ot nsure tsi igh- performance, igh-speed utting silso table.

Size
Cat. No D d 1 T a Insert Screw Wrench Stock
T 239C08- 4R- 110 8 8 110 25 4 e [329900] - 195
T 239C10- 4R- 100 8 10 100 25 4 T2139 e (329902 100 | 195
T 439C12- 4R- 130 8 12 130 40 4 P320 D & 4R T8 e (329904| 100 | 220
T 239C16- 4R- 150 8 16 150 40 4 e (329906 127 =
T 439C10- 5R- 120 10 10 120 30 5 I e (329908 100 160
T 239C12- 5R- 150 10 12 150 40 5 P320 M Q SR T15 e [329910/ 100 | 180
T 239C16- 5R- 150 10 16 150 40 5 e (329912 127 -
T 239C12- 6R- 130 12 12 120 40 6 e 329914/ 100 | 160
T 239C12- 6R- 150 12 12 150 50 6 P320 O 2 T2139 120 e (329916 100 180
T 239C16- 6R- 150 12 16 150 50 6 6R e (329918 127 -
T 239C16- 6R- 200 12 16 200 50 6 e 329920/ 150 -
T 239C16- 8R- 150 16 16 150 50 8 e 329922 133 | 185
T 239C16- 8R- 200 16 16 200 60 8 P320 D & T2139 120 e (329924 167 | 240
T 239C20- 8R- 200 16 20 200 60 8 8R e (329926 200 -
T 239C25- 8R- 250 16 25 250 60 8 e (329928 233 -
T 239C20- 10R- 150 20 20 150 50 10 e |329930| 167 | 260
T 239C20- 10R- 200 20 20 200 60 10 P320 (D @ T2139 T20 e (329932 200 320
T 239C25- 10R- 250 20 25 250 60 10 10R e 329934 233 | 360
T 239C32- 10R- 300 20 32 300 60 10 e (329936 267 -
T 239C25- 12. B 150 25 25 150 45 12.5 e 329938/ 200 | 520
T 239C25- 12. B 200 25 25 200 55 12.5 e [329940| 233 | 580
T 239C25- 12. & 250 25 25 | 250 | 60 | 12.5 |P320 ™ 2 Iglg’s T30 | o [329942 267 | -
T 239C25- 12. B 300 25 32 300 60 12.5 : e (329944 300 -
T 239C32- 12. B 200 25 32 200 98 12.5 e [329946| - 630
T 239C32- 12. B 250 25 32 250 120 12.5 e [320948] - 690
T 239C32- 12. B 300 25 32 300 60 12.5 e (329950 333 -
T 239C32- 15R- 150 30 32 150 45 15 e (329952 217 -
T 239C32- 15R- 200 30 32 200 55 15 T2139 e [329954| 250 | 750
T 239C32- 15R- 250 30 32 250 60 15 |P320 D> @ 15R T30 | o (329956 283 -
T 239C32- 15R- 300 30 32 300 60 15 e (329958 317 -
T 239C32- 15R- 350 30 32 350 60 15 e (329960 367 -
T 239C40- 15R- 250 30 40 250 121 15 e (329962 - 830
T 239C32- 16R- 150 32 32 150 45 16 e 329964 217 -
T 239C32- 16R- 200 32 32 200 55 16 e |329966| 250 | 800
T 239C32- 16R- 250 32 32 250 60 16 12139 e (329968 283 -
T 239C32- 16R- 300 32 32 300 60 16 |P320 ™ 3 16R T30 e |329970| 317 -
T 239C32- 16R- 350 32 32 350 60 16 e 329972 367 -
T 239C40- 16R- 250 32 40 250 121 16 e 329974 - 920
T 239C40- 16R- 350 32 40 350 121 16 e [320976] - 1400
|

M Cutting bdity nd recision r@ ogd, het ow foutcs iogd, igh-speed utting tability, n& as ddewamge foppmlications.
Can eb palied otbaasive aterials sed niinfshing nd he anufacture foag urbine lddes.

H T2139M
Ball reRision u€ters TZ139M)

HET Gl 1 %ni

e mshing g Copy miling

R25- R26
PO1
WALTER
Size Screw Wrench
Teeth Stock
Cat. No D L d M Insert
T139M6R- M6 12 35 6.5 M6 1 P 3200- D 12 T2139- 6R T20 o 331100 250
T139M8R- M8 16 35 8.5 M8 1 P 32000- D 16 T2139- 8R T20 ° 331102 250
T139M10R- M10 20 35 10.5 | M10 1 P 32000- D 20 T2139- 10R T20 . 331104 300
T139M12.5R- M12 25 40 125 | M12 1 P 32000- D 25 T2139- 12.5R T30 . 331106 350
T139M15R- M16 0 3 40 17 M16 1 P 3200- D 30 T2139- 15R T30 . 331108 450
T139M16R- M16 2 3 40 17 M16 1 P 32000- D 32 T2139- 16R T30 ° 331110 450




Milling nd aEe IiMing uCtre

W ASJ-4P HITACHI [an] @ <

HLNT 4
R16 '
P01 —
t od Bottom- free tate roin rdling ot iting recess.
L At het nd folabde dge nale foregter esistance otight rogessing.
Four- edge ldre, ocheé edp ough iling.
Size Insert Screw Wrench
- Stock
Cat. No D d L L1 L2 a @ E @ E & %
ASJ16- 17- 160- 4T 17 16 160 40 - 16 |ADMT080308L APMT09208R| M2.5x 6/M2x 5 T8/T6 e 332400 175
ASJ20- 20- 160- 4T 20 20 160 40 - 20 e 332402, 200
ASJ20- 20- 200- 4T 20 20 200 40 - 20 ADMT10030 0 L M2.5% 6 T8 (] 332404 215
ASJ20- 21- 160- 4T 21 20 160 85 - 20 ACMT10030 O L ’ e 332406/ 200
ASJ20- 21- 200- 4T 21 20 200 35 - 20 e 332408 215
ASJ25- 25- 160- 4T 25 25 160 50 - 25 ® 332410, 230
ASJ25- 25- 200- 4T 25 25 200 75 - 25 ® 332412 250
ASJ25- 25- 250- 4T 25 25 250 75 - 25 ADMT12T30 O L M3.5x 7 T10 ® 332414, 270
ASJ25- 26- 160- 4T 26 25 160 50 - 25 APMT12T30 O L ’ (] 332416 230
ASJ25- 26- 200- 4T 26 25 200 50 - 25 ® 332418 250
ASJ25- 26- 250- 4T 26 25 250 50 - 25 ® 1332420, 270
ASJ25- 30- 160- 4T 30 25 160 80 - 25 ® 332422, 240
ASJ25- 30- 200- 4T 30 25 200 80 - 25 (] 332424) 260
ASJ32- 30- 250- 4T 30 25 250 80 - 25 ® 332426/ 280
ASJ32- 33- 160- 4T 33 32 160 80 - 32 . 332428 250
ASJ32- 33- 200- 4T 33 32 200 90 - 32 ® 1332430| 275
ASJ32- 33- 250- 4T 33 32 250 | 120 - 32 APMT160401 0 L Mdx 9 Ti5 ® 1332432 300
ASJ32- 35- 160- 4T 35 32 160 80 - 32 APMT15040 0 L ® 1332434 250
ASJ32- 35- 200- 4T 35 32 200 90 - 32 ° 332436| 275
ASJ32- 35- 250- 4T 85 32 250 | 120 - 32 ® 332438 300
ASJ32- 35- 300- 4T 35 32 300 | 120 - 32 ® 1332440 330
ASJ32- 35- 350- 4T 35 32 350 | 120 = 32 ® 1332442 375
ASJ32- 35- 400- 4T 35 32 400 | 120 - 32 ® 1332444 400
Insert
- Cat. oN O>wo | Oueo | O>—oaT Insert hape A ST|ze 2] m R m Order uhber
ADMT080308L ° ° [ 78 | 6.2 | 3.0 | 15 | 0.8 332500
00308L 1 (] [} [} 10.4 | 6.35 | 3.18 15 0.8 332502
2T308L [ (] [J 12.6 | 7.93 | 3.9 15 0.8 332504
APMT160408L ) ) ) 16.45| 9.53 | 4.76 | 11 | 0.8 332506
70408L 1 (] ] [} 17.6 | 9.53 | 4.76 11 0.8 332508
90508L 1 o o [ ] 19.6 10 5.0 11 0.8 332510
50508L 2 [ J [ J [ J 25.4 11 5.5 11 0.8 332512
APMT090208R [ ] (] [ ] 8 T 9.1 51 2.6 11 0.8 332514
ACMT100308R [} [ ] [ ] .T_T 10.1 | 6.35 | 3.4 7 0.8 332516
APMT12T308R [ ] (] [ ] ﬁ% “ E‘ie 13.14| 7.93 | 3.9 11 0.8 332518
50408R 1 ° ° ) R 15.88| 9.53 | 4.76 | 11 | 0.8 332520
[ | [\
i 1
R16 Roughing Copy milling Di o
- L1
A13 I L \
P01
-
Size "
cat. No D D1 1 m . Ng— Insert Screw Wrench | Stoc
CH- 8- 14-C25 14 2.9 25 21 108 1 e 332600, 200
CH- 10- 17.5- C25 17.5 5.3 25 26 115 2 e 332602 200
CH- 12- 20-C25 20 | 7.8 | 25 | 30 | 120 o | CCMT060204|  M2.5x 6 8 e (332604 200
CH- 14- 23- C25 23 10.8 25 34.5 126 2 ® 332606 250
CH- 16- 26- C32 26 8.5 32 39 132 2 ® 332608 250
CH- 18- 29- C32 29 11.5 32 43.5 139 2 CCMTO09T308 M4x 9 T15 e 332610, 300
CH- 20- 32- C32 32 14.5 32 59 144 2 e 332612 300

D29



ASJ/TJU

"V HITACHI

R16
PO1

M T . AT

Roughing Focketmiling Slootplunge miling  Shoulder milling "Copy milling

[ —
annd K7 »
B

1

Gl
al — S | IS
el | % Drilling nd ilting hared ide

i‘ scope foppglication.
L1 . Cutting esistance, het odd ight.
Size Insert Screw Wrench
Cat. No D d L L1 L2 a ’;‘lzteosf Stock
TJUO08- 08- 100- 1T 8 8 100 30 - 6 1 e [332700] - 90
TIU10- 10- 100- 1T 10 | 10 | 100 | 25 | - 6 | 1 ggm ggg;gjz M25x 6| T8 o [332702 67 90
TJU12- 12-130- 1T 12 12 130 30 - 6 1 e [332704| 67 95
TJU16- 16- 120- 2T 16 16 120 40 - 6 2 ° 332706/ 93 110
TJUl6- 16- 150- 2T 16 16 150 50 - 6 2 ° 332708, 93 120
TJU16- 16- 200- 2T 16 16 200 60 100 6 2 ° 332710 110 150
TJU25- 16- 250- 2T 16 25 250 60 - 6 2 ° 332712 167 -
TJU16- 17- 120- 2T 17 16 120 40 - 6 2 e (332714 93 -
TJUl6- 17- 150- 2T 17 16 150 50 100 6 2 ° 332716/ 93 120
TJU16- 17- 200- 2T 17 16 200 60 100 6 2 ggm;gggsgjz mggz g T8 T15 e (332718 110 150
TJU20- 20- 120- 2T 20 20 120 40 - 6 2 : ° 332720| 107 -
TJU20- 20- 150- 2T 20 20 150 50 - 6 2 ° 332722 107 140
TJU20- 20- 200- 2T 20 20 200 60 100 6 2 ° 332724 127 150
TJU25- 20- 250- 2T 20 25 250 60 - 6 2 ° 332726| 200 -
TJU20- 21- 150- 2T 21 20 150 40 100 6 2 [} 332728| 107 140
TJU20- 21- 200- 2T 21 20 200 50 = 6 2 [} 332730 127 -
TJU25- 25- 150- 2T 25 25 150 50 - 9 2 e [332732] 133 160
TJU25- 25- 200- 2T 25 25 200 60 — 9 2 o 332734| 160 180
TJU25- 25- 250- 2T 25 25 250 70 115 9 2 o 332736| 200 195
TIU32- 25- 300- 2T 25 | 32 | 300 | 70 | - 9 | 2 ggm ggggggz Max 9 | Tis o |332738] 300 -
TJU25- 26- 150- 2T 26 25 150 50 - 9 2 ° 332740] 133 160
TJU25- 26- 200- 2T 26 25 200 60 115 9 2 ° 332742 160 180
TJU25- 26- 250- 2T 26 25 250 60 - 9 2 e [332744] 200 -
TJU32- 32- 150- 2T 32 32 150 60 - 12 2 ° 332746| 200 200
TJU32- 32- 200- 2T 32 32 200 60 - 12 2 CPMT 120408 ° 332748 227 210
TJU32- 32- 250- 2T 32 32 250 60 - 12 2 CPMT 1604087 M5x 12 T20 o 332750| 267 220
TJU32- 32- 300- 2T 32 32 300 60 165 12 2 ° 332752| 333 250
TJU32- 32- 350- 2T 32 35 350 60 215 12 2 ° 332754| 400 -
B TIJUM

Boring &illMg uCter(TJUM)

[—
HLT HWANT A I B E T

R16 Revghing Fometmiig ~  Soctpngemiing Shoutdermiing Copy miling
PO1
Size Screw Wrench
Teeth
Cat. No D L d M Insert

TIJUM162M08 16 35 | 85 M8 2 CPMT0805042 M2.5X6 T8 e | 332800 | 150

TJUM202M10 20 35 | 105 M10 2 CoMToeo04z  |M2.5X6/M3.5X8|  T8/T15 ° 332802 | 150

TIUM252M12 25 40 | 125 | m12 2 ST 1305087 M4X9 T15 . 332804 | 160

TIJUM322M16 32 40 17 M16 2 M2, M5X12 T20 . 332806 | 200

HITACHI
Insert
2 E 8 9 3 2 Size mm
Cat. oN ) a %)( %.‘ M| m Insert hape D S1 9 R Order uhiber

CCMT060204 [ BN ) { BN J g0 S1 6.35 2.38 7 0.4 332900

CPMT090308 o0 e o |0 9525 | 3.18 | 11 | 0.8 332902
120408 oo o o0 127 | 476 | 11 | 0.8 332904

)

CPMT080204Z o0 o0 b 1 s . 794 | 238 | 11 |04 332906
0902047 o0 AN ) 9525 | 238 | 11 | 0.4 332908
1203082 ) ( 127 | 318 | 11 | 0.8 332910
1604082 o0 o0 R ) 15.875 | 4.76 | 11 | 0.8 332012




Milling rBor nd a€e iMing uGtre

u F —\ )
A19- A20 of e e D e -'
PO1 - vé :if% ‘ 1 ane miing
\ L3 L2 L1
No eed off everse umning fopiads hdt immmizes etect f ool.
Specially edigned oldy iv@s awrimum igidity.
Size
Insert Screw Wrench Stock
Cat. No D d C L1 L2 L3 E
BC- 2014 20 14 16 48 40 13 3.2 °
BC- 2317 23 17 20 50 50 13 3.2 TCMT110204 M2.5% 6.5 T8 o
BC- 2721 27 21 25 56 70 13 3.2 TCGT110204 ' ' L4
BC- 3124 31 24 25 56 80 13 3.7 o
B BMC/MC L Fﬂ ’{ j
T Bl AT
d N [ )
PO1 L _ B
A riety fongles, pplicable ole abk nd he dge hamfer, educe esondary lamping, ime ffecient!
Size
Insert Screw Wrench Stock
Cat. No d A D L
BMCO09- 3015D- C20- 150 30 15 20 150 hd 333200 350
BMC09- 3030D- C20- 150 30 30 20 150 [ 333202 350
BMCO09- 3045D- C20- 150 30 45 20 150 ° 333204 400
BMC09- 3060D- C20- 150 30 60 20 150 (] 333206 400
MCO09- 1215D- C20- 135 12 15 20 135 SDMT090308 M4x9 10 4 333208 300
MC09- 1230D- C20- 135 12 30 20 135 . 333210 300
MCO09- 1245D- C20- 135 12 45 20 135 [ 333212 350
MC09- 1260D- C20- 135 12 60 20 135 [ 333214 350
. MITSUBISH] =<
AMITSUBISHI AWIERIALS 'R I -
P D14 T [d Plane miling
A19- A20 v S
P01 L
Size Stock
Cat. No D D1 d L No. offlutes | Angle Insert Screw Wrench
TC12 25 5 12 110 o
TC40 40 20 12 100 1 45 TCMT16T304 M4x 9 T15 °
TCO03- 25 25 3 20 110 °
B TP30 459 60° T/ . @ ﬂ @
al —
=3 L =" - *7'7H7'* Jg LUIIR LU 5190 12 SN T
D11 \
o L2
PO1 = L
30°45°60° Can eb03 ° 5 40 Butting, arc ebhamfered.
Milling aohine orf awchining enters nd egeral seau
Size Insert Clamp Screw Wrench
Stock
Cat. No a2 | D ld1 | d | L | L2 |Noofflutes Q D & /
TP16R30C20- 1035 30 | 35| 10 | 20 | 120 90 2 . 333400/ 200
TP16R45C16- 0521 45 | 21 5 16 | 120 | 90 1 TPMN160308| TP- 16 1/4 L4 o 333402| 200
TP16R45C20- 1031 45| 31| 10 | 20 | 120| 90 2 o 333404/ 200
TP22R45C25- 2050 45 | 50 | 20 | 25 | 130 90 3 o 333406| 250
TP22R45C32- 2050 45 | 50 | 20 | 32 |160| 90 3 TPMN220408| TP-22 |5/16 L5 o 333408] 250
TP22R45C32- 3263 45 | 63 | 35 | 32 |160]| 90 3 ° 333410[ 300
TP16R60C20- 1024 60 | 24 | 10 | 20 |120| 90 1 TPMN160308| TP-16 1/4 L4 o 333412| 200
TP22R60C20- 2035 60 | 35| 20 | 20 |120] 90 1 TPMN220408| TP-22 |5/16 L5 ° 333414 250
Size m m
Cat. oN e e e e Insert hape d S1 | cup mer | Order umiber
TPKN1603PDR [ J [ J [ J \7 9.525 3.18 (without) 333500
TPMN1603PDR [ ] [ ] [ ] 9.525 3.18 (without) 333502
TPKN2204PDR o o o . 12.7 4.76 (without) 333504
TPMN220408 ° 12.7 4.76 (without) 333506

D31



o TS
Member MC  Bup
-
PO1 ‘ 4
For ntérnal nda xeernal hamfering rgcessing, na groove.
Blade hape sigsare, saindexable odr imes are cenomical.
Size Screw Wrench
Insert Stock
Cat. No D d L L1 a No. of flutes
SD20- 25- 110- 2T 25 20 | 110 | 40 4.6 2 e 333600, 150 150
SD20- 25- 150- 2T 25 20 | 150 | 45 4.6 2 . 333602 - 150
SD20- 30- 110- 2T 30 20 | 110 | 40 4.6 2 (] 333604 - 200
SD20- 30- 150- 2T 30 20 | 150 | 45 4.6 2 ° 333606 - 200
SD25- 30- 150- 2T 30 25 | 150 | 40 4.6 2 SDMB26152 M3x 7 T10 . 333608 160 -
SD25- 45- 150- 2T 45 25 150 40 4.6 2 o 333610 210 -
SD3/4- 25- 110- 2T 25 |19.05| 110 | 40 4.6 2 o 333612 - 150
SD3/4- 30- 110- 2T 30 |19.05/ 110 | 40 4.6 2 L4 333614 - 200
W SSK45° A — d' m
— 0 1y AT
D15 }:49 . ‘
PO1 - 45 ° v
- CNC CNC
This utter ar eb 54 °utting, hamfering ao eb ode.
Suitable orf emeral ilimg awvhine, ntégrated aunhining enter.
Size 5 Screw Wrench
- Stock
Cat. No D d L No.offlutes |Chamfering range| Angle Insert
SSK20- 20- 130 20 20 130 | ®3~-920 1 45 |ADNT160308| M4x 8 T15 [ 333700, 130 130
W SSP45° Toig W “l @
T\@
a - 5t B AT
A19- A20 - L
PO1 - 45 ° \
- CNC CNC
This utter am eb 54 °utting, hamfering an ebode, rogve utiing, rilling ay ebhe sa foemtral ocation

Suitable orf emeral illimg awvhine, NC ifing awhines,CNC athes, rilting hamfering

Size ? Screw Wrench
No.of | Ch amf elr,i Stock
Cat. No D| d [D1] a | L1 | L |fees| ran oa Andld| insert & }
SSP20- 20- 130 20| 20 0 |11.3] 20 | 130 1 |®0~d20| 45 |TCMT16T308.| M4x 9 T15 [ 333800] 130 150

—
- e S
Al3- Al4 o "L 5—?31*:; 77777 ij -l
P 0 1 A ‘ - oughing lane milling
LS‘ L2 L1 e
-
Size
Insert Screw Wrench Stock
Cat. No D d C L1 L2 L3 E
M10- 1810 18 | 10.5| 16 48 35 13 4 CCMT060204 M2.5x 6.5 T8 e 333900/ 200
M12- 2013 20 13 16 48 10 13 | 3.85| CCGT060204 ) ) e [333902] 200
M16- 2617 26 17 20 50 50 13 | 4.85 e 333904/, 300
M20- 3321 33 21 25 56 70 13 6.4 ggglgg;ggg M4x 9 T15 e 333906/ 300
M24- 4025 40 25 25 56 80 13 7.9 ® 333908 300

B DBG IT 3C SNNN
DBG iigh ight hamfering utter i e snmn | st

&

Roughing Fiane milng Copy milling

Suitable orf igh lass hamfering TI G ndustry, nder het
same nKe hamfer,improve fféciency, ncrease tability.

& o The thickne"s’lsaé,tm Stock -
Cat. No Clamp Handle | On the chamfer A | A lower chamfer B products Max, w
A DBG66- 15DEG- BT30 BT30 15 15 85 . 334100 6000
DBG66- 30DEG- BT30 BT30 30 30 9 . 334102 6000
DBG66- 45DEG- BT30 BT30 45 45 9.5 . 334104 6000
DBG66- 60DEG- BT30 BT30 60 60 105 . 334106 6000
DBG66- 15DEG- 1S020 1SO 20 15 15 85 . 334108 7000
li W  DBG66- 30DEG- 1S020 1SO 20 30 30 9 . 334110 7000
‘ DBG66- 45DEG- 1S020 1SO 20 45 45 95 . 334112 7000
>\ DBG66- 60DEG- 1S020 1SO 20 60 60 105 . 334114 7000
}__/ B DBG66- 15DEG- C10 10 15 15 85 . 334116 5000
DBG66- 30DEG- C10 10 30 30 9 . 334118 5000
D DBG66- 45DEG- C10 10 45 45 9.5 . 334120 5000
d—y DBG66- 60DEG- C10 10 60 60 105 . 334122 5000




Milling

HBTR
BTR ntegral ype

rAor nA

anze ough

ake

iMing

uctre

ming ucter

AVAUAW|
HUNT . AW £l 1
L
]
R16 The verall triscture, utting ebter igidity! —
PO1 A aviety foutting ergth, lexible hoice. -
Size
Stock
Cat. No D L1 L Insert Clamp ceew | wrench
BT40- APC40- 60 40 60 107 . 334200| 3200
BT40- APC50- 70 50 70 117 . 334202| 3600
BT50- APC50- 70 50 70 138 . 334204 4300
APKT1604 M4 15
BT50- APC63- 85 63 85 153 . 334206| 5500
BT50- APC80- 120 80 120 188 . 334208| 6500
BT50- APC100- 150 100 150 203 . 334210| 8500
334212
BT40- SPC40- 60 40 60 107 . 334214 3200
BT40- SPC50- 60 50 60 117 . 334216 3600
LPMT1504
BT50- SPC50- 60 50 60 138 0 . 334218 4300
M5
BT50- SPC63- 80 63 80 153 SPMT1204 . 334220 5500
BT50- SPC80- 120 80 120 188 . 334222| 6500
BT50- SPC80- 150 80 150 203 334224

" APC | T
m AL niiml | | & vitisnT
-
R16 hd
PO1 High- performance- based ough ilting, eep ole an ebrgcessed.
Arbor ize an ebrhitrarily hange he egth foawimum féiciency.
Size Screw Wrench
Cat. No D
APC- 50- 22- 45L 50 L 334300| 2200
APC- 63- 25.4- 45L 63 25.4 M4 T15 . 334302| 2800
APC- 62- 25.4- 68L 63 25.4 Ld 334304| 3000
m SPC | &
A
WALTER oo |\ %
d -
R16 <
PO1 High- performance- based ough iling, eep ol an ebrgcessed.
Arbor ize an eb rhitrarily hange he egdth foawimum féiciency.
Size nsert Screw Wrench | Stock
Cat. No D d A H T T T
SPC- 80- 31.75- 80L 80 31.75 67 80 6 L 334400
SPC- 80- 32 80L 80 | 32 | 67 | 80 | 6 |-PMTI504) 3 |SPMTI204) 18 |  MS 120 o |334402| 3200
SPC- 100- 40- 100L 100 40 77 100 8 LPMT1504 SPMT1204| 24 M5 T20 L4 334404| 4500

D33



B APK
y Py '
— -
HIDIT 1. AT AW I

Roughing Focket miling STootprange miing g Copy miling

a kel
LA = 1
High- performance- based ough illing, eeb ole an ebrgcessed. “—’ L ‘
Arbor ize an eb rlaitrarily hange he¢ egdth foawimum féiciency.
Size Insert Screw Wrench
Cat. No D d L1 L No. of flutes T 1@ E

APK- 20- 100- 28L 20 20 28 100 2 5

APK- 25- 130- 37L 25 25 37 130 2 8 APKT1003 M2.5 T8

APK- 32- 140- 46L 32 32 46 140 3 15

B SPM

(7
e |l s
T :!: : n faBim T

Roughing Focket miling Shoutder milling ‘Copy milling

s o A

T L1
—

High- performance- based ough iling, eep ol an ebrgcessed.
Arbor ize an eb rhitrarily hange he¢ edth foawimum féiciency.

Size Insert Screw Wrench

Cat. No D d 1| L Figure | No.offlutes | T E@ T @@ & //% Stock

SPM-32-12040-C32 | 32 | 32 | 40 | 120 | A 3 e (334600
SPM-32-150-40-C32 | 32 32 | 40 | 150 A 3 SCMT09T304 e (334602 1300
SPM-33-120-40-C32 | 38 | 32 | 40 | 120 | A 3 scmtootsos| M T15 e [334604 1400
SPM-38-150-40-C32 | 38 | 32 | 40 | 150 | A 3 . e [334606/ 1500
SPM-40-150-50L-32 | 40 | 32 | 50 | 150 | A 4 | 2 |P27215-3 | 12 |SDMT090308 M4 T15 e (334608 1600
SPM-40-170-56L-C42| 40 | 42 | 56 | 170 | B 2 | 1|LPMT1504|15| SPMT1204 | M5 T20 e (334610 1800
SPM-50-200-77L-CA2| 50 | 42 | 77 | 200| B 4 | 2 |LPMT1504 |14 | SPMT1204 | M5 T20 e (334612 2000
SPM-50-250-158-C42| 50 | 42 | 158 | 250 | B 4 | 2|ipMT1504]30 | SPMT1204 | M5 T20 o 334614] 2200




Milling rBor nd a€e iMing uGtre

m 890 T

890 ntlegrated ihh ower Ttter o e
High igid ntegral triscture, o shat het avity rgcessing ome asily!
R16
FTw PO1

[

I°) Ol

i
] D
D || W d| L Stock
Blade . . .
Cat. No number| Diameter | Cutting width Insert
890- 220172R98.5- BT40 8 98.5 8 21| 36 . 335100 | 2600
890- 220172R96- BT40 8 96 8 21 | 36 | N331.1A- 054508 . 335102 | 2900
L1— L | _890- 220172R115- BT40 8 115 8 21| 36 . 335104 | 3400

B DMP TN

M i WAL B T
R16
PO1
A Insert S Wrench
fa ]z | @B | & | A |
Cat. No oD |oC|od| ap| H| Z

DMPO06-08008-K27 | 80 | 41 | 27| 8 | 12| 10 e 335200 1400

- N DMPO6-10008-K32 | 100 | 47 | 32| 8 | 12| 14 | o oo | es T8 o |335202| 1500
= DMPO06-10010-K32 | 100 | 47 | 32| 10 | 14| 14 o |335204| 1500

e DMP06-12510-K40 | 125 | 55 | 40| 10| 14| 16 o | 335206 1700

= DMPO8- 12512-K40 | 125 | 55 | 40 | 12| 16| 12 | =T - o X 10 e | 335208 1700

DMP08- 16012-K40 | 160 | 62 | 40| 12 | 16| 14 o |335210| 2300

®D 5il |oc DMP12-16012-K40 | 160 | 62 | 40 | 16 | 20 | 12 e | 335212 2300
il DMP12-16018-K40 | 160 | 62 | 40 | 18 | 24| 12 o |335214| 2300
DMP12-16020-K40 | 160 | 62 | 40 | 20 | 26 | 12 o |[335216 2300

= DMP12-20016-K50 | 200 | 72 | 50 | 16 | 20| 14 | MPDT20408 | M5X13 T20 o |[335218| 2800

L DMP12-20018-K50 | 200 | 72 | 50 | 18 | 24 | 14 e |335220| 2800
H DMP12- 20020-K50 | 200 | 72 | 50 | 20 | 26| 14 o | 335222 2800

m DMP (

M T . AT f;mmn I

Roughing Sioot plunge miling

MPHT080305- DM
MPHT120408- DM

Stock
Cat. No
DMP06- 08008- B22 e (335300 1500
DMP06- 10008- B27 MP O 060304 | M2.5x6.5 8 e (335302 1600
DMPO06- 10010- B27 | 100 | 55| 27| 10 |12.4| 40 | 14 R e [335304| 1600
DMPO06- 12510-B32 [ 125 | 65| 32| 10 |14.4| 50 | 16 e |335306| 1800
DMPO08- 12512-B32 | 125 | 65| 32| 12 [14.4] 50 | 12 e |[335308| 1800
DMPO08- 16012-B40 | 160 | 89| 40| 12 |16.4| 50 | 14 | MP (1080305 M3X7 T10 e |[335310( 2500
DMP08- 20012-B40 [ 200 | 89| 40| 12 |16.4| 50 | 18 e |335312| 3000
DMP12-12512-B32 [ 125 | 65| 32| 16 [14.4[ 50 | 10 e [335314] 1800
DMP12- 16016-B40 | 160 | 89| 40| 16 |16.4| 50 | 12 e |[335316( 2500
DMP12-16018-B40 | 160 | 89| 40| 18 |16.4| 50 | 12 e |[335318| 2500
DMP12-16020-B40 | 160 | 89| 40| 20 |16.4| 50 | 12 | mP O TL20408 M5X13 T20 e |335320| 2500
DMP12-20016-B40 | 200 | 89| 40| 16 |16.4| 50 | 14 e 335322 3000
DMP12-20018-B40 | 200 | 89| 40| 18 |16.4| 50 | 14 e |[335324 3000
DMP12- 20020-B40 | 200 | 89| 40| 20|16.4| 50 | 14 e |[335326( 3000
Insert
g g '__E) g Size mm
_ Insert hape Order uhber
Cat. oN X X X X &/ DI | S | chp romter
MPHT060304- DM ) ) )
)
°

6.35 | 3.18 335400
J) L 8.3 3.18 335402
° ° o ] f= 12.7 | 4.76 335404

. D35



B ATS

T °
R16
L1 |
, PO1 . ‘
Roughing Plane fmshing  Slootplungemiling  Shoulder milling
Size
ar Insert Screw Wrench | Stock
Cat. No D d | D1| L L1 | L2 | L3 |No.offlutes
ATS-24-11 24 25 [12.5] 112 | 80 21 11 2 CCMT060204| M2.5% 6 T8 (]
ATS-31-14 31 32 16 | 120 | 77 30 14 4 CCMT080304 M3x 7 T10 (]
ATS-39-18 39 32 20 | 130 | 80 32 18 4 CCMT09T308| M4x 10 T15 (]
ATS-49-22 49 32 26 | 140 | 80 39 22 4 CCMT120408 M5x 11 T20 [
. S M P ( ) Size Insert Screw Wrench
Cat. No oD | ap|dd| H|oC| T @@
AN SMP- 80- 06-8T- K22 6 SPMG050204 | TS2003 T6 ° 335600 1400
R16 HUn T H. AT Gl I SMP- 80- 08- 8T- K22 8 44 ° 335602 1400
Rougming oot range g a
PO1 SMP- 80- 10- 8T- K22 80 10 22 2X4 SPMG060204 | TS2202 T6 . 335604 1400
SMP- 80- 12- 8T- K22 12 12 SPMGO7T308 | TS2511 T8 L] 335606 1400
SMP- 100- 06- 10T- K27 6 SPMG050204 | TS2003 T8 [ 335608 1500
SMP- 100- 08- 10T- K27 8 . 335610 1500
SMP-100- 10- 10T- K27 10 SPMG060204 | T52202 T8 335612 1500
- 100-10-107- 100 27 50 | 2xs5 hd
SMP-100- 12- 10T- K27 12 SPMGO07T308 | TS2511 T8 A 335614 1500
MP-100- 14- 10T- K27 14 1 1
s 00 0 16 SPMG090408 | TS3504 T15 * | 385616 500
SMP-100- 16- 10T- K27 16 [ 335618 1500
SMP- 125- 06- 12T- K32 6 SPMG050204 | TS2003 T6 ° 335620 1650
SMP- 125- 08- 12T- K32 8 . 335622 1650
12 SPMG060204 | TS2202 T6
SMP- 125- 10- 12T- K32 10 2%6 . 335624 1650
SMP- 125- 12- 12T- K32 125 12 22 65 SPMGO07T308 | TS2511 T8 e | 335626 1650
SMP- 125- 14- 12T- K32 14 16 SPMG090408 | TS3504 T1s ° 335628 1650
SMP- 125- 16- 12T- K32 16 . 335630 1650
SMP- 125- 18- 10T- K32 18 ° 335632 1650
20 SPMG110408 | TS4006 T15
SMP- 125- 20- 10T- K32 20 2X5 e | 335634 | 1650
SMP- 125- 25- 10T- K32 25 25 SPMG140512 | TS5009 T20 ° 335636 1650
SMP- 160- 12- 16T- K40 12 12 SPMGO07T308 | TS2511 T8 . 335638 2300
SMP- 160- 16- 16T- K40 16 16 28 SPMG090408 | TS3504 T15 o 335640 2300
SMP-160- 18- 12T- K40 | 160 18 | 40 20 75 SPMG110408 | TS4006 T15 () 335642 2300
SMP- 160- 20- 12T- K40 20 2X6 ° 335644 2300
SMP- 160- 25- 12T- K40 25 25 SPMG140512 | TS5009 T20 [ 335646 2300
SMP-200- 16- 18T- K40 16 2X9 SPMG090408 | TS3504 T15 . 335648 2800
SMP- 200- 18- 14T- K40 200 18 40 80 ° 335650 2800
SMP- 200- 20- 14T- K40 20 20 ox7 | SPMG110408 | TS4006 Ti5 e | 335652 | 2800
SMP- 200- 25- 14T- K40 25 25 SPMG140512 | TS5009 T20 . 335654 2800
- S MP ) Size Insert Screw|  Wrench
@ E Stock
Cat. No ®D| ap | H| Ll dC|dldd| T
SMP- 80- 06- 8T- B22 6 SPMG050204 | TS2003| T6 e |335700| 1500
— SMP- 80- 08- 8T- B22 sol 8 |aol 22| 45| 32| 22 | 2xa e [335702| 1500
“ ! SMP- 80- 10- 8T- B22 10 SPMG060204 | T52202| T6 e |335704| 1500
e S Lo SMP- 80- 12- 8T- B22 12 SPMG07T308 | TS2511| T8 e 335706 | 1500
g ot unge i Shoudermiing
A SMP- 100- 06- 10T- B27 6 SPMG050204 | TS2003| T8 ® |[335708| 1600
SMP- 100- 08- 10T- B27 8 ® |335710( 1600
SPMG060204 | TS2202| T8
SMP-100- 10- 10T-B27 | 199| 10 | 40| 22| 50 | 32| 27 | 2x5 ® |335712| 1600
SMP-100- 12- 10T- B27 12 SPMGO07T308 | TS2511| T8 ® |[335714| 1600
c SMP-100- 14- 10T- B27 14 SPMG090408 | Tsas04| T1s e |335716| 1600
SMP- 100- 16- 10T- B27 16 ® |335718| 1600
SMP- 125- 06- 12T- B32 6 SPMGO050204 | TS2003| T6 e | 335720 1800
SMP- 125- 08- 12T- B32 8 ® |335722| 1800
SPMG060204 | TS2202| T6
SMP- 125- 10- 12T- B32 10 26 ® |335724| 1800
SMP- 125- 12- 12T- B32 12 SPMGO07T308 | TS2511| T8 ® |335726| 1800
125 45| 25| 70 | 46| 32
SMP-125- 14- 12T- B32 14 SPMG090408 | TS3504| T15 ® |335728| 1800
PM
SMP- 125- 16- 12T- B32 16 e |335730( 1800
ioc SMP-125-18-10T- B32 18 e |335732| 2500
Fl SPMG110408 | TS4006( T15
= SMP- 125- 20- 10T- B32 20 2X5 ® | 335734 2500
5
1 SMP- 125- 25- 10T- B32 25 SPMG140512 | TS5009( T20 ® |[335736| 2500
7 = SMP-160- 12- 16T- B40 12 2x8 SPMGO07T308 | TS2511| T8 ® |335738| 2500
SMP- 160- 16- 16T- B40 16 SPMG090408 | TS3504( T15 ® (335740 2500
SMP- 160- 18- 12T-B40 | 160| 18 50| 28| 80 | 52| 40 SPMG110408 | Ts4006| T15 ® |335742| 2500
SMP- 160- 20- 12T- B40 20 2X6 ® |[335744| 2500
SMP- 160- 25- 12T- B40 25 SPMG140512 | TS5009( T20 ® (335746 2500
SMP- 200- 16- 18T- B40 16 2X9 | SPMG090408 | TS3504| T15 e [335748| 3000
SMP- 200- 18- 14T- B40 18 e [335750( 3000
200 50| 28| 80 | 52| 40
SMP- 200- 20- 14T- B40 20 2X7 SPMG110408 | TS4006| T15 e |335752| 3000
SMP- 200- 25- 14T- B40 25 SPMG140512 | TS5009| T20 ® | 335754 3000




Milling rBor nd a€e iMing uGtre

MFT Lock eéth utter ab edes

—'3 Q30T S0 0ScoY ZVZM
—'3 230 02 O5cC™ ZNTH
—'3 0T~ QS <ooO  ZAW-N—

JennD Bulin ® Bunog WNCL

—'3 OS50 IO TOOP T ZUBW

—'3 O30 ~OCCOTY TOIP~IT ZCT>

igh- plerformance nterchangeable
cutter edd nd he nKke ahdle a
combination fdgidity, n he org
hanging orger rogzessing
caneffectively uppress ibration,
as ompared ith raditional tesl rbar
processing fféeciency s improved yb 2 imes5
Significantly educe rgcessing inte,
processing osts rab.

egmént f betrefe ombination nd an eb
changed, owerage rofm omughing o tinfshing
all het r@cessing equirements, nténsive
management ool pach- making ignificance.

As he hank nd rlor ittv hteaded ononections, oy an aeily nd ueckly no aplacement achine ulter, educe r@duction osts.

B BT-MFT
BT/MFT &ewed na ills ohder

-l

Size Stock
Cat. No L L1 L2 di T Weight &
BT40- MFT16- M8- 60 160.4 95 60 15 M8 11 ° 336100 350
BT40- MFT16- M8- 110 210.4 145 110 15 M8 1.2 ° 336102 350
BT40- MFT20- M10- 60 160.4 95 60 19 M10 1.1 ° 336104 350
BT40- MFT20- M10- 110 210.4 145 110 19 M10 1.2 ° 336106 350
BT40- MFT25- M12- 60 160.4 95 60 24 M12 1.1 ° 336108 350
BT40- MFT25- M12- 120 220.4 155 120 24 M12 1.3 ° 336110 350
BT40- MFT30- M16- 50 150.4 85 50 28 M16 1.2 ° 336112 350
BT40- MFT30- M16- 100 200.4 135 100 28 M16 1.3 ° 336114 350
BT40- MFT30- M16- 140 240.4 175 140 28 M16 1.6 ° 336116 400
BT40- MFT35- M16- 60 160.4 95 60 33 M16 1.3 ° 336118 350
BT40- MFT35- M16- 120 220.4 155 120 33 M16 1.7 ] 336120 350
BT50- MFT16- M8- 60 206.8 105 60 15 M8 3.1 ° 336122 700
BT50- MFT16- M8- 120 266.8 165 120 15 M8 3.2 ° 336124 700
BT50- MFT20- M10- 60 206.8 105 60 19 M10 3.2 [ 336126 700
BT50- MFT20- M10- 120 266.8 165 120 19 M10 3.3 (] 336128 700
BT50- MFT25- M12- 60 206.8 105 60 24 M12 .8 ° 336130 700
BT50- MFT25- M12- 120 266.8 165 120 24 M12 3.4 ° 336132 700
BT50- MFT30- M16- 60 206.8 105 60 28 M16 3.4 [ 336134 700
BT50- MFT30- M16- 120 266.8 165 120 28 M16 3.5 [ 336136 700
BT50- MFT35- M16- 60 206.8 105 60 33 M16 3.5 (] 336138 700
BT50- MFT35- M16- 120 266.8 165 120 33 M16 3.7 ° 336140 700
[ | Il Beneficia o he ntére ranch aer ndaeismic ole.

D37



B MFL
MFL &rbide ceewed nd

s ohder

D
D
Fig2
Order Fig | | D D1 L1 a° o D2 (steel)| Price |(carbide) Price
Number Cat. No Stock | (RMB)| Stock | (RMB)
336200 | MFLO6- 06- 060- M03 1 60 6 6 - - M3X0.5 35 o 400 ° 800
336202 | MFLO6- 06- 120- M03 1 | 120 6 6 - - o 400 ° 800
336204 | MFLO8- 08- 060- M04 1 60 8 8 - - o 400 ° 800
336206 | MFLO8- 08- 100- M04 1 | 100 8 8 - - MAX0.7 45 o 400 ° 990
336208 | MFLO8- 08- 150- M04 1 | 150 8 8 - - . . o 400 ° 1100
336210 | MFLO8- 10- 150- MO4DT60 2 | 150 10 7.8 60 i e o 450 o 1200
336212 | MFL10- 10- 075- M05 1 75 10 10 - - o 500 ° 1000
336214 | MFL10- 10- 100- M05 1 | 100 10 10 - - o 500 ° 1080
336216 | MFL10- 10- 150- MO5 1 150 10 10 - - M5X0.8 5.5 o 500 . 1290
336218 | MFL10- 12- 150- MO5DT60 2 | 150 12 9.8 60 i o 550 o 1450
336220 | MFL10- 20- 300- MO5DT135 2 | 300 20 9.8 135 | 2.15° o 650 o 5500
336222 | MFL12- 12- 075- M06 1 75 12 12 - - o 500 ° 1150
336224 | MFL12- 12- 100- M06 1 | 100 12 12 - - o 500 ° 1290
336226 | MFL12- 12- 150- M06 1 | 150 12 12 - - o 500 ° 1480
336228 | MFL12- 12- 200- M06 1 | 200 12 12 - - MEX1.0 6.5 o 500 ° 1980
336230 | MFL12- 16- 150- MO6DT70 2 | 150 16 11.8 70 1.65° o 550 o 2200
336232 | MFL12- 16- 200- MO6DT90 2 | 200 16 11.8 90 1.3° o 600 o 2600
336234 | MFL12- 16- 250- MO6DT115 2 | 250 16 11.8 115 i © o 700 o 3200
336236 | MFL12- 16- 300- M06DT135 2 | 300 16 11.8 135 1.7° o 800 o 3800
336238 | MFL15.6- 15.6- 150- M08 1 | 150 | 156 | 15.6 - - M8X1.25 8.5 o 500 ° 1900
336240 | MFL16- 16- 100- M08 1 | 100 16 16 - - o 500 ° 1980
336242 | MFL16- 16- 150- M08 1 | 150 16 16 - - o 500 ° 2240
336244 | MFL16- 16- 200- M08 1 | 200 16 16 - - o 800 ° 2630
336246 | MFL16- 16- 250- M08 1 | 250 16 16 - - M8X1.25 8.5 o 900 ] 3130
336248 | MFL16- 20- 200- MO8DT90 2 | 200 20 15.5 90 1.3° ) 900 ) 4000
336250 | MFL16- 20- 250- M0O8DT115 2 | 250 20 15.5 115 i o o 950 o 4700
336252 | MFL16- 20- 300- MO8DT135 2 | 300 20 15.5 135 | 0.85° o 1000 o 5400
336254 | MFL19- 19- 200- M10 1 | 200 19 19 - - M10X1.5 10.5 o 800 ° 2600
336256 | MFL20- 20- 100- M10 1 | 100 20 20 - - o 800 ° 2650
336258 | MFL20- 20- 150- M10 1 | 150 20 20 - - o 900 ° 3130
336260 | MFL20- 20- 200- M10 1 | 200 20 20 - - ) 1100 ° 3950
336262 | MFL20- 20- 250- M10 1 | 250 20 20 - - o 1300 ° 4650
336264 | MFL20- 20- 300- M10 1 | 300 20 20 - - M10X1.5 10.5 o 1600 ° 5360
336266 | MFL20- 20- 400- M10 1 | 400 20 20 - - o) 1800 ° 6200
336268 | MFL20- 25- 200- M10DT90 2 | 200 25 19.8 90 1.6° o 2000 o 6800
336270 | MFL20- 25- 250- M10DT115 2 | 250 25 19.8 115 | 1.25° o 2300 o 7900
336272 | MFL20- 25- 300- M10DT135 2 | 300 25 19.8 135 1.1° o 2800 o 9800
336274 | MFL24- 24- 200- M12 1 | 200 24 24 - - o 1200 D 4030
336276 | MFL24- 24- 250- M12 1 | 250 24 24 - - MI12X175 | 125 o 1200 ° 4300
336278 | MFL25- 25- 100- M12 1 | 100 25 25 = = o 1400 ° 4670
336280 | MFL25- 25- 150- M12 1 | 150 25 25 - - o 1600 ° 5360
336282 | MFL25- 25- 200- M12 1 | 200 25 25 - - o 2000 ° 6700
336284 | MFL25- 25- 250- M12 1 | 250 25 25 - - o 2300 ° 7860
336286 | MFL25- 25- 300- M12 1 | 300 25 25 - - M12X1.75 | 12.5 o 2800 ° 9600
336288 | MFL25- 25- 350- M12 1 | 350 25 25 - - o 3000 ° 11200
336290 | MFL25- 32- 200- M12DT90 2 | 200 32 245 90 2.3° o 2600 o 8500
336292 | MFL25- 32- 250- M12DT115 2 | 250 32 24.5 115 | 1.75° o 3300 ) 12000
336294 | MFL25- 32- 300- M12DT135 2 | 300 32 24.5 135 15° o 4000 o 13500
336296 | MFL29- 29- 250- M16 1 | 250 29 29 - - M16X2.0 17 o 2800 ° 9300
336298 | MFL32- 32- 150- M16 1 | 150 32 32 - - o 2000 D 6600
336300 | MFL32- 32- 200- M16 1 | 200 32 32 - - o 2600 ° 8500
336302 | MFL32- 32- 250- M16 1 | 250 32 32 - = o 3300 ° 11150
336304 | MFL32- 32- 300- M16 1 | 300 32 32 ; ; M16x2.0 | 17 o 4000 . 13400
336306 | MFL32- 32- 350- M16 1 | 350 32 32 - - o 4500 o 15400
336308 | MFL32- 32- 400- M16 1 | 400 32 32 - - o 5000 o 17500
336310 | MFL42- 42- 250- M20 1 | 250 42 42 - - B 4000 o 15000
336312 MFL42- 42- 300- M20 1 300 42 42 - - M20X2.5 21 o 4500 o 18000
336314 | MFL42- 42- 400- M20 1 | 400 42 42 - = i o 5000 o 25000
336316 | MFL42- 42- 500- M20 1| 500 42 42 - - ) 6000 ) 32000




Milling rBor nd a€e iMing uGtre

B AJX MITSUBISHI

AMITSUBISHI AMERIALS

AU feditn T H AmIL FrBt T A T

Roughing Focket miling Sootplunge miling  Shoulder miling Copy miling

°
=3

®

¥
to

L1

R19- R20 The ost uitsble orfarde- feed utting.
PO1

Size ~ Insert Clamp Screw Wrench
No. of Stock
Cat. No D | d | L | w11 flutes E i & )

AJXOBR16- 16- 120-2T | 16 | 16 | 120 | 30 3211000 - | 150
AJXOBR16- 16-160-2T | 16 | 16 | 160 | 40 321102 - | 150
AJXO6R16-17-120-2T | 17 | 16 | 120 | 40 321104 - | 150
AJXO6R16-17-160-2T | 17 | 16 | 160 | 40 JOMWOBT2I5ZZSR | - | M2.5x 6 T8 321106 - | 150
AJXO6R16-17-200-2T | 17 | 16 | 200 | 50 321108 - | 180
AJXO6R16-18-150-2T | 18 | 16 | 150 | 40 321110, - | 180
AJX08R20-20-160-2T | 20 | 20 | 160 | 40 321112 200 | 165
AJX08R20-20-200-2T | 20 | 20 | 200 | 50 321114 233 | 225
AJX08R20-20-250-2T | 20 | 20 | 250 | 60 321116 - | 280
AJX08R20-21-160-2T | 21 | 20 | 160 | 40 321118 200 | 165
AJXO08R20-21-200- 2T | 21 | 20 | 200 | 50 JOMWOBS20ZZSR | - M3x 7| TI0 321120 233 | 225
AJX08R20-21-250-2T | 21 | 20 | 250 | 60 321122 - | 280
AJX08R20-22-160-2T | 22 | 20 | 160 | 40 321124 - | 200
AJX08R20-22-200-2T | 22 | 20 | 200 | 50 321126 260

321128| 233 200
321130| 267 225
321132 - 285
321134 - 320
321136| 233 200
321138| 267 225

AJX09R25- 25- 150- 2T 25 25 150 40
AJX09R25- 25- 200- 2T 25 25 200 50
AJX09R25- 25- 250- 2T 25 25 250 60
AJX09R25- 25- 300- 2T 25 25 300 60
AJX09R25- 26- 150- 2T 26 25 150 40
AJX09R25- 26- 200- 2T 26 25 200 50

AJX09R25- 26- 250- 2T 26 25 250 60 321140 - 285
AJX09R25- 26- 300- 2T 26 25 300 60 321142 - 320
AJX09R25- 28- 160- 2T 28 25 160 40 321144 - 220
AJX09R25- 28- 200- 2T 28 25 200 50 321146| - 290
AJIXO09R25- 28- 250- 2T 28 25 250 60 JOMWO09T320ZDSR | AJX- 09| M4x 10| T15 321148 _ 350
AJX09R25- 28- 300- 2T 28 25 300 60 321150 - 400
AJX09R25- 30- 160- 2T 30 25 160 40 321152 - 220
AJX09R25- 30- 200- 2T 30 25 200 50 321154 - 290
AJX09R25- 30- 250- 2T 30 25 250 60 321156| - 350
AJX09R25- 30- 300- 2T 30 25 300 60 321158| - 400
AJX09R25- 32- 160- 2T 32 25 160 40 321160 - 220
AJX09R25- 32- 200- 2T 32 25 200 50 321162 - 290
AJX09R25- 32- 250- 2T 32 25 250 60 321164 - 350
AJX09R25- 32- 300- 2T 32 25 300 60 321166| - 400
AJX12R32- 25- 160- 2T 25 32 160 40 321168 - 240
AJX12R32- 25- 200- 2T 25 32 200 50 321170 - 270
AJX12R32- 25- 250- 2T 25 32 250 60 321172 - 325
AJX12R32- 25- 300- 2T 25 32 300 60 321174 - 400
AJX12R32- 30- 160- 2T 30 32 160 40 321176 - 240
AJX12R32- 30- 200- 2T 30 32 200 50 321178 - 270
AJX12R32- 30- 250- 2T 30 32 250 60 321180 - 325
AJX12R32- 30- 300- 2T 30 32 300 60 321182 400

321184 267 240
321186| 317 270
321188| 367 325

AJX12R32- 32- 150- 3T 32 32 150 40
AJX12R32- 32- 200- 3T 32 32 200 50
AJX12R32- 32- 250- 3T 32 32 250 60

AJX12R32-32-300-3T | 32 | 32 | 300 | 60 JDMT120420ZDSR | AJX- 12| Mdx 10| Ti15 321190, - 400
AJX12R32-33-160-2T | 33 | 32 | 160 | 40 321192 - 240
AJX12R32-33-200-2T | 33 | 32 | 200 | 50 321194/ - 270
AJX12R32-33-250-2T | 33 | 32 | 250 | 60 321196/ - 325

321198| 267 240
321200[ 317 270
321202| 367 325
321204 - 400
321206| 300 300
321208| 367 360
321210| 433 430
321212 - 420

AJX12R32- 35- 150- 3T 35 32 150 40
AJX12R32- 35- 200- 3T 35 32 200 50
AJX12R32- 35- 250- 3T 35 32 250 60
AJX12R32- 35- 300- 3T 35 32 300 60
AJX12R32- 40- 150- 3T 40 32 150 40
AJX12R32- 40- 200- 3T 40 32 200 50
AJX12R32- 40- 250- 3T 40 32 250 60
AJX14R42- 50- 180- 4T 50 42 180 35

ARG P N I
NINNRNRNNRNNRNNRNRONNRNNRNNMNNRNONNRNONNRNNNNMNONNMNNNMNNNONNMNNONNNNDNDND DD DD DR
OROEO R R RO R i

BLOWWWWWWNNNWWWWNNNNRNRNNNNNNNNNNNNDNNNNNNNNNDNODNNNNNNNNNNODNNNNNNNNNDNNNMNNNNNNDNDDNDN

JDMT140520ZDSR | AJX- 14| M5x 10| T20

D39



AJX

T W AN A [ BRI
Roughing Focketmiing 0 Copy miling
’ . N
MITSUBISHI b i
The se fo51 °osipive ngle ldde
AMITSUBISHI AMERIALS b Double lamping oby igidity
hd The 0Bt uitable orf arge- feed utting
R19- R20 - With tandard ooling ofes
- 3 3 off pecial haped ldde dge nale
PO1

Size o SR Clamp|  Screw ﬁ“ Stock | Order Price | Price
cat. No D|pL|D2] d | H | w]|T]| a @ g Number| (RMB) | (RMB)

AJX12R50- 22-3T | 50 47 | 38.3| 22 50 |10.4| 6.3 | 1.5 321200/ 283 280
AJIX12R50- 22- 4T 50 47 | 38.3| 22 50 |10.4| 6.3 | 1.5 [IDMW120420ZDSR-FT| AJX- 12| M4x 10 T15 321202| 317 280
AJIX12R63-22-4T | 63 30 | 51.3| 22 50 |10.4| 6.3 | 1.5 321204 483 350
AJX14R63-22-3T | 63 30 | 51.1| 22 50 |10.4| 6.3 2 321206 283 350
AJX14R63- 22-4T | 63 30 | 51.1| 22 50 |10.4| 6.3 2 321208 317 350
2
2

AJX14RB0-27-4T | 80 | 76 | 68.1| 27 | 50 |12.4| 7 JDMWL4G5202DSR-FT| AJX- 14 MSx 12} T20 321210/ 483 | 600

AJX14R100-32-5T| 100 | 96 |88.1| 32 50 |14.4 8

321212] 700 800

B AJX m ~4 :
) AAAN| '
AJX Bper iM T m wowons ) | sy | |srasm

| , M Low- speed, igh eed
3 Cutting ffigiency f o adinary utter ound ose nchack lape iBnest
Cone edgign, ted igh

R19- R20
PO1
Size , Insert Screw Wrench
Teeth i & Stock
Cat. No D|L| d M N\~ Clamp
AJX06R162AM0830 16 | 30| 85 | M8 2 JOMWO6T215 . 321300 | 150
- M2.5X6 T8
AJX06R172AMO0830 17 | 30| 85 | M8 2 ZZSR- FT . 321302 | 150
AJX08R202AM1030 20 | 30 | 10.5 | M10 2 . 321304 | 160
JOMWO080320 i
AJX08R212AM1030 21 | 30 | 10.5 | M10 2 779R. FT M3X6 T1s . 321306 | 160
AJX08R222AM1030 22 | 30 | 10.5 | M10 2 . 321308 | 200
AJX09R252AM1235 25 | 35| 12.5 | M12 2 . 321310 | 160
JDMWOST320 AIX09 M3.5X8 T15
AJX09R262AM1235 26 | 35| 12,5 | M12 2 ZDSR-IM . 321312 | 200
MITSUBISHI DIJET
B Insert
P
M
% ° %|e ° 3 %
s
¢
€
E o0 Size mm
Pic cat. oN g g Insert hape o 1 R F1
; il D1 | Bs S e Order uhiber
JOMWO06T215ZZSR-FT| @ 6.35 13 ° 2.78 1.5 1.2 321400
JOMWO080320ZZSR- FT 8 13° | 3.18 2 1.4 321402
JDMWO09T320ZDSR- FT 9.525| 15° | 3.97 2 1.8 321404
JDMW120420ZDSR- FT 12 | 15° | 476 2 2.5 321406
JDMW140520ZDSR- FT 14 15° 5.56 2 2.8 321408
JOMTO06T215ZZSR- JM 6.35 13° 2.78 1.5 1.2 321410
JOMTO080320ZZSR- IM Ll o8 13° | 3.18 2 1.4 321412
JDMTO09T320ZDSR- JM = 9.525| 15° | 3.97 2 1.8 321414
JDMT120420ZDSR- M 12 | 15° | 4.76 2 2.5 321416
JDMT140520ZDSR- JM 14 | 15° | 556 2 2.8 321418
JDMT120420ZDSE- ST 12 15° 4.76 2 2.5 321420
JDMT140520ZDSR- ST 14 15° 5.56 2 2.8 321422




Milling rBor nd a€e iMing uGtre

[ |
ASR HITACHI faas] gﬂfqm@
!
70
ol el -
w | s :
LY
R19- R20 EA .
PO1 E——— High edd, igh ffigiency
Size Insert Screw Wrench
Cat. No D d L | e @ B & Stock
ASROBR16- 16- 120- 2T 16 16 120 40 2 e 321500
ASRO6R16- 16- 150- 2T 16 16 150 40 2 e (321502 100 | 160
ASRO6R16- 16- 200- 2T 16 16 200 50 2 e [321504| 133 | 180
ASRO6R16- 17- 120- 2T 17 16 120 40 2 e [321506| 100 | 150
ASRO6R16- 17- 150- 2T 17 16 150 40 2 e [321508/ 100 | 160
ASRO6R16- 17- 200- 2T 17 16 200 50 2 e [321510| 133 | 180
ASROBR20- 20- 120- 3T 20 20 120 40 | 3(2) e (321512 - 160
ASRO6R20- 20- 150- 3T 20 20 150 40 | 3(2) e (321514 150 | 170
ASRO6R20- 20- 200- 3T 20 20 200 50 | 3(2) e [321516| 183 | 200
ASRO6R20- 21- 120- 3T 21 20 120 40 | 3(2) e (321518 - 170
ASRO6R20- 21- 150- 3T 21 20 150 40 | 3(2) e (321520 150 | 170
ASRO6R20- 21- 200- 3T 21 20 200 50 | 3(2) e [321522| 183 | 200
ASROBR25- 25- 150- 3T 25 25 150 50 | 3(4) e (321524 183 | 175
ASRO6R25- 25- 200- 3T 25 25 200 50 | 3(4) e [321526| 217 | 225
ASROBR25- 25- 250- 3T 25 25 250 60 | 3(4) e [321528 250 | 260
ASROB6R25- 26- 150- 3T 26 25 150 50 | 3(4) | eonwososTs e [321530| 183 | 180
ASROBR25- 26- 200- 3T 26 25 200 50 | 3(4) | epmTos03TN- 8 M2.5x 6 T8 e |321532| 217 | 240
ASROBR25- 26- 250- 3T 26 25 250 60 | 3(4) e [321534| 250 | 260
ASROBR25- 28- 180- 4T 28 25 180 60 4 e |321536] - 220
ASROBR25- 30- 200- 4T 30 25 200 60 4 e [321538 - 260
ASROBR25- 30- 250- 4T 30 25 250 60 4 e |321540 - 300
ASROBR32- 32- 150- 4T 32 32 150 50 | 4(5) e [321542| 233 | 260
ASROBR32- 32- 200- 4T 32 32 200 60 | 4(5) e |321544| 300 | 285
ASROBR32- 32- 250- 4T 32 32 250 60 | 4(5) e [321546| 367 | 350
ASROBR32- 33- 160- 4T 33 32 160 - 4 e |321548 - 260
ASROBR32- 33- 200- 4T 33 32 200 = 4 e [321550 - 285
ASROBR32- 35- 150- 4T 35 32 150 50 | 4(5) e |321552| 267 | 300
ASRO6R32- 35- 200- 4T 35 32 200 50 | 4(5) e [321554| 333 | 380
ASRO6R32- 35- 250- 4T 35 32 250 60 | 4(5) e (321556 417 | 450
ASROBR32- 40- 150- 4T 40 32 150 50 | 4(6) e [321558 300 | 350
ASROBR32- 40- 200- 4T 40 32 200 50 | 4(6) e |321560| 367 | 450
ASROBR32- 40- 250- 4T 40 32 250 60 | 4(6) e [321562| 467 | 600
ASRO8R20- 20- 130- 2T 20 20 130 50 2 | Conmososte 10 e |321564] - 180
ASR08R20- 20- 180- 2T 20 20 180 100 2 | EpEW0s03TN. 10 M3.5% 8 T15 e [321566| - 230
ASRO8R20- 20- 250- 2T 20 20 250 130 2 e [321568 - 280
ASR10R25- 25- 140- 2T 25 25 140 60 2 | onwiorsme 10 Max 9 e [321570 - 200
ASR10R25- 25- 200- 2T 25 25 200 120 2 | CoEWIOTITN. 10 ASR10Y T15 e |321572] - 260
ASR10R25- 25- 300- 2T 25 25 300 180 2 MS3508 o |321574) - 350
ASR13R32- 30- 150- 2T 30 32 150 70 2 e [321576] - 220
ASR13R32- 30- 200- 2T 30 32 200 120 2 o 10 e [321578 - 300
ASR13R32- 30- 300- 2T 30 32 300 180 2 | ED.13T4TN-15@) ASRI3Y 120 e |321580] - 380
ASR13R32- 32- 150- 2T 32 32 150 70 2 | EDWIST4TN-10 MS4009 e [321582 - 280
ASR13R32- 32- 200- 2T 32 32 200 120 2 e [321584) - 350
ASRI13R32- 32- 300- 2T 32 32 300 180 2 e [321586] - 500
Insert
E 6 a 6 E g g Size mm
Cat. oN BRI 5155 Insert hape R|L|T|w R
EPNWO0603TN- 8 e oo |0 8 | 10 [3.18| 6.35 321600
EPMTO0603TN- 8 oo oo ; —— | 8|10 [3.18] 6.35 321602
SDNW1505ZDTN- R15 olo|olo|e E@‘ | | 15|15 |5.56(18.875 321604
SDMT1505ZDTN- R15 o|oe ) 15| 15 |5.56/18.875 321606
SDMT1505ZDTN- R15 e|leo|efeo|e]|e [ | 15| 15 |5.56/18.875 321608
SDEW1505ZDTN- R15 ele|e 0o 15| 15 |5.56/18.875 321610
| 48HRC

M Arbor efore naverall edt reatment hafdness eached 84 RC), nc hén ntensive. oTvaid esondary eht reatment o take utter ody etbrmation.
So saotnsure hé cauracy fdetolerance amge nd uperior igidity.

D41



ASR

TReughing Focketmiling Copy miling

" ASR o HITACH 2 FEIEE

e

Double lamping odly igrdity

. The os uitsble orfarde- feed utting
=
With tasdard oaling oles
- .
4 orf pesial haged |adde dge ngie
\
Size Insert Clamp Screw Wrench Order | Price
Stock
Cat. No D D1 d H w T @ @ Number| (RMB)
ASROBR50- 22- 4T 50 47 22 50 10.4 6.3 @ B V2.5 6 T8 e [321700 280
ASRO6R63- 22- 4T 63 60 22 50 10.4 6.3 EPMTOG0STN & ’ e 321702 350
ASRI5R80-27-5T | 800 70 27 50 12.4 7 e (321704 600
ASRI5R100- 32-5T| 100 90 32 50 14.4 8 @ e (321706 800
ASRI5R125-40-6T| 125 90 40 50 16.4 9 e (321708 1000
ASRISR160-40-8T| 160 | 120 | 40 | 50 | 164 | o | _ . |ASRT-1S Mo<12| 120 e (321710 1200
ASR15R200- 60- 8T| 200 120 60 50 25.7 14 SDMTLE05ZDTN R1S o 321712 1600
ASRI15R200- 60- 10T 200 120 60 50 25.7 14 e [321714 1800
B ASRM
ASRM Bper aRius iM
1
R19- R20 Rougnng Focketmiing Siotpngernling  Snoudermiling  Copy miing
P01
Size Insert Screw Wrench
Teeth 2 & Stock
Cat. No D L d M E
ASRM2016R- 2 16 25 8.5 M8 2 ° 321800 | 300
ASRM2017R- 2 17 25 8.5 M8 2 [ 321802 | 300
ASRM2018R- 2 18 25 8.5 M8 2 o 321804 | 300
ASRM2020R- 3 20 30 | 10.5 | M10 3 o 321806 | 300
ASRM2021R- 3 21 30 10.5 M10 3 EPNWO603TN- 8 o 321808 300
ASRM2022R- 3 22 30 10.5 M10 3 EPMT0603TN- 8 M2.5X6 T8 o 321810 400
ASRM2025R- 4 25 35 12.5 M12 4 | EPMTO603EN-BLF (] 321812 450
ASRM2026R- 4 26 35 | 12,5 | M12 4 o 321814 | 450
ASRM2028R- 4 28 35 | 12.5 | M12 4 o 321816 | 460
ASRM2030R- 4 30 40 17 M16 4 o 321818 | 500
ASRM2032R- 5 32 40 17 M16 5 o 321820 | 500
ASRM2040R- 6 40 40 17 M16 6 | EPNWOSO3TN- 10 M3.5x 8 15 o 321822 | 560
ASRM0020- 2 20 30 | 10.5 | M10 2 | EPEWO0B03TN- 10 - o 321824 | 350
ASRM0021- 2 21 30 | 10.5 | M10 2 o 321826 | 350
ASRM0025- 2 25 35 | 12.5 | M12 2 o 321828 | 500
ASRM0026- 2 26 35 | 125 | M12 2 | EDNWI0T3TN- 10 M:;Rgm T15 o 321830 | 500
ASRM0030- 3 30 40 17 M16 3 | EDEWI0T3TN- 10 1153506 o 321832 | 550
ASRM0032- 3 32 40 17 M16 3 o 321834 | 550
ASRM0035- 3 35 40 17 M16 3 o 321836 | 600
ASRM0040- 4 40 40 17 M16 4 o 321838 | 600

LIITACLIL



Milling rBor nd a€e iMing uGtre

W SKS and K7 m < d
SKS Hh eédrate ne AT M wowane ) (_amany | (s

©

S

E I
.a
L1
L
R19- R20 e ez ) .
PO1 AUETY p The ost uitable off ar§e-feed utting.
Size Insert Clamp Screw Wrench

of ﬁ & Stock
Cat. No D d L L1 E'Ste‘l E

a

SKSO04R16- 16-150-2T | 16 | 16 | 150 | 30 | 1 | 2 321900

SKSO04R16- 17- 70- 2T 17 | 16 | 70 | 30 | 1 321902 - 180
SKS04R16-17-110-2T | 17 | 16 | 110 | 30 | 1 WOMW04T215 T M25x6 ) E 321904/ - 180
SKSO04R16-17-150-2T | 17 | 16 | 150 | 30 | 1 321906 - 185
SKSO5R20- 20-130-2T | 20 | 20 | 130 | 30 | 15 321908 - 200
SKSO5R20-20-180-2T | 20 | 20 | 180 | 40 | 1.5 321910, - 220
SKSO5R20-20-200-2T | 20 | 20 | 200 | 40 | 1.5 321912 - 220
SKS05R20- 20- 250- 2T 20 20 250 50 1.5 WOMWO050316 - M3x7 0 321914 - 250
SKS05R20- 21- 130- 2T 2121 20 130 30 1.5 321916 - 200
SKSO5R20-21-160-2T | 21 | 20 | 160 | 30 | 1.5 321918 - 200
SKSO5R20-21-200-2T | 21 | 20 | 200 | 40 | 1.5 321920 - 250
SKSO6R25- 25-140-2T | 25 | 25 | 140 | 30 321922 233 | 240
SKSO6R25-25-160-2T | 25 | 25 | 160 | 30 321924 - 240
SKS06R25-25-200-2T | 25 | 25 | 200 | 40 321926/ 267 | 260
SKSO6R25- 25-250-2T | 25 | 25 | 250 | 50 321928 - 320
SKSO06R25-25-300-2T | 25 | 25 | 300 | 60 321930| - | 380
SKSO06R25-26-140-2T | 26 | 25 | 140 | 30 321932 233 | 240
SKSO6R25-26-160-2T | 26 | 25 | 160 | 30 321934 - 240
SKSO06R25- 26-200-2T | 26 | 25 | 200 | 40 WoMWO06T320 | sks. 06 | Maxto | 18 321936 267 | 260

SKS06R32- 32- 150- 3T 32 32 150 30
SKS06R32- 32- 200- 3T 32 32 200 40
SKS06R32- 32- 250- 3T 32 32 250 50
SKS06R32- 35- 150- 3T 35 32 150 30
SKS06R32- 35- 200- 3T 35 32 200 40
SKS06R32- 35- 250- 3T 35 32 250 50
SKS06R32- 40- 150- 3T 40 32 150 30
SKS06R32- 40- 200- 3T 40 32 200 40
SKS06R32- 40- 250- 3T 40 32 250 50

321938| 267 260
321940| 317 330
321942 367 380
321944 267 260
321946| 317 330
321948| 367 380
321950| 300 280
321952 367 350
321954 433 420

NNONNNPNPDNOPNNNNODNPDNNNNNONNNNNNNNNNNOWWWWWWWWWNRNNNNNNDNDNNNNDNDDNDDNDNNDN

NNONDNNNNPDNNNNDNONNNDPNDNNNNNDNDNNPNDNDNNNDNDNNNDNDNDNDDNDNDNDN

SKSO08R32- 32- 160- 2T 32 32 160 40 321956 280
SKS08R32- 32- 200- 2T 32 32 | 200 | 50 321958 - 320
SKS08R32- 32- 250- 2T 32 32 | 250 | 60 321960/ - 380
SKS08R32- 32- 300- 2T 32 32 | 300 | 80 321962 - 450
SKS08R32- 32- 350- 2T 32 32 | 350 | 90 321964 - 560
SKS08R32- 33- 160- 2T 33 32 | 160 | 40 321966 - 300
SKS08R32- 33- 200- 2T 33 32 | 200 | 50 321968 - 320
SKS08R32- 33- 250- 2T 33 32 | 250 | 60 321970 - 380
SKS08R32- 33- 300- 2T 33 32 | 300 | 80 321972 - 450
SKS08R32- 33- 350- 2T 33 32 | 350 | 90 WDMW080520 | SKs. 08 | M45X10| 321974 - 560
SKS08R32- 35- 160- 2T 35 32 | 160 | 40 / SML1 321976| - 300
SKS08R32- 35- 200- 2T 35 32 | 200 | 50 321978| - 320
SKS08R32- 35- 250- 2T 35 32 | 250 | 60 321980/ - 380
SKS08R32- 35- 300- 2T 35 32 | 300 | 80 321982 - 450
SKS08R32- 35- 350- 2T 35 32 | 350 | 90 321984 - 560
SKS08R32- 40- 160- 2T 40 32 | 160 | 40 321986/ - 330
SKS08R32- 40- 200- 2T 40 32 | 200 | 50 321988/ - 350
SKS08R32- 40- 250- 2T 40 32 | 250 | 60 321990, - 380
SKS08R32- 40- 300- 2T 40 32 300 80 321992 - 460
SKS08R32- 40- 350- 2T 40 32 350 90 321994 - 580

D43



SKS

W SKS y 4 < AR A
MANA
DIJET s m M m‘ SRR
e 15
- The sa fol 1°ospive ngle ldde
- Double lamping oby igidity
R19- R20 The ost uigable off arge- feed utting
- With tandard ooling oles
F’Ol - 3 3 of pecial haped ldde dge ngle
Size . Insert Clamp Screw Wrench Price | Price
A ) Stock Order
Cat. No D D1 d H w T () Number| (RMB) | (RMB)
SKS08R50- 22- 4T 50 47 22 50 10.4 6.3 322100, 283 280
SKSO08R63- 22- 4T 63 60 22 50 10.4 6.3 . 322102 317 350
SKS08R66- 27-4T | 66 60 27 50 | 12.4 7 |WDMWO080520ZTR | SKS- 08 e 13| T20 e [322104 - 500
SKSO08R80- 27- 5T 80 70 27 55 12.4 7 o 322106| 483 600
SKSO08R100- 32-6T| 100 90 32 55 14.4 8 4 322108 700 800
SKS10R63- 22- 4T 63 60 22 50 10.4 6.3 L4 322110, 300 425
SKS10R63- 27- 4T 63 60 27 50 12.4 7 M4.5x 105 L4 322112 350 460
WDMT10X 6 2 0 2 -
SKS10R80-27-5T | 80 | 76 | 27 | 55 | 12.4 | 7 0X6202SKE-10 w1 | T20 | o 1355114 500 | 700
SKS10R100- 32-6T| 100 96 32 55 14.4 8 d 322116] 700 960
| , M Low- speed, igh edd
3 Cutting fféciency fonardinary utter ound ose nd ade lgte Bneg
s Cone edign, tesl igh
Insert
JC5015 | JC5040 | JC600 |JC730U |JC8015 Size mm
Cat. oN Insert hape Al B T | r | Order uhber
OMWO04T215 w [ ] [ ] 6.5 0.8 | 2.8 |15 322200
050316 [ ] [ ] [ ] 8| 10| 3.2 |16 322202
06T320 [ J [ o 10| 1.2 | 3.97| 2 322204
DMWO06T320ZTRW [ ] [ ] [ ] 10| 1.2 | 3.97| 2 322206
080520ZTR [} [ J [ — 13| 1.5 | 5.5 2 322208
10X620ZTR [ J [ J ‘hf 16| 2.0 6 2 322210
WDMT080520ZER ° ° . U4 13| 15| 55| 2 322212
0X620ZER 1 [ ] [ ] /.hs” 16| 2.0 6 2 322214
DHWO06T320ZTRW [} [} i g 10| 1.2 | 3.97| 2 322216
80520ZTR [ ] [ ] 13| 15| 55 2 322208




Milling rBor nd a€e iMing uGtre

Focket miling Siootplungemiling  Shoulder miling Copy milling

. e ’ ’ <A RCA ) K
TXP igh eédrate ne it ; .
W 2NY

o
S
L
R19- R20
PO1 The o8t uigble off ar§je- feed utting.
Size Insert Clamp Screw Wrench
No.of E & /’% Stock
Cat. No flutes | D| d| L | L1] a \@/ @
TXPO6R25- 25- 160- 2T 2 25| 25| 160| 80 2 o 322300 240
TXPO6R25- 26- 200- 2T 2 26 | 25| 200 -- 2 ° 322302 | 260
TXPO6R32- 33- 160- 3T 3 33| 32| 160 -- 2 ° 322304 | 300
TXPO6R32- 33- 200- 3T 3 33| 32| 200 -- 2 | WPMWO06X415ZPR| EXP-06 M4X10 T15 o 322306 320
TXPO6R32- 35- 200- 3T 3 35| 32| 200 -- 2 . 322308 | 350
TXPO6R32- 40- 200- 3T 3 40 | 32| 200| -~ 2 ° 322310| 400
TXPO6R32- 40- 250- 3T 3 40 | 32| 250 -- 2 o 322312 450
TXPO08R32- 35- 200- 2T 2 35| 32| 200 -- 2 | WPMT080615ZSR | EXP-08 M5X11 T20 ° 322314| 350
B TXP Tungaloy L || m
Member MC  Bup LT M WAL fobiim I
e nur- The sa fol 1°ositive ngle ldde
d Double lamping oby igidity
R19- R20 - The aBt uigable of arge- feed utting
PO1 P With tandard ooling oles
- 3 3 off pecial haped ldde dge ngle
Size ~ Insert Clamp Screw Wrench ord Price | Price
Vo= ) Stock | oo
Cat. No D D1 | D2 d H w T a (&) Number| (RMB) | (RMB)
TXPO6R50- 22-4T | 50 47 | 41.4| 22 50 |10.4| 6.3 | 1.5 | WPMWO6X415ZPR | TXP- 06| M4x 10| T15 ® 322400 - 280
TXPO8R50- 22- 3T 50 47 | 38.6| 22 50 [ 10.4| 6.3 | 1.5 . 322402 283 280
TXPO8BR63- 22- 4T 63 59 | 51.6| 22 50 [10.4| 6.3 | 1.5 [ 322404 317 350
WPMTO080615ZSR | TXP- 08 M5x 11 T20
TXPOBR80- 27- 4T 80 70 | 68.6| 27 50 |12.4 7 1.5 8 o 322406| 483 600
TXPO8R100-32-6T| 100 | 90 | 88.6| 22 50 |14.4 8 1.5 o 322408| 700 800
Insert
AH120 | AH140 | T3030 | T1015 BIZCH
Order uhiber
Cat. oN Insert hape A B T R
WPMWO06X415ZPR [ ] [ [ [ 6 9.525 4.2 1.5 322500
WPMTO06X415ZPR- ML [} [ [ ] ! < (— 6 9.525 4.2 1.5 322502
06X415ZPR- MH ° ° A E 6 9525 | 42 |15 322504
WPMTO080615ZPR [ ] [ J [ J [ J ‘ R :\’[ . 8 12.87 6.35 1.5 322506
l— 11
080615ZPR- ML [ ] [ J [ J B T 8 12.87 6.35 1.5 322508
080615ZPR- MH [ ] [ ] 8 12.87 6.35 1.5 322510
| , M Low- speed, igh edd
3 Cutting ffeciency fonarainary utter ound ose nd ade Igte Bneg

Cone edign, tesl igh

D45



B HEP {<
HP eries egen ngle ade iMing ucter ] )

ML LS SR T
g

Roughing Focket miling Copy miling

D d
R19- R20 C®
PO1 «—— H _,| High edd, ewen ngle ogd cenomy!
D H
Blade ¢ . Face Stock | Order
Cat. No number Diameter |Inner hole| Height diameter | Weight Insert Number|  price
HEP- 4063R- 08- 22 4 63 22 50 60 11 o 322600 460
HEP- 5080R- 08- 27 5 80 27 55 76 1.9 ° 322602 800
. - 08- 3.6 ° 322604 1050
HEP- 6100R- 08- 32 6 100 32 60 96 XDMT080620
HEP- 7125R- 08- 40 7 125 40 65 100 5.5 ° 322606 1400
HEP- 8160R- 08- 40 8 160 40 65 100 8.4 ° 322608 1800
HEP- 9200R- 08- 60 9 200 60 65 140 10.2 o 322610 2570

Hm OD

OD otagonal utter

NN '
HnT fai I
g

Roughing Focketmiling

15°

R19- R20 Using he 51 edree nale ldde
P01 High edd ow utting esistance

The ctagonal nite allets, het cenomy s iogd

order | Price

: . . Stock Number (RMB)

Cat. No Diameter Inside diameter Long Blade number Insert
OD- 63- 22- 4T 63 22 50 4 ° 322700 300
OD- 80- 27- 5T 80 27 50 5 o 322702 550
ODMT060508
OD- 100- 32- 6T 100 32 63 6 o 322704 750
OD- 125- 40- 8T 125 40 63 8 o 322706 950
B KSHR 2
KSHR 2 ngle utter it
7 AT i1 R LN
12
d
Each ldde 21utting dges
R19- R20 _Irnr:ernatlr oaling tandard
PO1 e utting aey
Stock order | Price
Blade . 5 Face . Number | (RMB

Cat. No number | Diameter | Inner hole Height e Weight Insert ( )
KSHR63A06RS45HN09 6 74 22 40 63 0.56 ] 322800 730
KSHR80A06RS45HN09 6 91 27 50 80 1.11 ° 322802 900
KSHR100B08RS45HN09 8 111 32 50 100 1.68 [ 322804 1400
KSHR125B10RS45HN09 10 135.9 40 63 125 2.77 HNPJO905AN ° 322806 1750
KSHR160C10RS45HNO9 10 171 40 63 160 4.56 ] 322808 2350
KSHR160C12RS45HN09 12 171 40 63 160 4.7 ° 322810 2600
KSHR200C16RS45HNO9 16 211 60 63 200 6.43 ° 322812 3200
KSHR250C20RS45HN09 20 261 60 63 250 9.93 (] 322814 4150




Milling

rAor nd aEe

iMing  uGtre

D47

B ASX445

b n 1

LRI

ALY, |
ASX445 utter _ wne | | ame
. o — -
D1 D D3 D2
Before he id ngle ldde, utting odd
L A and llay utter ag nike utting ebter igidity
Blade D1 D D2 D3 L Stock Order Price
Largest Cutting End face Inside Number | (RMB
Cat. No number | giameter size diameter diameter Long Insert ( )
ASX445R/L50- 22- 3T ° 331200 350
ASX445R/L50- 22- 4T 4 63 50 a7 22 50 . 331202 350
ASX445R/L50- 22- 5T 5 ° 331204 400
ASX445R/L63- 22- 4T 4 . 331206 350
ASX445R/L63- 22- 5T 5 76 63 47 22 50 L4 331208 350
ASX445R/L63- 22- 6T 6 ° 331210 400
ASX445R/L80- 27- 4T 4 . 331212 480
ASX445R/L80- 27- 5T 5 93 80 58 27 50 . 331214 480
ASX445R/L80- 27- 6T 6 ° 331216 600
ASX445R/L80- 27- 8T 8 ° 331218 700
ASX445R/L100- 32- 5T 5 ° 331220 750
ASX445R/L100- 32- 6T 6 113 100 76 32 50 [ 331222 750
SEMT13T3
ASX445R/L100- 32- 7T 7 . 331224 800
ASX445R/L100- 32- 10T 10 ° 331226 900
ASX445R/L125- 40- 6T 6 ° 331228 900
ASX445R/L125- 40- 7T 7 138 125 87 40 63 ° 331230 900
ASX445R/L125- 40- 8T 8 ° 331232 | 1000
ASX445R/L125- 40- 12T 12 ° 331234 | 1200
ASX445R/L160- 40- 7T 7 . 331236 | 1500
ASX445R/L160- 40- 10T 10 173 160 100 40 63 ° 331238 1500
ASX445R/L160- 40- 16T 16 . 331240 | 2000
ASX445R/L200- 40- 8T 8 212.9 200 175 40 63 . 331242 | 2200
ASX445R/L200- 40- 12T 12 ° 331244 | 2600
ASX445R/L250- 60- 10T 10 262.9 250 220 60 63 ° 331246 | 2800
ASX445R/L250- 60- 14T 14 ° 331248 | 3200
* Shim SSS445N; Screw MDS5035; Wrench R35; Screw Ms3512B; Wrench 15
- Recommend utting o@ditions
Cat. oN Hardness| Balde No. m/min
mm/tooth mm/tooth mm/tooth
Q4696 280(210- 350) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) IM 0.3(0.2- 0.4) JH
ZK730Q 250(200- 300) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) IM 0.3(0.2- 0.4) JH
SS400 20C SHBLS0 | 7K96MO 230(180- 280) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) M 0.3(0.2- 0.4) JH
HW8383 180(130- 230) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) A . .
Q4696 250(200- 300) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) IM 0.3(0.2- 0.4) JH
ZK730Q 220(170- 270) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) IM 0.3(0.2- 0.4) JH
HB180-280 | 7K 96MO 200(150- 250) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) M 0.3(0.2- 0.4) JH
HW8383 150(120- 180) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) hY . 5
S45C  SCM440 Q4696 180(130- 230) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) IM 0.3(0.2- 0.4) JH
ZK730Q 140(100- 180) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) IM 0.3(0.2- 0.4) JH
#B280-350 | 7K 96MO 120(80- 160) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) MY 0.3(0.2- 0.4) JH
HW8383 100(80- 120) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) IM . .
ZK730Q 220(170- 270) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) IM 0.3(0.2- 0.4) JH
SUS304 =HB270 | ZK96MO 200(150- 250) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) AY 0.3(0.2- 0.4) JH
HW8383 150(120- 180) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) MY . 5
GD3656 200(150- 250) = = 0.2(0.1- 0.3) IM 0.3(0.2- 0.4) JHIFT
FCD250 FCDA00 =450MPa | ZK730Q 180(130- 250) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) IM 0.3(0.2- 0.4) JH
' ~ woupa | GD3656 110(80- 150) = = 0.2(0.1- 0.3) M 0.3(0.2- 0.4) JHIFT
- JOR76 300- 0.15(0.1- 0.2) JP 0.2(0.1-0.3) JP 0.3(0.2-0.4) JP
G ) ) ZK730Q 40(20- 50) 0.15(0.1- 0.2) JL 0.2(0.1- 0.3) IM 0.3(0.2- 0.4) =
HRC40-55 | ZK7300Q 80(60- 100) 0.1(0.05- 0.15) JL 0.15(0.1- 0.2) M 0.2(0.1- 0.3) JH
[} mint = DOOx +  3.14x ° mm/min = X X



45

Roughing Flane fmishing Shoulder miling Copy miling

B R245 B — =
R245 UCter K J:;rj\j T A1)

Before he id ngle ldde, utting odd

L A and llay uter agy, nife utting ebter igidity
ase | L | (P02, | 02| L stock | et | s
Cat. No number dian?eter sizeg diameter diameter Long Insert ( )

R245R63- 22- 5T 5 76 63 47 22 50 L] 331300 350
R245R80- 27- 5T 5 93 80 58 27 50 ° 331302 480
R245R100- 32- 6T 6 113 100 76 32 50 ° 331304 750
R245R125- 40- 7T 7 138 125 87 40 63 R245-12T3 . 331306 900
R245R160- 40- 10T 10 173 160 100 40 63 o 331308 1500
R245R200- 40- 12T 12 212.9 200 175 40 63 o 331310 2200
R245R250- 40- 14T 14 262.9 250 220 60 63 [ 331312 2800

- Insert

P
M
c |3 ° c: %
¢
<
<
g o]0 g 9 Size mm
Cat. oN Use E g % g /\a (HP Insert h@e D1 S1 F1 Re Order uhber
SEET13T3AGEN-JL | - ° ° o @ X 13.4 | 397 | 1.9 1.5 331400
SEMT13T3AGSN-JM | - o | o |0 |0 |0 e 13.4 | 3.97 | 1.9 1.5 331402
SEMT13T3AGSN-JH | - ® (o0 | o } E ’E’ 13.4 | 3.97 1.9 1.5 331404
SEMT13T3AGSN-FT | - ° ﬁ“” )ﬂf"" 13.4 | 3.97 | 1.9 15 331406
SEGT13T3AGFN- JP ° o1 s1 13.4 | 3.97 | 22 - 331408
. KM - 45 (e} @ ® od -
MZG ORLOY o
MZG BAK IRIG ©., TD — hd
I
I T Fit ted, asings luminum igces f arious
! materials latle, hetelevance f o &le ange f o
C ity hi [ , oagl hip isdosal
M m Q R19- R20 S— Gy e e b oo 0 150
HUNT: BT i BT PO1 ®D1 Large ake ngle, uting mall 9ad
Size Insert Screw Wrench
Stock
Cat. No D D1 d H w T Eﬂ @ & /A
KM12R50- 22- 4T 50 64 22 50 10.4 6.3 [ 331500, 207 240
KM12R63- 22- 4T 63 77 22 50 10.4 6.3 L] 331502 250 280
KM12R80- 27- 5T 80 94 27 50 12.4 7 [} 331504 333 400
KM12R100- 32- 5T 100 114 32 50 14.4 8 o 331506| 533 600
KM12R125- 40- 6T 125 139 40 63 16.4 9 o 331508 833 750
KM12R160- 40- 6T 160 174 40 63 16.4 9 o 331510 933 1150
KM12R200- 60- 8T 200 210 60 63 25.7 14 SEHT 1204 M5x 11 T20 ° 331512 2000 | 1600
KM 12R250- 60- 10T 250 260 60 63 25.7 14 o 331514 2667 | 2100
KM12R300- 60- 12T 300 310 60 65 25.7 14 ° 331516| 3333 -
KM12R50- 25.4- 4T 50 64 25.4 50 10 6 o 331518 207 -
KM12R63- 25.4- 4T 63 77 25.4 50 10 6 ° 331520 250 280
KM12R80- 25.4- 5T 80 94 25.4 50 10 6 L4 331522 333 400
KM12R100- 31.75- 5T 100 114 31.75 50 13 8 Ld 331524 533 600
Insert
dE[E[s] TE[T]2] [ w Size m | m
Cat. oN ,a I\% ;‘-\ 3\ I\'g\ /\K/\!\ 3 3 Ig\ /3'\ § g E Insert hape o1 | s1 Order uhber
SEHT1204AFN o oo ) ° 12.7(4.76 331600
1204AFN- K88 ° ,,3. H 12.7|4.76 331602
SEHW1204AFN e oo o oo 0|0 )Xzo" 12.7(4.76 331604
SEHT1204AFFN eoo0 ‘ o1 J sl 12.7(4.76 331606




Milling rBor nd a€e iMing uGtre

W SD45 ° 'MITSUBISHI

A MITSUBISHI AWERIALS

NN :<
HUn T £ Gl L S T

Shouder miling "Copy milling

L3 15°

L d

Usng he lale ngle s 51 °
High- rigidity llay nike agp

Size
Cat. No D q H T Insert Stock -
SD445R/ L03- 25.4 80 25.4 55 5 ® 1331700/ 960
SD445R/ L04- 31.75 100 31.75 55 5 e 331702 1100
SD445R/ L05- 38.1 125 38.1 60 6 ® [331704| 1500
SD445R/ L06- 50.8 160 50.8 60 8 Y |l v.. | SDKN1203 ® |331706| 2200
SD445R/L08- 47.625 200 47.625 65 10 [e—ry -t e 1331708| 2800
SD445R/L10- 47.625 250 47.625 65 12 ’ ® |331710| 4800
SD445R/L12- 47.625 300 47.625 65 14 ® [331712| 7000
SD545R/L03- 25.4 80 25.4 55 5 ® 331714 960
SD545R/ L04- 31.75 100 31.75 55 5 e |331716| 1100
SD545R/ L05- 38.1 125 38.1 60 6 ® |331718| 1500
SD545R/ L06- 50.8 160 50.8 60 8 Yo [ | SDKN1504 ® [331720| 2200
SD545R/ L08- 47.625 200 47.625 65 10 o = ® |331722| 2800
SD545R/ L10- 47.625 250 47.625 65 12 ) ® |331724| 4800
SD545R/ L12- 47.625 300 47.625 65 14 ® [331726| 7000
N d
W SE45 " MiTSuBisHI — - w

AMITSUBISHI  AWERIALS

Using he labe ngle s i0 2 °

Large rofit- edge- shaped
AN <] ‘ 5 4 High- rigidity llay nite ap
HUNT R £l It
Size
Cat. No D d H T Insert Stock
SE545R/L03- 25.4 80 25.4 50 5 . 331800 960
SE545R/L04- 31.75 100 31.75 50 6 . 331802| 1100
SE545R/L05- 38.1 125 38.1 50 7 . 331804| 1500
SE545R/L06- 50.8 160 50.8 55 8 Xsﬂ B SEKN1504 L] 331806| 2200
SE545R/L08- 47.625 200 47.625 55 10 \-155—17 ﬁ? . 331808| 2800
SE545R/L10- 47.625 250 47.625 55 12 . 331810| 4800
SE545R/L12- 47.625 300 47.625 55 14 [d 331812 7000
SE445R/L63- 22 63 22 50 4 . 331814| 850
SE445R/L63- 25.4 63 25.4 50 4 . 331816| 850
SE445R/L03- 25.4 80 25.4 50 5 L] 331818| 960
SE445R/L04- 31.75 100 31.75 50 6 . 331820| 1100
SE445R/L05- 38.1 125 38.1 50 7 st X0 SEKN1203 (] 331822| 1500
SE445R/L06- 50.8 160 50.8 55 8 Lm—lT iadzgf . 331824| 2200
SE445R/L08- 47.625 200 47.625 55 10 L] 331826| 2800
SE445R/L10- 47.625 250 47.625 55 12 . 331828| 4800
SE445R/L12- 47.625 300 47.625 55 14 [ 331830| 7000
o v ' '
W SP65° MITSUBISHI
AMITSUBISHI  AWERIALS
T o 11°
-
hAAA Using he lade ngle s i1 1 °
HINL KL L PG High- rigidity llay nike agp
Size
Cat. No D q H T Insert Stock
SP435R/L03- 25.4 80 25.4 55 5 . 331900
SP435R/L04- 31.75 100 31.75 55 5 L] 331902| 1100
SP435R/L05- 38.1 125 38.1 60 6 . 331904| 1500
SP435R/L06- 50.8 160 50.8 60 8 st B SPKN1203 L] 331906| 2200
SP435R/L08- 47.625 200 47.625 65 10 Lm—lT iadzgf . 331908| 2800
SP435R/L10- 47.625 250 47.625 65 12 L] 331910| 4800
SP435R/L12- 47.625 300 47.625 65 14 L4 331912] 7000
SP535R/L03- 25.4 80 25.4 55 5 L] 331914| 960
SP535R/L04- 31.75 100 31.75 55 5 . 331916| 1100
SP535R/L05- 38.1 125 38.1 60 6 . 331918| 1500
SP535R/L06- 50.8 160 50.8 60 8 Xsﬂ B SPKN1504 . 331920| 2200
SP535R/L08- 47.625 200 47.625 65 10 o ﬁ?‘ . 331922| 2800
SP535R/L10- 47.625 250 47.625 65 12 ' . 331924| 4800
SP535R/L12- 47.625 300 47.625 65 14 [ 331926| 7000

D49



W FP75°  MITSUBISHI

AMITSUBISHI  AMERIALS

e 11°
C— Z -
— T U_smg .hc.i .Iaﬂe ngle sill °
Rougning Flane finshing Shoulder milling Copy milling High-rigidity llay nke ag.
Size
Cat. No D d H T Insert Stock
FPR/L03- 25.4 80 25.4 55 5 L]
FPR/L04- 31.75 100 31.75 55 6 .
FPR/L05- 38.1 125 38.1 60 8 .
FPR/L06- 50.8 160 50.8 60 10 Y L. | SPKN1203 o
FPR/L08- 47.625 200 47.625 65 12 o b=t .
FPR/L10- 47.625 250 47.625 65 16 ' o
FPR/L12- 47.625 300 47.625 65 20 .
- Insert
p
M
I c |3 ° 8| € ° < ®
<
<
<
g 0 g g ‘é 9 Size mm
Cat. oN Use E g % g ’m ’\A\ § 3 Insert haspe D1 s1 F1 Re Order uhber
SDKN1203AEN ° ° ° ° X5 12.7 | 3.18 | 1.2 - 332200
SDKN1203AETN ° %5 . D> 12.7 | 3.18 | 1.7 s 332202
SDKN1504AETN ° D R 15.875| 4.76 | 1.7 - 332204
SEEN1203AFTN1 | o wn 127 | 318 | 1.4 1.0 332206
SEKN1203AFTN1 ° 4 12.7 | 3.18 | 1.4 - 332208
SEER1203AFEN- JS e oo R:Dy ) D} 12.7 | 318 | 1.4 1.0 332210
SEEN1504AFTN1 o | o %5 | 15.875| 4.76 1.4 1.0 332212
SEKN1504AFTN1 ° T 51 15.875| 4.76 | 1.4 - 332214
SEER1504AFEN- JS oo | o 15.875| 4.76 | 1.4 1.0 332216
SPKN1203EDR R ° ° | o SR 127 | 318 | 1.4 - 332218
S
SPER1203EEER- JS ° RED D 12.7 | 3.18 | 1.4 - 332220
SPMN120304 ° o | o |\ Yo .| 127 | 318 - 0.4 332222
SPMN120308 [y Tt 12.7 | 3.18 - 0.8 332224
SPMN120412 ° ° o | o st 12.7 | 3.18 - 1.2 332226
Recommend u€ting o@ditions
Cat. oN Hardness| Balde No. m/min mm/tooth
Q4696 200(160- 250)
e <HB180 | ZK730Q 180(100- 250) 0.2(0.1-0.3)
HW8383 140(80- 200)
P Q4696 200(160- 250)
HB180- 280 ZK730Q 180(100- 250) 0.2(0.1-0.3)
S45C SCM440 HW8383 140(80- 200)
. HB280- 350 ZK730:! 120(80- 160 0.15(0.1- 0.2
4 min* = D00 + 3.14x M SUS304 <8270 zmog 150((100- zoo)) 0.2(3.1-0.3))
. 5 GD3656 175(100- 250)
L4 mm/min = X X I FCD250,FCD400 | <4sompa | ZK730Q 160(100- 220) 0.2(0.1-0:9)
JOR76 650(300- 1000) 0.12(0.05- 0.2)

B RAP-75 “MITSUBISHI

AMITSUBISHI  AMERIALS

e  APMT1604
Abandoned he sa foPMT1604 l|dde, ost awngs
Size Insert Screw Wrench
Stock
Cat. No D d H w T a E
RAP300R50- 22- 4T 50 22 50 10.4 6.3 6.5 e 332300
RAP300R63- 22- 4T 63 22 50 12.4 7 6.5 e 332302 267 -
RAP300R50- 25.4- 4T 50 25.4 50 10.4 6.3 6.5 e 332304 233 -
RAP300R63- 25.4- 4T 63 25.4 50 12.4 7 6.5 e 332306| 267 -
RAP400R63- 22- 4T 63 22 50 14.4 8 8 e 332308 267 225
RAP400R63- 25.4- 4T 63 25.4 50 14.4 8 8 APMT 1604 PDER | M4x 10 T15 e 332310] 267 -
RAP400R80- 27- 5T 80 27 50 14.4 8 8 e 332312 367 350
RAP400R100- 32- 6T 100 32 50 14.4 9 8 e 332314 500 540
RAP400R125- 40- 7T 125 40 63 16.4 9 8 e 332316 933 665
RAP400R160- 40- 8T 160 40 63 16.4 9 8 e 332318 1067 | 1100
RAP400R200- 60- 9T 200 60 63 25.7 14 8 e 332320 - 1600
RAP400R250- 60- 10T 250 60 63 25.7 14 8 e 332322 - 2100




SEC- 20 Gmm 3mm
A

DGC(M/F)13000R(S)

SEC-Sumi Dual Mill DGC(M/F) 13000R(S) Type

M
O0l0 |0

Figl Fig2 Fig3 Fig4 Fig5 Fig6

I
(mm)
o Dc @ D1 | Db Lf od a b 2 |odl (kg) | 19 N?J'rﬂbe;r Price
DGC 13040RS - 40 42.9 54 36 40(38.44) 16 8.4 5.6 18 13.5 3 0.3 1 |[337100 000
13050RS - 50 52.9 64 40 40(38.44) 22 10.4 | 6.3 20 18 3 0.4 1 |337102 0.5
13063RS - 63 65.9 77 50 40(38.44) 22 10.4 | 6.3 20 18 4 0.5 1 |337104 1.2
13080RS - 80 82.9 94 60 50(48.44) 27 12.4 7 25 20 4 1.2 1 |337106 1.6
13100RS - 100 102.9 114 70 50(48.44) 32 14.4 | 8.5 32 46 5 1.6 3 337108 2.8
13125RS - 125 127.9 139 80 63(61.44) 40 16.4 | 9.5 29 52 6 2.8 1 |337110 4.5
13160RS - 160 162.9 174 130 63(61.44) 40 16.4 | 9.5 29 88 7 4.5 5 |337112 7.1
13200RS - 200 202.9 | 214 150 63(61.44) 60 25.7 14 35 130 8 7.1 6 |337114| 11.2
13250RS - 250 252.9 | 264 190 63(61.44) 60 25.7 14 35 160 10 11.2 6 | 337116 1.2
DGC 13080R - 80 82.9 94 60 50(48.44) 25.4 9.5 6 25 20 4 1.2 1 | 337118 2.2
13100R - 100 102.9 114 70 63(61.44) 31.75 | 12.7 8 32.5 28 5 2.2 2 337120 2.8
13125R o 125 127.9 139 80 63(61.44) 38.1 | 15.9 10 35.5 55 6 2.8 1 | 337122 4.5
13160R o 160 162.9 174 100 63(61.44) 50.8 19 11 38 72 7 4.5 4 |337124 7.1
13200R - 200 202.9 | 214 150 63(61.44) |47.625| 25.4 14 35 130 8 7.1 6 |337126| 11.2
1325R o 250 252.9 264 190 63(61.44) |47.625| 25.4 14 35 150 10 11.2 6 | 337128
[ | ( ) ONMT
(mm) .
¢ Dc ¢ D1 | ¢ Db Lf od a b 2 |o@dl (kg) | 719 N(arr:s;, Price
DGCM13050RS . 50(52.9 64 40 40(38.44) 22 10.4 | 6.3 20 18 4 0.3 1 |[337200 000
13063RS - 63(65.9) 77 50 40(38.44) 22 10.4 | 6.3 20 18 5 0.5 1 |337202 0.5
13080RS - 80(82.9) 94 60 50(48.44) 27 12.4 7 25 20 6 1.1 1 |337204 1.2
13100RS - 100(102.9) | 114 70 50(48.44) 32 14.4 | 8.5 32 46 7 1.5 3 | 337206 1.6
13125RS - 125(127.9) | 139 80 63(61.44) 40 16.4 | 9.5 29 52 8 2.8 1 |337208 2.8
13160RS - 160(162.9) | 174 130 63(61.44) 40 16.4 | 9.5 29 88 10 4.6 5 ]337210 4.5
13200RS - 200(202.9) | 214 150 63(61.44) 60 25.7 14 35 130 12 7 6 |337212 7.1
13250RS - 250(252.9) | 264 190 63(61.44) 60 25.7 14 35 160 14 11.1 6 |337214| 11.2
DGCM13080R - 80(82.9) 94 60 50(48.44) 254 9.5 6 25 20 6 1.1 1 |337216 1.2
13100R - 100(102.9) | 114 70 63(61.44) 31.75 | 12.7 8 32.5 28 7 2.2 2 337218 2.2
13125R - 125(127.9) | 139 80 63(61.44) 38.1 | 15.9 10 35.5 55 8 2.8 1 | 337220 2.8
13160R - 160(162.9) | 174 100 63(61.44) 50.8 19 11 38 72 10 4.6 4 | 337222 4.5
13200R - 200(202.9) | 214 150 63(61.44) |47.625| 25.4 14 35 130 12 7 6 |337224 7.1
13250R o 250(252.9) | 264 190 63(61.44) |47.625| 25.4 14 35 150 14 11.1 6 | 337226 11.2
[ | ( ) ONMT
(mm) .
@ Dc @ D1 |@Db Lf od a b 2 @dl (kg) Fig N?J::s;, Price
DGCF13050RS . 50(52.9) 64 40 40(38.44) 22 10.4 | 6.3 20 18 5 0.3 1 |337300 000
13063RS - 63(65.9) 77 50 40(38.44) 22 10.4 | 6.3 20 18 6 0.5 1 |[337302 0.5
13080RS - 80(82.9) 94 60 50(48.44) 27 12.4 7 25 20 8 1.1 1 |337304 1.2
13100RS - 100(102.9) | 114 70 50(48.44) 32 14.4 | 8.5 32 46 10 1.4 3 337306 1.6
13125RS - 125(127.9) | 139 80 63(61.44) 40 16.4 | 9.5 29 52 12 2.7 1 |337308 2.8
13160RS - 160(162.9) | 174 130 63(61.44) 40 16.4 | 9.5 29 88 14 4.4 5 |337310 4.5
13200RS - 200(202.9) | 214 150 63(61.44) 60 25.7 14 35 130 16 6.9 6 |337312 7.1
13250RS - 250(252.9) | 264 190 63(61.44) 60 25.7 14 35 160 18 11 6 |337314| 11.2
DGCF13080R - 80(82.9) 94 60 50(48.44) 25.4 9.5 6 25 20 8 1.1 1 | 337316 1.2
13100R - 100(102.9) | 114 70 63(61.44) 31.75 | 12.7 8 32.5 28 10 2.1 2 |337318 2.2
13125R - 125(127.9) | 139 80 63(61.44) 38.1 | 15.9 10 35.5 55 12 2.7 1 |337320 2.8
13160R o 160(162.9) 174 100 63(61.44) 50.8 19 11 38 72 14 4.4 4 |337322 4.5
13200R - 200(202.9) | 214 150 63(61.44) |47.625| 25.4 14 35 130 16 6.9 6 | 337324 7.1
13250R - 250(252.9) | 264 190 63(61.44) |47.625| 25.4 14 35 150 18 11 6 |337326| 11.2
¢ 160mm ONMT
@80 @ 100mm JISB1176 @ 80 M12x30 35mm @ 100 M16x40~45mm)
/ u DGC M 13050 R S

M:
F:



DGC

DGC13000EW v el e

Ool0]0

(SNMT ) (ONMT )
SEC-Sumi Dual Mill DGC 13000EW Type
: e B-g%
| 14
ONMT SR N £ i
L ( ) : L 1
(mm)
Order .
¢ Dc ¢ D1 |@Ds Lf Ps L (k9) | Number | Price
DGC13040EW - 40(42.9) 54 32 40(38.44) 85 125 3 0.7 337400
13050EW . 50(52.9) 64 32 40(38.44) 85 125 3 0.9 ]337402
13063EW - 63(65.9) 77 32 40(38.44) 85 125 4 1.1 | 337404
| DGC 13 040 EW
n @ ™
[P)
| ™ [P) L
P | P
SI5EEE @
glg|el2|2| |&]| |Fe e
z2NE)EE)E 2 SA
SNMT 13T6ANER-L oo oo | — 1
13T6ANER-G ® | ® o o | e S 1 Fig 3 m Figy 4 ——
13T6ANER-H | oo e - 1 5 > ;
13T6ANER-FL oo | — | — 2 i g A
13T6ANER-FB ||| — |- — 2 g i
XNEU 13T6ANEN-W —|le|—|—|= — 3 B | 1
ONMT O05T6ANER-L °e|l®|®|=°|- — 4 . m3 | 56 | L35 &0 _—
05T6ANER-G i Bl Rl — 4

% EE T AMRTIREERAE

MeakEs
- :
1 o 11K A
s -L .‘j_',| E Ll H= b 1 il i
| AR iR AT | s mes i RILEM | [k masy o
7
._ Ve ¢
/“' 4
#
LHDua BFTX04121P TRDR15IP SUMI-P BFTXD418IP
@ 80mm DGC /DGCM
1S0 Ve(m/min) Fz(mmi/t) 1SO Ve(m/min) Fz(mml/t)
- - - - (mm) - - - - (mm)
@) 150-200-250 0.10-0.25-0.40 4 | ACP200 O 150-200-250 0.10-0.30-0.50 o | ACP200
ACP300 ACP300
ACP200 ACP200
(@) 180-250-350 0.10-0.30-0.45 4 ACP300 © 180-250-350 0.10-0.50-0.50 2 ACP300
ACP200 ACP200
@) 100-150-200 0.15-0.25-0.35 4| AcP300 (@) 100-150-200 0.15-0.25-0.30 2 | AcP300
O 160-200-250 0.15-0.23-0.30 3 | ACP300 O 160-200-250 0.15-0.23-0.30 2 | ACP300
ACK2 ACK2
O 100-200-250 0.10-0.25-0.40 5 cK200 O 100-200-250 0.10-0.30-0.50 2 CK200
ACK300 ACK300




SEC -

DNX(F) /DNH DNHS®

SEC-DNX(F)/DNH,DN

HS Type

8mm

EHEREEmMI "

8mm

5mm

25°

66°

DNX 12000R(S)

©80 @250mm

DNXF 12000R(S)

©80 ¢ 160mm

DNHS 12000R

980 ¢ 160mm

DNHS 12000R

|
DNX/DNXF
1SO Ve(m/min) Fz(mm/t)
ACK200
250HB 150-225-300 0.10-0.20-0.30 ACK300
ACK200
250HB 150-200-250 0.10-0.18-0.25
ACK300
180 280HB 150-175-200 0.10-0.15-0.20 ACP200
180 280HB 150-175-200 0.10-0.15-0.20 ACP200

n ( ) 20 so% n
4500
( )
4000 F—— 15 ;Z?-?\mm
ap=smm
3500 o FC250
100mm
(mm) (N) 3000
3mm
66° 2500
®80 @ 160mm 0 i
1000 2000 3000 4000 DNX
vf(mm/min)
/DNHS
150 Ve(m/min) Fz(mm/t)

ACK200
250HB 150-225-300 0.10-0.55-1.00 ACK300
250HB 150-200-250 0.10-0.55-1.00 ACK200

ACK300

180 280HB 150-175-200 0.10-0.45-0.80 ACP200
180 280HB 150-175-200 0.10-0.35-0.60 ACP200
- DNHS 2
fz=0.5mm/t( 1.0mm/t)



DN X

DNX(F)12000 N o o

Fls all; 3 Fig o) = Fia 5 o alfl
i1 :"':-;' ) i 2 D: - gl ;‘:r:l ) Figd ,J._,,IL’ "
ey i
SEC-DNX(F)12000 Type e s . ;f'.m T
o B
ek -
- i "
. e P-..Lu.c._ PCOONE |
aLh, [=T5 ] ad; -
[ | (DNX 12000R) 25° |—|k il ) i} )
(mm) .
Fig Order .
@Dc |@D1 | @Db | @dl | Lf od a b 2 (kg) Number | Price
DNX 12080R - 80 88 80 13 50 25.4 9.5 6 25 6 6 1.2 1 337500
12100R - 100 108 70 46 50 31.75 12.7 8 32 7 7 1.6 2 337502
12125R - 125 133 80 56 63 38.1 15.9 10 38 8 8 2.8 2 337504
12160R - 160 168 100 72 63 50.8 19.0 11 38 10 10 4.4 2 337506
12200R - 200 210 150 130 63 47.625 25.4 14 35 16 16 8.0 4 337508
12250R - 250 260 180 160 63 47.625 25.4 14 35 20 20 12.2 4 337510
DNX 12080RS - 80 88 60 13.5 50 27 12.4 7 25 6 6 1.2 1 337512
12100RS - 100 108 80 46 50 32 14.4 8.5 29 7 7 1.6 2 337514
12125RS - 125 133 80 56 63 40 16.4 9.5 29 8 8 2.8 2 337516
12160RS - 160 168 100 88 63 40 16.4 9.5 29 10 10 4.4 3 337518
12200RS - 200 210 150 130 63 60 25.7 14 35 16 16 8.0 4 337520
12250RS - 250 260 180 160 63 60 25.7 14 35 20 20 12.2 4 337522
[ | (DNX 12000R) 25° [ ]
DNXF12080R - 80 88 60 13 50 25.4 9.5 6 25 8 8 1.2 1 337524
12100R - 100 108 70 46 50 31.75 12.7 8 32 10 10 1.6 2 337526
12125R - 125 133 80 56 63 38.1 15.9 10 38 11 11 2.7 2 337528
12160R - 160 168 100 72 63 50.8 19.0 11 38 12 12 4.4 2 337530
DNXF12080RS - 80 88 60 13.5 50 27 12.4 7 25 8 8 1.2 1 337532
12100RS - 100 108 80 46 50 32 14.4 8.5 29 10 10 1.6 2 337534
12125RS - 125 133 80 56 63 40 16.4 9.5 29 11 11 2.7 2 337536
12160RS - 160 168 100 88 63 40 16.4 9.5 29 12 12 4.4 3 337538
@ 200mm
80mm JISB1176)M12x30 35mm.
SEC - @ ( )
-6°
3mm/o
-5° 66
Figt Fg 2 = T
SEC-DNH(S)12000 Type iy ) -2 :
)
-
[ | (DNH 12000R) 66°
Fig | Order g
oDc |@D1 | @Db | @di Lf ¢d a b 2 (kg) Number | Price
DNH12080R - 80 104 60 13 50 25.4 9.5 6 25 6 6 1.5 1 337600
12100R - 100 124 70 46 50 31.75 12.7 8 32 7 7 1.9 2 337602
12125R - 125 149 80 56 63 38.1 15.9 10 38 8 8 3.2 2 337604
12160R - 160 184 100 72 63 50.8 19.0 11 38 10 10 5.1 2 337606
[ | (DNH 12000R) 66° L
DNH12080R - 80 116 60 13 50 25.4 9.5 6 25 6 3 1.7 3 337608
12100R - 100 136 70 46 50 31.75 12.7 8 32 8 4 2.3 4 337610
12125R - 125 161 80 56 63 38.1 15.9 10 38 10 5 3.2 4 337612
12160R - 160 196 100 72 63 50.8 19.0 11 38 11 6 6.2 4 337614
| @ 80mm JISB1176)M12x30 35mm M
[ |
(] DGC F 12080 R S Fusar Fig8 FuE'm
(K] v | M i
M M I""" o
o o o | o o -
S EIZIF |8 ko
x x X o o & i
(&) o o (s} (&} Flg et
=S S S e
B 3 [miGEm] EI] [T
SNMT1205ZNEN-L & ele|- 5 LRI e suwan -
1205ZNEN-G e|e|e |- \Y 6
1205ZNEN-H - - - - 7 '*___--"l —f"'—| ’_‘__.-"—l /—I
SNMT1205ZNEN-SH e e|e|e]|e s
XNGT 1205ZNEN-W & el 9




